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Fihik 2101 2sxxx5x5%x00220 23T 1E 60 2 62 5
A% 4201 1 xxxxxxxx01829 2T 60 2 62 5
FEHFER | 21010%xxx0:xx5331X 2HIE 62 0 62 &
£l 2101 1##xxxx%x95116 2FT1E 62 0 62 &
LA 210125 xxx5x5%%92222 2L 62 0 62 &
BIUKIE | 21018xxxxxxxx78029 2HTEE 62 0 62 5
MEEL | 21030%xxxx#xx32020 231k 62 0 62 5
TUER | 21132%xxxxxxx11337 2HiE 62 0 62 )
ERXM | 21010%+#xxxxx84135 23T 1E 59 2 61 5




BTBE | 21010%xxxxxx41828 231 59 2 61 &
E—FE | 21010%xxxxxxx84434 2FTtE 59 2 61 &
AP | 21010%x#xxxxx23027 23 1E 59 2 61 =
HITE | 2101 1smm00xx1152X 2FiE 59 2 61 )
UEZE | 21092%kxxxxrx5214X 23 1E 59 2 61 =&
HINFE | 21102%%%00+xx66905 2HTIE 59 2 61 =
FhE 2204 2#xxxxxxx10023 23 1E 59 2 61 =&
AR | 22060m0xxrexx11821 234 59 2 61 =
fh 22240#*xxxxxx94626 23 1E 59 2 61 =&
RE 2101 1#wrxxxxx62625 2FT1E 59 2 61 &
BZhHE | 13053%kkxxxxx58020 23 1E 61 0 61 =&
KE 2101 0%#xxxxx%x13321 2FT1E 61 0 61 &
MHEH | 21010%%##xxx74318 2F1E 61 0 61 &
EQL 2101 1xxxrxx#x30330 2T 61 0 61 =
BKEZHE | 21010%%xxxxx95324 231k 58 2 60 5
Fab= 2101 0%xxxxxxx9441X 2T 58 2 60 &
PN 21010#*xxxxxx54727 231k 58 2 60 =
ZRFE | 21010%#xxxxxx50029 234 58 2 60 =
BEE | 21010%xxxx+x64126 2HIE 58 2 60 5
X 4E 21010%xxxxxx%44629 2T 58 2 60 &
T2 21010#*xxxxxx16127 231k 58 2 60 5
FER | 21010%xxxxxxx24924 2T 58 2 60 &
HiE 2101 Lxxrrnrrx06224 231k 58 2 60 5
¥k 2101 1xxrrnrxx44226 2T 58 2 60 &
[EIERE | 21088#x#xxxxx43728 231 58 2 60 5
<} 211425xxxx5x%xx40016 2L 58 2 60 &
9258 22020 xxxxxx%x 24521 231k 58 2 60 i
BKILF] | 22242%xxxxxxx75221 2L 58 2 60 =
1| A 2101255562047 231k 59 1 60 i
HE 21010%xx#xxxx90923 23t 60 0 60 &
FBiE | 21010%xxxx#x03417 231k 60 0 60 i
BET | 21010%xxxxxxx45238 2L 60 0 60 &
Wi 21010 xxxx##x44029 23 1L 60 0 60 i
BIEIE | 21010%xxxxxx74023 23t 60 0 60 &
EI7 2101 Lrxwrrrrx 71149 2L 60 0 60 =
X1/ BH 2101 25xxxx5x#+x60013 23T 1E 60 0 60 s
ZEH | 21038xxxrrxxx10241 23 LE 60 0 60 =
FEEEE | 13112%w0000xx20147 23T 1E 57 2 59 s
FERETE | 21010%xxxxxxx64455 2T 57 2 59 5
H/R 21010#*xxxx*+65326 23T 1E 57 2 59 =
X EE 21010%##xx%%%15026 2T 57 2 59 5
FKATEE | 21010%#xxxxxx91022 23T 1E 57 2 59 =
Zh58 21010#######xx94411 2HIE 57 2 59 &
FHEE | 21010%xxxxxxx46625 2HIE 57 2 59 &
ZRIEE 21010%##x%%%x 70016 2T 57 2 59 5
INFEBE | 21010%xxxxxxx55826 2L 57 2 59 &
FHK, | 21011%xxxxxx81512 23 1L 57 2 59 i
YW | 21018xxxxxxxx64918 231k 57 2 59 s
RMHE | 21030%xrx0xxx60022 23 1L 57 2 59 i
XN | 21068xxkkrrxx7518X 2FTLE 57 2 59 &




P 21130 xxxxxxx00817 231 57 2 59 &
BR[| 23012%4xwxxx1216X 234 57 2 59 =
BRANFE | 21010%+xxxxex3414X 231 57 2 59 =

K= 21010%##wwr#x4362X 2HIE 59 0 59 &

Kok 21010#*xxxxxx43123 231 59 0 59 =
BBETE | 21010%xxxxxxx31625 2FiE 59 0 59 =

F#% 21010%+wxxxxx74968 231 59 0 59 =
BREBIE | 21010%xxxxxx00632 23t 59 0 59 =

EEHS 21010%#xxxxxx12111 231 59 0 59 =
FRE | 21010%xxx#*xx36124 234 59 0 59 &

Rk 21018#*xxxxxx50625 231 59 0 59 =

518 2104255 xx555%82120 2FiE 59 0 59 5
MEE | 21068xxxxxxxx82383 23 1E 59 0 59 =&
MR | 21122%xxxxxxx13200 2T 59 0 59 &

m= 21130 wxxxxx31611 231 59 0 59 =
XIEE | 21010%x#xxxxx34422 23T 1E 56 2 58 =
BEEE | 21010%xxxxxxx23723 231 56 2 58 =
ZZ)I | 21010%+xxxxxx8441X 234 56 2 58 =
SRERTE | 21010%%+#++x82821 2HIE 56 2 58 =
T84T | 21052%xxxxx#xx82026 23T 1E 56 2 58 5
BER | 21112%0xxxxx01922 231k 56 2 58 5
ZFPE | 21122%00x0x 74100 234 56 2 58 =
AXKEE | 21010%xxxxxxx12826 231 57 1 58 =
BKASE | 21010%xxxxxx11824 2T 58 0 58 &
BIBJI | 21010%xxsxxx76112 231 58 0 58 &

=E5 2101 0%xxx5x#%45227 2L 58 0 58 &
B7a5¥ | 21018%x#xxxxx98089 231 58 0 58 5

B2 21041 xxxxx##%x53525 2L 58 0 58 &
EIR | 21078xxxxxxxx50235 23 LE 58 0 58 =
HAIRIS | 23112%kkxxxxx61926 23t 58 0 58 =

oI 21010%*xxxxxx44427 231 55 2 57 =

KiE 2101 0%xxx##%34415 2L 55 2 57 &
AEEE | 21010%xxxx+x35028 23 LE 55 2 57 =
O48%E | 21010%##wxxxx14117 23T 1E 55 2 57 s
REFR | 21010%xxx++xx06616 23 LE 55 2 57 =
ZEEE [ 21010%xxexx60361 231 55 2 57 =
FME | 2101 1w00xxxx11522 2FT1E 55 2 57 5

ok 4 21050%k##xxxx51816 231 55 2 57 =
E R 21078#xxxxx%x01820 2FT1E 55 2 57 &

[t 2204255 xxxxxx12723 231 55 2 57 =

PR 21010#######x23921 2HTiE 56 1 57 5

Tl 21010#*xxxxxx45010 231 55 2 57 =
NXIZEPR | 21010%xxxxxxx50028 23 LE 57 0 57 =

ol B 21010%+wkxxxx61225 231 57 0 57 =
FEF | 2101 Lwexexnnx1302X 2FTtE 57 0 57 e

EE 2101 1xxxxxxx70016 231 57 0 57 =
G | 21042%kkkxxxx 71522 23 1E 57 0 57 =

Fiti it 2104255 xxxxx%x 71432 231 57 0 57 &

A1 23082 xwxxxxx03729 231 57 0 57 &
B | 21010%kkkxxxx24112 231 53 3 56 &




HER | 14103%0x00xxx20020 231 54 2 56 =
PR | 21010%0xxxxxx92825 23 LE 54 2 56 =
K 21010%+wxxxxx04727 231 54 2 56 =
EXF | 21028xxx0enxx1262X 23 1L 54 2 56 =
ZF/FF | 21040%xxx0x02722 231 54 2 56 =
BN | 21132%kkxxxxx32644 23 1L 54 2 56 =
FhE] 21031 #xxxxxxx11549 231 54 2 56 =
X & 21011 xwxxxxxx40021 2FiE 56 0 56 5
FE | 21010%0xxxxx74426 231 56 0 56 =
{UEET | 21010%+xxxxx80927 23 LE 56 0 56 =
FEIF] | 21010%%xxxxxx13327 23 1E 56 0 56 5
2R 2101 0%#xxxxxx15842 2FiE 56 0 56 5
pyles 21010#*xxxxxx16116 231 56 0 56 =
PR | 21010%000xxxx31843 2T 56 0 56 )
B | 21010%xxxxexx80911 231 56 0 56 =
FNEE | 21010%%0xxxxx9302X 2T 56 0 56 )
BEB | 2101200000xx1282X 234 56 0 56 =
BKIFTE | 21018xxxxx##x51525 23T 1E 56 0 56 5
BB BA 21018#xxxxxxx24020 231 56 0 56 =
&8 21078xxxxxx#xx40048 23T 1E 56 0 56 =
i 21010 +wkxxxx62222 231 53 2 55 =
B4 2101 0%xxxx##%25319 23T 1E 53 2 55 5
PGS 21010##xxxxxx11521 231 53 2 55 =
RS | 21010%xxxxx#x23729 23T 1E 53 2 55 5
MBS | 21010%xxxx+x04419 23 LE 53 2 55 =
AL | 21010%x#xxxxx53924 23T 1E 53 2 55 5
i 2101 1#xxxrrrx85421 231 53 2 55 &
BXERK | 2204250xxxxx85625 23T 1E 53 2 55 5
B | 21010%x000x#x41022 2HLE 55 0 55 5
WE 2101 0%*xxxxx% 72122 23t 55 0 55 =
B 21010######+x95821 2HiE 55 0 55 =
BERES | 21088xxxxxxxx10026 231 55 0 55 =
Z5T5% | 21090%###xxx%30513 231 55 0 55 5
ZFIEE | 21102%k00xxxx7002X 2L 55 0 55 s
FFM | 21120%0xxxxx41300 23 LE 55 0 55 =
ERSHE | 21010%xxxxxxx96649 23T 1E 52 2 54 5
&7 21010#*xxxxxx5372X 234 52 2 54 =
FBE | 21010%0xxxxxx84429 231 52 2 54 =
piouly | 21010%#+xxxx+05028 23 1E 52 2 54 =
SEEE | 21010%kxxxxx14120 231 52 2 54 =
EEg 2101 0%xxxxxxx62147 2FTtE 52 2 54 &
XELGF | 2101 1xxwxxxxx50025 231 52 2 54 =
&+ 21018x#wkxxxx18340 23 1E 52 2 54 =
EXE | 21042%00xxxxx72023 231 52 2 54 =
R 21122 xxxxxxx5524X 23 1L 52 2 54 &
=l 21142%xxxxxxxA5427 231 52 2 54 =
=15 21148xxxxxxxx50646 2FiE 52 2 54 5
PUE 21010%x#xxx%x83726 2FtE 52 2 54 5
OREFE | 21010###xxxxx72529 23 1E 52 2 54 =
SKZAEE | 61030%xxxxxxx80525 2L 52 2 54 &




I 21010#*xxxx*x50326 231 54 0 54 &
EFEME | 21010%+xxx+x85825 231 54 0 54 =

Fif 21010#*xxxxxx62434 231 54 0 54 =

% 2101 8#xxxxxxx48312 2FtE 54 0 54 &
FEXCE | 21102%###xxxx11526 23 1E 54 0 54 =&
SER | 21122%%%%%+xx20928 23 1E 54 0 54 =
WM | 21010%kxxxxnx2722X 231 51 2 53 =
BERBH | 21010%xmexxxxd 721X 231k 51 2 53 =
BRAREG | 21010%kksxxxx73727 231 51 2 53 &
Bi7E 2101 0%xxxxx%x15827 2FtE 51 2 53 &
FRIE | 21011xwxx0xxx61015 23 1E 51 2 53 =&
ZEHE | 21062%kekxxxx34219 23 1L 51 2 53 =
FMER, | 21120%00xxxxx02024 231 51 2 53 =

Py 21138 #kkrrrxx00021 2T 51 2 53 &
FNEHE | 21138rsmrrsxxd1421 231 51 2 53 &
RXAE | 21010%0xxxxxx52823 234 53 0 53 =

KB 21010#*xxxxxx31520 231 53 0 53 5
B | 21010%%xxsxxx65541 23T 1E 53 0 53 =
BET | 21012%0000x42426 2HIE 53 0 53 5
B | 21092%xxxx##xx05767 2T 53 0 53 &

KE 2111 2%xxxxrrx 42641 231 53 0 53 5
BXBRAE | 21010%xxxxxxx 75612 2T 50 2 52 &
BCE | 21010%##xxxxx85352 231 50 2 52 =

245 2101 0%xxxx##x94425 23T 1E 50 2 52 =
BXFEE | 21010%0#xxxxx84723 23 1L 50 2 52 &

T 2101 8##wwnrxx9492X 2L 50 2 52 5

O=x 21122%xxxx5%%13725 2L 50 2 52 =
B R | 21132%%x%xxxx33873 23T 1E 50 2 52 5
JEER | 21010%0xxxxx14324 231k 52 0 52 &
B | 21010%++xxx+x00018 23t 52 0 52 &
XATIA | 21010%+*xxxxx40911 231k 52 0 52 &

PUEVN 2101 2#*xxxxxx90329 23T 1E 52 0 52 =
BERER | 21100%k#xxxxx34912 23 1L 52 0 52 &

=R 2301 2xx5xxxxx00249 23t 52 0 52 =
WESE | 21010%xxxx#x43422 231 49 2 51 =
REK | 21010%x#xxxxx56012 23T 1E 49 2 51 =
EEEd 2101 0%xxxxx%x94924 23T tE 49 2 51 e
B | 21010%%##xxxx05019 231 49 2 51 =
< 2101 0%xxxxxx%x64249 2FT1E 51 0 51 e
BAEEEE | 21010%xx0ekxx61527 231 51 0 51 =
ZSERE | 21010%kxxxxxx94312 234 51 0 51 &
EFER | 21010%%#+xxxx82460 231 51 0 51 =
PEE 2101 1#xxxxxxx07125 2FT1E 51 0 51 e

Xl 2101 2#*xxxxxx50625 231 51 0 51 =
WEEHE | 21012%0xxxxx23826 23 1E 51 0 51 =
OWNEE | 21100%xxxxxx+83169 2FiE 51 0 51 &

S B 21010 xxxx#**44469 23 1E 48 2 50 =
TR | 21010%kxxxxx52819 231 48 2 50 &
H—18 | 21010%xxxxxxx53334 231 48 2 50 =

M3z 21148 #xxxxxxx00624 231 48 2 50 &




SHET | 61052%00xxxxx30963 231k 48 2 50 &
HH3d 2101 Lxxrrrrxx53025 2HTIE 50 0 50 5
2Rk 2101 1#xxxxxxx70029 23 1E 50 0 50 =

FIZREE | 21012%0xxxxx22411 23 1L 50 0 50 =

T | 21018xxxxxxxx07426 23 1E 50 0 50 s

BIHEAR | 22088rxxxrxx85520 23 LE 50 0 50 =
*=E 21032%xxxxx%x52846 2L 47 2 49 &
58 158 2101 0#*xxxxxx95343 23 1E 49 0 49 =

KT | 21010%xxxxx#x93324 23 1E 49 0 49 =&

FINEERR | 22050%#xxxxxx31849 2FiE 46 2 48 &
3l 4R 2101 Lxxxrnrrx16028 23 1E 48 0 48 =

BEWE | 21010%xxxxxx63721 231k 45 2 47 =
Bh= 2101 0%xxxxx%% 71823 2L 45 2 47 &

PREIAR | 21012%xxxxxxx0022X 2HT4E 47 0 47 &

FRT | 21010%xxxxxx25314 231k 44 2 46 =

SKHESE | 21090%xx###%x91024 23T 1E 44 2 46 =

TEINE | 15210%xxxx#x41814 231k 46 0 46 =

FRREE | 21010%00000xx54110 2T 46 0 46 &

AW | 21011x##+xxx03820 231k 43 2 45 =

TS | 21010%%##xxxx03618 23T 1E 45 0 45 =

fEREFE | 21010%%xxxxx92764 231k 41 2 43 =
Fk 21010#*xxxx*x90626 23T 1E 41 2 43 =

XUBABH | 21010%#xxx++x00919 2F 42 0 42 &
Bk 21010%#xxx%%x90310 2T 40 0 40 &
X/ B 2101 0%xxxxxxx83041 23 1E 40 0 40 5

FIE | 15232%000006x10028 2L 39 0 39 &

NTTIB | 21052%kkkxxx7078X 231k 38 0 38 i
i) 2101 0%xxx5##%35240 2L 37 0 37 &
21 13032#######x65410 231k 33 2 35 i

XEFE | 21012%0#xxxxx90620 23T 1E 33 2 35 =
T 21071 0%*xxxxxx7363X 231k 32 0 32 &

FE— | 21010%xx%x+#xx93323 23T 1E 30 0 30 5

FNFFER | 21010%%##xxxx95027 23 1L 0 2 2 =

B | 21010%xxxxxxx8031X 2L 0 2 2 s
B U 2101 0#*xxxxxx36910 23 1L 0 2 2 =
X1 3L 2101 0%#wwwrrx2502X 2HIE 0 2 2 &

PEIR | 21010%x#xxxxx52515 2FT1E 0 2 2 &
B 21010%#xxxx%x94125 2HIE 0 2 2 =

SERE | 21010%xxxxxxx44116 231 0 2 2 =
B 2101 0%xxxx##x52816 2HIE 0 2 2 =

FEERE | 21010%xxxxxxx84120 2L 0 2 2 =

ZFEE | 21010%00000xx64123 2HIE 0 2 2 =

IR | 21010%%xxxxxx41017 2HTiE 0 2 2 N

KRBT | 21010%000#x15026 2HIE 0 2 2 &
T ik 2101 0#*xxxxx+65316 23 1L 0 2 2 =

EXHKIE | 21010%xxxxxxx40325 2L 0 2 2 &
LIS 2101 0%srxxxxx62121 2FT1E 0 2 2 &

BFRE | 21010%xx0#xx43921 231k 0 2 2 =&

oK 4 2101 0%#xxxx%%81523 2FT1E 0 2 2 &

ERETF | 21010%kxxxxxx61427 23T 1E 0 2 2 =&




FEHLE | 21010%xxxxxx64628 231k 0 2 2 &
FLEEE | 21010%%%xx#x11615 2HTLE 0 2 2 =
FEEZT | 21010%##xxxx93010 23 1E 0 2 2 5
I | 2101 1%x00xxxx22522 2FtE 0 2 2 &
EJRAIE | 21011ssssssxx70521 2L 0 2 2 )
ZEAFR | 2101 1wwxsnnnn7743X 2FtE 0 2 2 &
KRIEMR | 2101 1wxxxexxx82012 231 0 2 2 =
BRF | 2101 1Lw00xx0xxx10015 2FiE 0 2 2 5
IEEELE | 2101 1xxwennx1302X 23 1E 0 2 2 5
LM | 21012%00xxxx50626 2HTIE 0 2 2 =
BRI | 21018%kkxxxxx50924 23 1E 0 2 2 =
£ 21040 xxx##x82022 23 1L 0 2 2 =
NER | 21040%+*xxxxx50541 23 1E 0 2 2 5
WEE | 21052%xxexxx71102 234 0 2 2 =
=8 21092 *xxxxx%x1362X 231k 0 2 2 5
WEFR | 21100xx#xxxxx51227 23T 1E 0 2 2 5
kEE 21120#*xxxxxx51027 231k 0 2 2 5
T=E 21122%xxxxxx%x20021 23T 1E 0 2 2 5
pytEs 21130#*xxxxxx12048 231k 0 2 2 5
5K+ 21132%*xxxxxx71066 23T 1E 0 2 2 5
TL | 21138swwxxxxx24128 231k 0 2 2 5
B 21148sxxxrnxxx 27227 23T 1E 0 2 2 5
N|IEHE | 41092%+#xxxxx30026 231k 0 2 2 5
XSGR | 21011 xsxxxxx00021 23T 1E 0 1 1 =
RER | 21010%0xxxxx60910 231 0 0 0 5
FNH 2101 0%xxxx##xx05036 2HTIE 0 0 0 &
ZNF | 21010%x000xx17217 231k 0 0 0 i
FEE | 21010%000x71230 2L 0 0 0 5
(== 21010%#xxxx5%42327 2HiE 0 0 0 =
ghil 2101 0%xxrnx#% 24925 2L 0 0 0 5
XEE | 21010%+xxxxx02023 23 1E 0 0 0 i
3 2101 0%xxkxxxx6002X 231 0 0 0 =
XKL | 21010%%xxxxxx02811 2HiE 0 0 0 =
PN 2101 0%xxxx##x54926 2L 0 0 0 5
TR 21010%##xxxxx 74927 2HiE 0 0 0 =
Bk 2101 0%srnkx% 73082 2HIE 0 0 0 5
LR 2101 0%#xxxxxx34981 2FT1E 0 0 0 e
9IBEE | 2101 1xxrennxx5252X 23T 1E 0 0 0 5
HHE 2101 1#xxxxxxx60023 231 0 0 0 =
STERA | 21011x%exxxxx90023 23 1L 0 0 0 =
FREEE | 21011xxxxxxxx51828 23 LE 0 0 0 =
BB | 21012%xxxxxxx50616 2HIE 0 0 0 5
% 2101 2##xxxxxx30068 231 0 0 0 =
F&H 2101 2%xxxxx%%20320 2HIE 0 0 0 5
XL | 21012%xxxxxxx71823 2T 0 0 0 5
BEEZ | 21012%0xxxxx20344 231 0 0 0 =
il 2101 2%xxxxxxx 70384 2FiE 0 0 0 5
FTISE | 21012%kxxxxxx32224 231k 0 0 0 5
FE 2101 2#xxxxx%%32248 2HTEE 0 0 0 5
XIS | 21012%0#xxxxx80220 23T 1E 0 0 0 5




e 2101 2#xxxxxxx82014 231k 0 0 0 =
HHEZF | 21018xxxxxxxx41536 2FiE 0 0 0 5
FiE 21038 #xxxxxxx00422 23 1E 0 0 0 =
FERH | 21041xm0000xx5141X 2FiE 0 0 0 5
&% 21090#*xxxxxx0102X 23 1E 0 0 0 =
FINE] 2114255555555 21820 2FiE 0 0 0 5
X1 & 21010#*xxxxxx14422 3KEE 86 2 88 =
BEARIE | 21018%xxxx+xx84920 Ry LS 84 2 86 yos
=F 21010#*xxxxxx12723 3AKEE 85 0 85 =
FBFE | 21010%##++x01041 IRE 82 2 84 v
FLiE 21038xxxxnx#%63128 3AKEE 84 0 84 =
HIEFE | 21042%xxxxxxx60045 SRR 84 0 84 yos
S 21092 *xxxxxx27028 3AKEE 81 2 83 =
BHRE | 21128xxxxxxxx34426 Ry LS 81 2 83 yos
S € | 21010%xxxxxxx51728 3R 83 0 83 =
SEE | 21011x000xx40827 SKEH 83 0 83 B
dh 3 21092 *xxxxxx94045 3R 80 2 82 =
=8 2101 0%*xxxxxx 70042 SKIEHE 82 0 82 B
TEE | 21010#++x+**x35528 SKEHE 82 0 82 i
BEfE X | 2101 1#xwrnnxx6602X Ry NEES 82 0 82 yos
X 2101 2%#xx5%%x30027 Ky NEEs 82 0 82 2
T4 23118xxxxnxxx14045 Ry NEES 82 0 82 yos
FFM | 21010%0#xxxxx52716 3B 79 2 81 =
&7 2101 0#*xxxx*x65829 Ry NEES 81 0 81 yos
IR | 21012%00xxxxx00326 SKIEE 81 0 81 B
2R 2101 0%xxxxxxx8471X IKEH 78 2 80 =
XEF | 21080%xxxxxxx12024 Ky N EEs 78 2 80 v
DAk 5 21120%xxxx%%x52790 IKEH 78 2 80 =
k3 21010%##xxx%%21219 Ky N EEs 78 2 80 v
X7+ 21010%xxxxxxx 72224 IKEH 80 0 80 2
1RES 21018#xxxrxxx64028 SKEH 80 0 80 i
M 3 21050 xxxx#%%10024 IKEH 80 0 80 =
FPRZR | 21148%+xxxxx62017 3KEH 80 0 80 yos
=R 23030%xxxxxxx44014 IKEH 80 0 80 =
X|ERE | 21011xxxxxxxx35729 Ky N EEs 76 3 79 v
BEE | 22028xkkkxxxx27022 3KEE 77 2 79 o
Vak 21010%##xx5%x52726 IKRIE 79 0 79 v
XIEFEN | 21010%x#xxxxx64643 3KEE 79 0 79 o
PN 2101 1#xsxrrrx11220 SKEE 79 0 79 &
TREEEE | 21012%kxxxxx30228 3KEE 79 0 79 o
S 23062#*xxxxx+80628 SKEH 79 0 79 yos
F—18 | 21010%+#*xxxx73418 3KEE 76 2 78 o
EXIE | 21010%%%%%+xx90929 Ry NEES 76 2 78 =
9 21050#*xxxxx+60369 3KEE 76 2 78 o
ERF | 21060%xxxxxxx35025 Ry NEES 76 2 78 =
Bk 21010#*xxxxxx56124 3KEE 78 0 78 o
HFEE | 21018xxxxxxxx23425 Ry NEEES 78 0 78 v
FiE 21010#*xxxxxx82523 3B 75 2 77 =
FREF | 21010%%x#++x10021 IRIE 77 0 77 =
e 21010#*xxxxxx36026 3KEE 77 0 77 =




e 21010#*xxxxxx91420 3AKEH 77 0 77 2
EWFE | 21010%#x++x21621 IRIE R 77 0 77 =
®lE 21010#*xxxxxx84925 3KERH 77 0 77 2
BKER{E | 21010%xxxxxxx15821 IRIE 77 0 77 =
Ol | 21010###xxxxx95527 3KERH 77 0 77 2
FEHW | 21090%xxxxxxx0102X IRIE 77 0 77 v
=F 21010#*xxxxxx13026 3KERH 74 2 76 &
RIg 2101 0%xxxxxxx5122X Ry LS 74 2 76 =
X = 21088**xxxxxx 70679 3KERH 74 2 76 &
FE 23020#*xxxxxx30023 Ry LS 74 2 76 =
BEEE | 21038xkkxxxx26226 3KERH 75 1 76 &
SEFEN | 21010%x+##xxx2031X SRR 76 0 76 =
KW 21010#*xxxxxx53023 3KERH 76 0 76 &
! 2101 0%xxxx##x04625 Ry LS 76 0 76 5
iElE | 21010%xxxxxxx3082X 3AKEH 76 0 76 &
MK | 21010%%xxxxxx80527 SKEH 76 0 76 =
BEREE | 21010%xxxxxx20744 3K B 76 0 76 =
SEAE | 21010%kkkxxxx04612 Ry LS 76 0 76 =
F& 2101 2#*xxxxxx60316 3AKEH 76 0 76 =
Bk 2101 2sxxx5x5%%31227 Ry NEES 76 0 76 5
I 21018#*xxxxxx98035 3AKEH 76 0 76 &
FL#H | 32032%xxxxxxx64866 Ry NEES 76 0 76 5
HEE | 21010%xxxxxx4414X 3AKEH 73 2 75 &
BRFEIE | 21010%xxxxxxx23723 SKEH 73 2 75 =
ZZEF | 21010%%#xxxxx00335 SKIEE 73 2 75 5
i 23020#*xxxxx%x51322 SKEH 73 2 75 =
BREE | 21010%xxxxxx65024 SKIEE 73 2 75 5
MBEESL | 21010%xxxxsxx11521 SKEH 75 0 75 =
JBIBEIE | 21010%xxxxx#x67225 Ky N EEs 75 0 75 =
Sefs 2101 0%xxxxxxx14511 SKIEHE 75 0 75 5
BKIFIH | 21010%xxxxxxx72523 Ky N EEs 75 0 75 =
BE | 21011xxxxxxxx82715 SRR 75 0 75 5
BER | 21140%xx0xxx07224 SKIEE 75 0 75 5
XA | 23020sxsxxxxx70723 SKIEHE 75 0 75 5
FHFEE | 13082%xrrxrrx66261 SKEH 72 2 74 =
pupii} 21071 0#*xxxxxx31813 3KEH 72 2 74 &
F3R 23012 xxx5#x% 70626 3KEH 72 2 74 =
X 21010#*xxxxxx91228 3KEH 72 2 74 &
B4 21010%##xx5%% 25228 IKRIE 74 0 74 5
FMEL | 21010%xrxrxxx52454 3KEH 74 0 74 &
O | 21010%xxxxxxx42116 IKRIE 74 0 74 5
ZEEE [ 21012%kxxrrx01427 3KEH 74 0 74 &
FWE | 21012%xxxx00x6104X IKRIE 74 0 74 5
BEARBE | 21028%xxkxxxx30922 3KEH 74 0 74 &
IBEFF | 21050%xxxxxxx5184% SKES 74 0 74 5
NXITTLL | 21122%%xxxkxx18521 3KEH 74 0 74 &
XK 23230#*xxxxxx03129 3KIEH 74 0 74 =
PN | 23230%kkexxxx01521 3KEH 71 2 73 &
FHk 21010%###5%%x50326 IRIE 73 0 73 )
E323 21010#**xxxxx 75543 3KEH 73 0 73 &




&8 | 21010%xx0000xx10037 IKEH 73 0 73 &
BERKSE | 21010%#xxxxxx71215 SKEH 73 0 73 =
EREF | 21010%0xxxxx76129 SKEHE 73 0 73 =
BN 21010%#wwwr#%x2552X Ry LS 73 0 73 =
PREE | 2101 1xxxxxxx30527 SKEH 73 0 73 =
&F 2101 2%xxxxxx% 25427 Ry LS 73 0 73 =
=18 21022xxxxxx%x91031 3KEE 73 0 73 s
ISR 21032##xx555x02028 Ry LS 73 0 73 =
BEE | 21148x00%++x90029 Ky NEEs 73 0 73 &
XEY | 21010%xxxxxxx73415 Ry LS 70 2 72 =
FEH | 21010%xxxxxxx61026 Ry NEEs) 72 0 72 &
Ea 2101 0%*xxxxxx42819 SRR 72 0 72 =
HAEE | 21018xxxxxxxx18047 Ry NEEs) 72 0 72 &
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FRIE | 21010%xxxxxxx20012 3KEH 31 2 33 5
TE 21010#*xxxxxx83425 3KEE 33 0 33 s
X% 2101 25#x5555% 70012 IKRIE 32 0 32 5
Ei¥ 21092#*xxxxxx20030 3KEE 30 0 30 s
BREEHL | 21010%xsxxxx11445 3KEH 0 3 3 =
TE 21010#*xxxxxx51525 3KEE 0 2 2 &
EE3 21010%##xxx%x45027 IKRIE 0 2 2 5
B | 21010%k##xxx%91835 3KEE 0 2 2 &
ke 21010%xxxxx%% 23426 Ry NEES 0 2 2 5
B 21010#*xxxxxx20028 3KEE 0 2 2 &
23 21010%#xxxxxx 72817 IKRIE 0 2 2 5
EER | 21010%%xxxxx75028 3KEE 0 2 2 &
X EIE | 21010%xxxxx#x43414 3KIEH 0 2 2 =
XIEF | 21010%x#xxxxx35020 3B 0 2 2 s
g | 21010%xxxxxxx85021 Ry NEES 0 2 2 =
FAMEE | 21010%%+xxxx61821 3KEE 0 2 2 &




SKAIBE | 21010%%xxx#x%x43948 3KEE 0 2 2 =&
BZH | 21010%%xxxxxx5091X 3KIEH 0 2 2 =
BN | 21010%x#xxxxx63919 3KEE 0 2 2 =
FiEHE | 21010%xxxxx#x45222 Ry LS 0 2 2 =
ZRE | 21010%xxxxxxx64328 3KEE 0 2 2 =&
[Grge 21010 xxxx##x82367 Ry LS 0 2 2 =
% 21010#*xxxxxx33119 3KERH 0 2 2 =
BB | 21010%%##xxxx01920 Ry LS 0 2 2 =
Ex 21010#*xxxxxx4022X 3KERH 0 2 2 &
BEFER | 21010%xxxxxxx10825 Ry LS 0 2 2 =
XREORE | 21010%xxxxexx53141 3KERH 0 2 2 &
F—5F | 21010%x##xxxx60825 Ry LS 0 2 2 =
85 | 21010%xxxx#x31818 3AKEE 0 2 2 =&
=it 2101 0#*xxxxxx43327 SKIEHE 0 2 2 =
GME | 21012%xxxxxxx91643 3SKEH 0 2 2 &
B 21071 2%xxxxxx%x 71223 Ry LS 0 2 2 5
HEEE | 21028%+#xxxxx20927 3AKEH 0 2 2 &
RIS | 21031xmwrxxxx20047 Ry LS 0 2 2 5
FiFE | 21040%0xxxxx70223 3R 0 2 2 =
REFTT | 21052%kxxxxx30783 Ry NEES 0 2 2 =
FLEEPR | 21068x#xxxxx34428 3R 0 2 2 =
I 2107 2%xxxxxx%x11226 Ry NEES 0 2 2 5
ZEE | 21120%00x00xxx40020 3AKEH 0 2 2 =
TE 21120%xxxxx#x84013 Ry NEES 0 2 2 5
FEM | 21122%xxxxxxx20024 IR 0 2 2 =
AIFE | 21128%xxxxxx71529 SKIEHE 0 2 2 5
IEE 21138 #xxxxxxx83743 SKES 0 2 2 5
L 22028 xxxxx#x%x03224 SKIEHE 0 2 2 5
EES 42098 #xxx##xx33643 SKIEE 0 2 2 =
ERY | 45010 +xxxx8154X SRR 0 2 2 5
=P 21010%##xxx%%21229 Ky N EEs 0 1 1 =
oy | 21010%##xxxxx41028 SRR 0 1 1 5
B 21148 xxxxxx5x 70428 Ky N EEs 0 1 1 =
AR 21010#*xxxxxx30325 SKEH 0 0 0 =
N 21010 xxxnxx%34323 3KEH 0 0 0 5
=¥ 21010%+##xxxx03329 3KEH 0 0 0 &
WKRZ | 22088#xxxxxxx20329 3KEH 0 0 0 =
EF 23088**xxxxxx61486 SKEH 0 0 0 &
BREANZE | 37078#xxxxxxx32043 3KEH 0 0 0 =
FEH | 21010%++xxxx35031 3KEH 0 0 0 &
KR | 21010%xxxxxx15411 KBS 0 0 0 =
SBFF | 21010%xxx0xxx70940 3KEH 0 0 0 &
T2 | 21010%xx%%+xx84654 3KEH 0 0 0 =
F=3x3 21010%+xxxxxx63426 3KEH 0 0 0 &
FBARSC | 21010%k##xxxx32819 3KEH 0 0 0 =
ERAL | 21010%xx+++94618 3KEH 0 0 0 &
FNFEFE | 21010%xxewxxx1612X Ry NEEES 0 0 0 =
E 21010#*xxxxxx11923 3KEH 0 0 0 &
REE | 21010%0xxxxx42819 3KIEH 0 0 0 =
S 21010#*xxxxxx94924 3KEH 0 0 0 &




BKFRR | 21010%xx%%+xx00045 IKEH 0 0 0 =&
FINSC 21071 0%*xxxxxx62218 Ry NEES 0 0 0 =
S 21010 xsrn##x44922 Ry NLEs 0 0 0 =

HZHE | 21010%xxxxx%x61820 Ry LS 0 0 0 =
ok A 2101 0%xxxxxxx4304X Ry NLEs 0 0 0 =&

FHF= | 21010%xxxx#x12739 Ry LS 0 0 0 =

SHR | 21010%#xxxxx94956 3KERH 0 0 0 =

B | 21010%kkkxxxx70345 Ry LS 0 0 0 =

ZBFE | 21010%xxxxxxx8432X Ky NEEs 0 0 0 =&

MORE | 21010%xxxxxxx22111 Ry LS 0 0 0 =

BKEER | 21010%xkxxxxx46129 SKEH 0 0 0 =

FREHR | 21011%xxxxxxx72026 Ry LS 0 0 0 =
KE 2101 1xxrrrrx 25629 3AKEE 0 0 0 =&
F 4] 2101 1xxxrnx#x37116 Ry LS 0 0 0 5

RIRF | 2101 1xmwrsxxx17422 3AKEH 0 0 0 =

FNFESE | 2101 1x0ekxxxx34024 Ry LS 0 0 0 =

RELR | 21011xxx0000x0081X Ky NEEs 0 0 0 =
wE 2101 1rwxxxxr 46419 Ry LS 0 0 0 5
FRiR 2101 1#xxxxxxx60024 SKEH 0 0 0 =

ZETFE | 21011xxxxxxx45767 Ry NEES 0 0 0 5

BT | 21011xxxxxxxx03024 Ky NEEs 0 0 0 =
R BH 2101 LxxrrrxxxQ572X SKEH 0 0 0 =

ZER | 2101 1xmwxrxxx51229 3AKEH 0 0 0 =

XBAS | 2101102550310 SKEH 0 0 0 &

XFHF | 21011%x0005#x73926 3KNEH 0 0 0 5

FEIH | 21012%0000xxx12423 SKEH 0 0 0 =

TREESE | 21012%wxxxxx31232 3KNEH 0 0 0 5

XZ | 21012%0xxxxx60326 SKIEHE 0 0 0 5

BREZEE | 21012%xx0xxx10621 SKEH 0 0 0 =

T | 21012%000000x70021 SRR 0 0 0 5
PP 2101 2#xxxxxxx90225 3KEH 0 0 0 5
= 2101 2sxxxx#%%x51026 SKIEHE 0 0 0 5
= 2101 2#xxxxxxx62628 3KEH 0 0 0 5

Lk | 21012%0kxxxxx71220 SKIEHE 0 0 0 5
R 21012 xxxx##x53648 3KEH 0 0 0 5

FISME | 21012%0000#x63225 IXEH 0 0 0 =
BN 2101 2#*xxxxxx41628 SKEE 0 0 0 =

TR | 21012%0004xx43629 3KEH 0 0 0 =

FHE | 21012%xxxx#x31224 3KEH 0 0 0 =

ZHE | 21018sxkxxxxx74025 SKEH 0 0 0 &

HAEMS | 21018xxxxx#x31814 3KEH 0 0 0 =
pUES 21018xxsrnrxx62427 IKEH 0 0 0 =
=18 2101 8#xxxxxxx10915 3KEH 0 0 0 =

BKRTF | 21018xkkxxxxx12714 IKEH 0 0 0 =

BER | 21018xxxxxxxx31221 3KEH 0 0 0 =

BKAREE | 21032%xxx0xxx90023 3KEH 0 0 0 =
TR 21032 xxxxxxx40427 3KIEH 0 0 0 =

ZERR | 21042%0xxxxxx4201X SKESE 0 0 0 &
*=x 2107 2#xxxxxx%x71580 Ry NEES 0 0 0 =
pdpi:il 2107 2%xxxx%%% 71548 IKEH 0 0 0 =&




E 21090 xxxxxx%x04022 SKESE 0 0 0 &
FHH | 21092%xxxx++x83368 Ry NEES 0 0 0 =
ZHE | 21100%%*xxxx70146 3KERH 0 0 0 &
HEX | 21110%xxxxxxx22345 Ry LS 0 0 0 =
B | 21120%%x00xx52027 3KERH 0 0 0 &

W 21130 xxxx##x62428 Ry LS 0 0 0 =
EEE | 21148%0xxxxx73726 3KERH 0 0 0 &
RER | 22082%kkxxxxx37328 SRR 0 0 0 =
BKARYE | 22088xxxxx#xxx90520 3AKEE 0 0 0 s
XER | 23018%xkxxxxx62124 Ry LS 0 0 0 =
IEEE | 2101 1wwwxxx13629 AR 88 0 88 =
SEEEHE | 21010%0xxxxx84326 ATGH 87 0 87 yos
INEEE | 21010%xxxxxxx02528 AR 85 1 86 =
ZEE | 21010%xxxxxx 75420 AR 86 0 86 yos
X NF | 37132kkxxxxx82128 4Arg 4 86 0 86 =
XJGIFF | 21010%xxxxxxx43319 AR 83 2 85 v
X | 21010%0xxxxx63428 AT 83 2 85 =
BEIE | 21010%kxxxxx01213 ATGH 85 0 85 yos
FFLE | 21010%+xxxxx23420 AT 82 2 84 B

kE 21010#*xxxxxx00319 ATGH 82 2 84 yos
ZWE | 21011xxxxexx41022 ARG 82 2 84 B
NXIEE | 21080%xxxxxx52524 ATGH 82 2 84 B

BE 21128 #xxxxxxx51821 AT 84 0 84 B

247 2101 0#*xxxxxx 75429 ATGH 81 2 83 yos
F3E | 21010%xxxx#xx65660 ARSI 81 2 83 yss
XFER | 21010%%##xxxx03024 ARG 83 0 83 =

323 2101 0#*xxxxx%x23924 AT 83 0 83 yos

i 2101 0%*xxxxx%x12514 ARG 83 0 83 2
FEE | 21012%xxxxxxx10025 ATg B 83 0 83 v
FE | 21122%0000xx25641 ARG 83 0 83 B
XYM | 21010%%xx##xx85023 ARSI 80 2 82 yos

KX 21010#*xxxx+x90031 ARG 80 2 82 =

ik 21040#*xxxxxx71720 AT 80 2 82 yos
XIBE | 21010%x#xxxxx84022 AT 82 0 82 2
HIESR | 21010%xxxxxxx60027 ARg A 82 0 82 v

ok B4 210125 xxx5x5#%61626 AR 82 0 82 =
FRIFE | 21012%xxxxxxx50222 AT 82 0 82 2
B | 21018xxexxxxx18323 AT 82 0 82 B

A 21090%##xx%%% 71526 AR 82 0 82 ys

T2 2101 0xxxxx##x60323 AT 79 2 81 =
FAEES | 21010%kwxxxxx74319 ARG 79 2 81 yos

=X 21078xxxrnxxx%41620 AT 79 2 81 =
X I ek 2101 0%xxxxx%x43416 AT R 79 2 81 =
F55 | 21010%05xxxxx20947 ARG 80 1 81 =
ZJkIA | 21130%xxxxxxx4085X ARG 79 2 81 yos
XIEELE | 21010%+xxxx+x0006X AT 81 0 81 B

ki 21010%x##xxx+40020 ATGH 81 0 81 yos
FEHETE | 21010%xxexxx31712 AT 81 0 81 B
RE | 21012%xxxxxxx01222 AR 81 0 81 v
Fin 21012 xxxx##xx96014 ARG 81 0 81 =




F 4] 2101 2#*xxxxxx60410 AT 81 0 81 B
MRIBE | 21012%00xxxxx80443 ARG 81 0 81 B
BEF | 21012%0xxxxx70832 ATg i 81 0 81 2

=1 37132%wkxxxxx06197 AT 81 0 81 2
k22 H 2101 0%xsxx##%x65627 AR 78 2 80 =
FEEW | 2101 1xxxxxxxx62026 ARG 78 2 80 v
BHME | 21028xkxxxxx10040 AT 78 2 80 i
IR | 21128%0xxxxx00226 ARG 78 2 80 yos
ZHEE | 21010%xxxxxx6631X AT 80 0 80 i
XER | 21010%xxxx0xx42714 ARg R 80 0 80 7=

B 2101013331 ARG 80 0 80 =
EEEEOR | 21010%%#xxxxx75549 ARG 80 0 80 yos

21 2101 1xxrnnrx31246 ARG 80 0 80 =

I 2101 2##xxxxxx1022X ATGH 80 0 80 B
BRERT | 21018xxxxxnrx3274X AT 80 0 80 B

5pe) 21041 xxxxxxx44148 ATGH 80 0 80 B
EFHE | 21090%xxxxxxx20525 ARG 80 0 80 B

=& 23030 xxxxxxx45721 AR 80 0 80 yos
ZHE | 23230%xxxxx#xx82438 ARG 80 0 80 B
ZEA | 21122%000x52824 ATGH 77 2 79 B

®=E 2101 0%xxxx##+x05700 AT 77 2 79 B
BE—HA | 15040%xx%x+xx30306 AR 79 0 79 yos

ke 21010#*xxxxxx31239 AT 79 0 79 i
ZEEME | 21010%kxxxx42120 ATGH 79 0 79 B
FRETE | 21010%%#xxxxx70925 ARG 79 0 79 yss

=8 21010%xx#xxxx92810 ARG 79 0 79 B
BEN | 21010%0xxxxx24014 ARSI 79 0 79 yos
BETE | 21010%000xxx4462X ARG 79 0 79 2

X 21012 xxxx##%82126 ARG 79 0 79 yos
FVINSE | 21012%mxxxxx92715 ARG 79 0 79 2
F—F | 21012%xxxxxxx71022 AT 79 0 79 B

TReE 2101 2%xxxxxxx00224 ARG 79 0 79 2
SRR | 21018#xxxxxxx68016 ARG 79 0 79 yos
ZET | 21018xxxeoxxx6803X ARG 79 0 79 =
ZSREF | 22028%kkxxxxx40640 AT 79 0 79 yos

XJE 21010%xxxxx%x03613 AR 76 2 78 5
FTE | 21010%kexxxxxd 2227 AT 76 2 78 &
FEHM | 22018xxxxxxxx57247 AR 78 0 78 5
NPT | 15042%0wxxxxx40022 AT 78 0 78 &

% 1521 0##xrrxxx50349 AR 78 0 78 5
BIIETFE | 21010%xx0xxx55310 AR 78 0 78 =

R 2101 Lrxrrrrxx51427 AR 78 0 78 5
BIETE | 21011%exxxxxx81825 AT 78 0 78 &

MR R 2101 1wxxxxrrx50311 ATg i 78 0 78 &
B4 | 21010%xxxxxxx24430 AR 74 3 77 )
FAAT | 21010%xxxxxxx03713 AR 75 2 77 )

&35 21010%xxxxxxx30945 AR 75 2 77 5
FTEH | 21012%xxxxxx20613 AT 75 2 77 =
BEE | 21050%xxxxxx60329 ARG 75 2 77 =
FHE | 21062xxxxxxxx78244 ARg A 75 2 77 5




F 22028 #*xxxxxx52633 ARG 75 2 77 5
TN | 37082k xxxrxxx65325 ARG 75 2 77 =
T 21010%#wwrrrx6182X AR 77 0 77 &
FHr 21010%xxxxxxx62328 ARg R 77 0 77 )
XJE0y | 21010%xxxxxxx9202X AR 77 0 77 &
ELs 2101 0%xxxxxxx1462X AT 77 0 77 =
XI| B 2101 2#*xxxxxx00919 ARG 77 0 77 5
LERER | 21012%00xx0xxx30340 ARg R 77 0 77 )
FNVBIE | 21012%0kxxxxx50626 ARG 77 0 77 5
ERfEE | 21018xxxxxxxx6801X AT 77 0 77 =
B 3] 2107 2#xxxxxxx15725 ARG 77 0 77 5
BXAA%L | 21088xxxxxxx81023 ARg R 77 0 77 )
XPTRE | 21132%0kxxxxx20665 ARG 77 0 77 5
XLTHE | 21132%xxxxxxx13026 AR 77 0 77 &
BIERTR | 23020%+#+xxxx80026 ARG 74 2 76 5
EiY51 2101 Lxxrrnnrx13423 AR 74 2 76 =
B | 2101 1x0xxxxx65913 ARG 74 2 76 5
Ak 21102##xxxxxx8006X ATGH 74 2 76 =
ok e 21140%*xxxxxx03428 ARG 74 2 76 5
FZH | 21010%0xxxxx82827 ARG 76 0 76 =
= ik 21010%##xx%%x40917 AR 76 0 76 &
Pl 2101 0#*xxxxx%x13042 ATGH 76 0 76 =
=R 21010#*xxxx+x80921 ARG 76 0 76 5
15 2101 0%*xxxxx%x24024 ATGH 76 0 76 =
SKSHE | 21010%xxkxxx14612 ARSI 76 0 76 5
BB | 21011xxxxxxxx10046 AR 76 0 76 &
BRI | 21011xxxxxxxx70022 ARg A 76 0 76 =
ZEFE | 21011xxxxxxx13948 AT 76 0 76 &
F I 2101 1##xxxxxx50320 ARSI 76 0 76 5
X|FEAR | 21012%0#xxxxx31020 ARG 76 0 76 i
FE 2101 8#xxxxxxx88343 ARSI 76 0 76 5
SKIEAR | 21030%%x5xxxx10937 AR 76 0 76 =
1 % 21038 #xxxxxxx84827 ATEH 76 0 76 5
BRIEAR | 22240%%wxxxxx64545 ARG 76 0 76 =
BHEES | 23022%xxxxxxx84246 ARG 76 0 76 5
T | 23052%xxxxxxx94040 AR 76 0 76 =
H 5 1521 2xxx5xx20320 ARG 73 2 75 =
MREF | 21010%05xxxxx26925 ARG 73 2 75 5
=3 21010#*xxxxxx07214 AT 73 2 75 &
k4R | 21010%%#xxxxx03418 AT 73 2 75 =
XTER | 21010%%xxxx%x94943 AR 73 2 75 )
KK 21018xxxrnrxx71823 ARG 73 2 75 5
BIEIE | 21072%xxxxxxx90728 AR 73 2 75 )
ZBE | 21088skkkxxxx62727 AT 73 2 75 =
Gt 21010#*xxxxxx15321 AT 75 0 75 =
N | 21010%xx000xxx84524 AR 75 0 75 &
XJAZE | 21010%xxxxxxx13613 AR 75 0 75 5
BOKHL | 21010%xxxx+xx90971 ATg 75 0 75 &
RIS | 21010%x000exx61717 AT 75 0 75 i
RBE 21010%xxxxxxx 74621 ARG 75 0 75 5




FAESE | 21010%xxxxxx52821 AT 75 0 75 &
fIEWF | 21010%0xxxxx44922 ATGH 75 0 75 =
FRERAE | 21012%%exxxxx8306X ATg i 75 0 75 &
FB 2101 2#xxxxxxx0422X AT 75 0 75 &
% 2101 2#*xxxxxx 70419 ATg i 75 0 75 &
BT 2107 25xxxx55x60028 ARG 75 0 75 =
SR | 21120%0kxxxxx64042 ATg i 75 0 75 &
B 21010%xxxxx%x33028 ARg R 72 2 74 5
= 21010#*xxxxx+03618 AT 72 2 74 &
2= 2101 0%*xxxxxx14623 AT 72 2 74 =
REFIE | 21100%#xxxxxx31811 ATg i 72 2 74 &
=& 411625 xxxxxx%99124 AT 72 2 74 =
3k 21010#*+xxxxx10730 AT 74 0 74 &
ok 2101 0#*xxxx*+65848 ATGH 74 0 74 =
X 21010%xxxxx%%61742 AT 74 0 74 i
XS | 21010%xxxxxxx44328 AR 74 0 74 &
B 2101 1#xxxxxxx60022 AT 74 0 74 &
#ES | 21011sxexxxx92729 ATGH 74 0 74 &
KB | 21012%xxxexxx50224 AT 74 0 74 &
SKEAFH | 21038wkrxxxx30435 ATGH 74 0 74 =
BIE | 21050 xxxxx2054X ARG 74 0 74 =
BRI | 23210%xxxxxxx10914 475 74 0 74 &
2E 21010#*xxxxxx16925 AT 71 2 73 5
OFEE | 21010%xxxxxxx24142 AT 71 2 73 &
TR | 15040%xxxxxx40926 ARSI 73 0 73 5
X3E 21010%*xxxxx%x22716 ATg i 73 0 73 &
PULES 21010%##xx%%x50922 ARg A 73 0 73 =
ZEE | 21010%00xxxx40626 ARG 73 0 73 =
I 21010 xxrnrrx21223 ARG 73 0 73 5
S8R | 2101 1x0erxxxx20214 ARG 73 0 73 =
< 2101 1#xxxxrrxd0644 AT 73 0 73 5
Xl 2101 2%*xxxxxx61440 AT 73 0 73 =
XiE 21018xxwwxxxx82430 ATEH 73 0 73 5
AR 2101 8#wxxxxrx1272X ATg i 73 0 73 &
14738 21040%xx#xxxx63028 AT 73 0 73 5
TE 21050%#xxxx%%13649 AR 73 0 73 =
wmE 2107 2#xxxxxxxAGT4AT AT 73 0 73 &
J=F= 22082 xxxxxxx6 738X AR 73 0 73 =
£ 21010%xxxxxxx41521 AT 70 2 72 =
FFHE | 21040%0xxxxx22040 ATg i 70 2 72 &
REEF | 21120%0+xxxxx84026 AT 70 2 72 =
=B 21010#*xxxxxx56124 ATg i 72 0 72 &
REE | 21010%###xxxx90926 AR 72 0 72 &
FEMWE | 21010%xxxxxx11927 ATg i 72 0 72 &
BEME | 21010%xxxxxxx21512 AT HP 72 0 72 &
1355 | 21011xxexxxxx04023 AT 72 0 72 &
BKTFE | 21012%xxxxxxx20469 AR 72 0 72 &
XEE | 21018%x00x+xx48016 AT 72 0 72 5
i 21038#xxxxxx%x12227 ATg 72 0 72 &
FRE | 21110%0xxxxx41522 ATg 72 0 72 &




FNERN | 21122%kkkxxxx15426 AT 72 0 72 5
FBRIF | 15230%kxxxxx02023 AR 69 2 71 =
BEJkE | 21010%%#xxxxx16916 AT 69 2 71 =
HRE | 21010%xxexxx65615 ARg R 69 2 71 5
FHTBE | 21010%xxxxxxx30647 AT 69 2 71 5
oK 21010%xxxxx%x85226 ARg R 69 2 71 5
IEE]! 21010%xxxxx%x62317 AR 69 2 71 &
ERME | 21010%0%00xx34028 ARg R 69 2 71 5
SIEM | 21010%00x#xx92733 AT 69 2 71 =
B 2101 8#*xxxxxx26120 AT 69 2 71 =
BRG] | 21038xwksxxxx(02322 AT 69 2 71 =
FRR | 21010%xxx##xx90317 AT 71 0 71 =
BIRSEE | 21010%kxxxxx20622 AT 71 0 71 =
=E0 2101 0%*xxxxxx2073X ATGH 71 0 71 =
EEGE | 21010%+xxxxxx3066X AT 71 0 71 5
ZEEM | 21010%%#xxxx80946 ATGH 71 0 71 =
BMIR | 21012%+#xxxxx80968 AT 71 0 71 5
FEER | 21072%kxxxxx26521 ARG 71 0 71 =
ZZRETE | 21010%xxxxxxx 76017 ARG 68 2 70 5
SER | 21010%00+xx60310 AR 68 2 70 =
ZEZL | 43062xx#xxxxx30080 ARG 68 2 70 5
TBEZE | 21018xxxxxx#x23729 AR 69 1 70 =
B0 15232 xxxx0xx40021 AT 70 0 70 &
ZEN | 21010%00000xx40013 AR 70 0 70 =
SFHE | 21010%kxxxxx41225 AT 70 0 70 5
Z8 2101 8#*xxxxxx88026 ARG 70 0 70 5
ZEE | 21018xxxxxxxx97444 ARg A 70 0 70 =
pulcs 21040%*xxxxxx50214 ARG 70 0 70 =
ME 21010%xwkxxxx56942 AT 67 2 69 5
MEE 2104 25xxxxxxx3002X ARG 67 2 69 5
KR | 21011xxxxxx+x00563 ARG 69 0 69 5
FFME | 21010%x000#x02413 AR 69 0 69 =
A 21010%x#xx5x92520 AT 69 0 69 5
SEHE | 21010%x#xxxxx05218 ARG 69 0 69 5
k= 2101 1#xxxxxxx03450 AT 69 0 69 5
OB | 2101100024020 ARG 69 0 69 5
®E 2101 2%xxxxxxx60222 ARG 69 0 69 =
T 2101 2###xxxxx40241 AR 69 0 69 =
=P | 21012%000xxx70426 AR 69 0 69 5
EHE [ 21018%xxxxxx05522 ARG 69 0 69 5
FI% 21092+ x#x###xx97540 AR 69 0 69 =
HARERS | 21100%xxxxxxx21823 AR 69 0 69 =
F= 21110#*xxxxxx02119 ARG 69 0 69 =
VRIB 2101 0xxsrnrrx 22247 AR 66 2 68 &
PEEZS 2101 0#*xxxxxx 70024 AT 66 2 68 &
T 2101 2#####%%xx00411 AR 66 2 68 &
ST | 21062%0wxxxxx78237 ATGH 66 2 68 =
TR | 21132%0xxxxx80328 AT 66 2 68 5
RTEAR | 21010%x#xxxxx66624 ARG 68 0 68 =
o/ $77 21010#*xxxxxx41244 AT 68 0 68 5




BHEE | 21010%%xxxxxx64320 ARg A 68 0 68 &
wiE 21010%xxxxx%x53126 AR 68 0 68 5
Fi5 21010#*xxxxxx 72848 ATEH 68 0 68 5

HEF | 21010%%+xxxx50518 ATGH 68 0 68 =

LZEME | 21010%xxxxxxx8552% AT 68 0 68 s

N | 2101 1wmeeeexx73011 ARg R 68 0 68 5
%0 21040#*xxxxxx 73347 ARG 68 0 68 5

ZHEF | 23230%kkkxxxx77828 ATGH 68 0 68 =

FilEE | 21142%xxxxxxx20225 AR 64 3 67 &

FOFMR | 14112%00000x80177 ARG 3R 65 2 67 &
FIE 21010#*xxxxxx21826 ARG 65 2 67 5
TR 2101 0%##xx5%%26010 ARG 65 2 67 5
1k 21010#*xxxxxx85340 ARG 65 2 67 5

Y | 21010%kxxxxx65614 ATGH 65 2 67 =

JEEZE | 21010%++xxxxx5692X ARG 65 2 67 5

BKERIE | 21010%%#xxxxx35819 AR 65 2 67 =
FR 2101 1#xxxxxxx01067 ARG 65 2 67 5
&t 21030 xxx5##%20429 AR 65 2 67 5
T¥ 21052######xx8108X AR 65 2 67 &

SRS | 21088wkkxxxx04520 ATGH 65 2 67 =
T=H 22240#####%%xx00021 AR 65 2 67 &
X3E 2101 0#*xxxx*+65828 ATGH 67 0 67 =
S 21010#*xxxxxx4581X ARG 67 0 67 5
X3 2101 0#**xx**x55823 ATGH 67 0 67 =
HF— 21071 0#*xxxxxx80923 ARSI 67 0 67 5
B 2101 0%*xxxxxx53421 ARG 67 0 67 =
RS 21042#xxxxxxx9065X ARSI 67 0 67 5

B— | 21072%xx0x+x30329 AT 67 0 67 =

BTN | 15232%xxxxxxx23720 ARG 64 2 66 5

ZET | 21010%xkexxxx45621 ARG 64 2 66 =

FEEE | 21010%%xxxxx81026 ARSI 64 2 66 5

FHEF | 21010%#xxxxxx34511 AT 66 0 66 &

FIHES | 21010%xxkxxxx4064X AT 66 0 66 =
XU R 2101 Lrwxxxrrx1056X ARG 66 0 66 s
=Sk 2101 Lxxxxrrrx05111 AT 66 0 66 5

B | 21011xxx0#x14515 AT 66 0 66 5

EHE | 21060xxxxxxxx20525 ARG 66 0 66 =
=517 21068 xxxxx#% 25724 AR 66 0 66 =

BEESE | 21010%%#xxxxx35027 ARG 63 2 65 =

ZhE | 21010%0xxxxx91515 AT 63 2 65 =

FABE | 21010%%#xxxx85046 AR 63 2 65 =
TE 2101 0%xxxxxxx1691X AR 63 2 65 =

FREFS | 21010%xxxxxxx42320 ARG 63 2 65 =
puficS 2101 1xxsrrxxx 45424 AR 63 2 65 &

B | 21028xxxxxxxx85120 ARG 63 2 65 =
E5kes 2107 2sxxx5%%16739 AR 63 2 65 &
B 21138###xxx#xx00021 AR 63 2 65 5
X 21140%xxxxxxx60211 ARG 63 2 65 5

KERAR | 22052%0xxxxxx03626 ARG 63 2 65 =

X|ZEE | 21010%x#xxxxx41825 ARG 64 1 65 5




FNES 21010#**xxx*x93323 AT 64 1 65 =
ZFEE | 21010%xxxxxxx81225 AR 65 0 65 =
BFZ | 21010%0#xxxxx21723 AT 65 0 65 =
B | 21010%xxxxxxx72548 ARG 65 0 65 5
R | 21010%xxxxx10041 AT 65 0 65 5
BEH | 21010%xxxexxx23312 ATGH 65 0 65 =
B | 21010%####xxx6556X AR 65 0 65 )
ZER | 21010%xxxxxxx74320 ARG 65 0 65 =
BKZEHE | 21011xewrxxxx11621 AT 65 0 65 =

ESiE 21012 xxx##x53810 ARG 65 0 65 =

[ 21080#*xxxxxx22549 AT 65 0 65 =

2l S| 21092 ##xxx%%07529 ARG 65 0 65 5

ki 21100#*xxxxxx10144 AT 65 0 65 =

IS 23108#*xxxxxx03043 ATGH 65 0 65 =

%+ 21010#*xxxxxx7106X AT 62 2 64 =
HRF | 21010%xxxxxx75614 ATGH 62 2 64 =

xE 2101 Lrwsxrrrx2562X AT 62 2 64 =

S 2101 2sxxx5x%%x 70305 AR 62 2 64 =
ABEFF | 21032x0wxxxxx71889 AT 62 2 64 =
PRERIE | 21068xkkxxxxx92789 ATGH 62 2 64 =
BRFTE | 21010%%xxxxx05380 AT 62 2 64 =
ZHIW | 21100%*xxxxxx0632X ATGH 62 2 64 =
RIRIE | 21010%xxxxxxx0302X AT 64 0 64 =
FIKIN | 21010%kxxxxx83129 ATGH 64 0 64 =

=157 21010%*xxxxxx84041 AT 64 0 64 5
EFIE | 21010%%xxxxx13120 ARG 64 0 64 &
REE | 21010%+#*xxxx95526 AT 64 0 64 5
EEM | 21010%0000xxx43042 ARG 64 0 64 &
SRtHE | 21011xxx0eexx67117 ARSI 64 0 64 5

K& 21071 2%xxxxxx%x21239 ARG 64 0 64 =

B 21012 xxxx##%81425 ARG 64 0 64 5
E—T | 21012%xxxxx50011 ARG 64 0 64 =

S 21018#*xxxxxx52423 AT 64 0 64 5

(g2 21050#*xxxx*x50628 ARG 64 0 64 =
ZER | 21092%#kxxxxx5026X ATEH 64 0 64 5
FEE | 21142%00004x16422 AT 64 0 64 5

Z=[H 22028 xxxxxxxx47023 AR 64 0 64 5

e 21010%xxxxx%% 24420 AR 61 2 63 5
KWE | 21010%+xxxxx52226 ARG 61 2 63 =

HiE 21010%#xxxx%x85628 AR 61 2 63 5

B 21071 0#*xxxxxx5301X AT 61 2 63 i
NZEF | 21010%+#xxxxx51224 ATg i 61 2 63 &
FEH# | 21010%#xxxxx30621 ARG 61 2 63 =
INETF | 21010%x5wnxxT466X AR 61 2 63 5
R | 21012%00xxxxx03847 AT 61 2 63 &

FEE | 21032%000xxx0104X AR 61 2 63 5
FANE | 21132%0xxxxx60765 ATGH 61 2 63 =
ZREE | 21010%xxxxxxx22724 AT 62 1 63 s
XKL | 15222%xxxxx5x61025 AR 63 0 63 5

ERR 21010#*xxxxxx05625 AT 63 0 63 =




FiZFE | 21010%xxxxxxx51825 ARg A 63 0 63 &
X|EE 2101 0%xxxxxxx11247 AR 63 0 63 5
BIFER | 21010%%##xxxx54919 AT 63 0 63 &
FNGX 21010%#####%x55348 ARG 63 0 63 =
EBRH | 21011xexxxxx5681X AT 63 0 63 5
X4 2101 Lrwrrrrrx 10026 ARG 63 0 63 =
FNEI | 21012%0kxxxx62423 AT 63 0 63 5
EWH | 21018xxxxxxxx88025 ARG 63 0 63 =
XEF | 21122%%00000x0042X AR 63 0 63 &
ik 21122#xxxxxxx08822 ATGH 63 0 63 =
5 BH 21130 xxxx##xx90820 ARG 63 0 63 5
BREETZ | 21010%xxxxxxx7122X ARg R 59 3 62 5
BBE | 21010%kxxxxx06917 AT 60 2 62 5
g 21071 0%*xxxxxx37211 ATGH 60 2 62 &
pEFEs 21010#*+x+x*x91828 AT 60 2 62 5
MM/ | 21010%k+xx+96015 4FH 60 2 62 &
Bk &R 2101 0#*xxxxx%32221 AT 60 2 62 5
PFHIR | 21010%0xxxxx05617 ATGH 60 2 62 &
ZRIZ | 21010%x#xxxxx11824 ARG 60 2 62 5
FHENE | 21010%xxxxxxx66146 AR 60 2 62 =
HRSE | 35058%kkkxxxx31039 AT 60 2 62 5
RERTT | 41128%x00xx22021 ATGH 61 1 62 &
I 21010#*xxxxxx26939 AT 60 2 62 =
faf— 21090#*xxxxxx11516 ATGH 60 2 62 &
AW | 21010%+xxxxxx9372X ARSI 62 0 62 5
(KIS 21010%xxxxxx14928 ARG 62 0 62 =
BE 21010%xxxx5+62865 ARSI 62 0 62 5
ERE | 21010%0xxxxx50023 ARG 62 0 62 5
XL | 21010%+xxxxx52516 ARG 62 0 62 5
={E 21010#*xxxxxx36126 ARG 62 0 62 5
BB | 2101 1xmerrrxx14623 AT 62 0 62 5
H—& | 21011xxexxxxx70665 AT 62 0 62 i
R | 2101 1#xxxexxx80552 ATEH 62 0 62 5
Ok 2101 8#xxxxxxx43141 ARG 62 0 62 &
SKENE | 21042%%000xx40045 ARG 62 0 62 5
Z4TH | 21068#x#xkkxx1106X AR 62 0 62 =
1B5E 21130%#xxxxxx10441 43R 62 0 62 e
SRR | 21132%000006x80026 AR 62 0 62 =
FEMT | 21138%x#xxxxx00620 ARG 62 0 62 =
BETCTC | 22010%xxxxxxx51625 ATg i 62 0 62 &
Fi= 23023 x#xxxxx41365 ARG 62 0 62 =
TEERE | 21010%xxxxxxx25041 ATGH 59 2 61 =
FiFlk | 21010%xxxxxxx25046 AR 59 2 61 5
TRBhE | 21010%x#xxxxx35345 ARG 59 2 61 5
RE 2101 0%xxxx#%x55023 AR 59 2 61 5
REFR | 21010%xxxxxx65315 AT 59 2 61 =
TREW | 21010####+xxx94121 AR 59 2 61 5
BEE | 21010%0#xxxxx54279 ARG 59 2 61 5
%5 21010%*xxxxxx64927 AT 59 2 61 &
REFBE | 2101 1x0xxxxx25120 AT 59 2 61 5




BE 21018#*xxxxxx34945 AT 59 2 61 5
K 21040%xxxxx#xx60923 AR 59 2 61 5
MB— | 21050%+#*xxxx31239 AT 59 2 61 &
oK EB 21140%######xx3325X AT 59 2 61 &
& 37028 #*xxxxxx7593X AT 59 2 61 5
FR/IN | 22052%0xxxxx60067 ARG 60 1 61 =
FEH | 21010%+xxxxx92127 AT 61 0 61 5
L 21010%*xxxxxx 70644 AT 61 0 61 =
ZHEIL | 21010%xxxxxxx73915 ARG 61 0 61 5
XEH | 21010%+xxxxx32328 ATGH 61 0 61 =
BR1H 21010#*xxxxxx66127 AT 61 0 61 =
FEETE | 21010%%exxxxx72119 AT 61 0 61 =
Ef2iE | 2101 1xexxxxxx00647 AT 61 0 61 5
SHEIL | 2101 1x0krxxxx76832 ATGH 61 0 61 =
BERER | 2101 1xmkrxxxx25124 AT 61 0 61 5
BRE | 21012%xx00xx7301X ATGH 61 0 61 =
ZRMHF | 21012%m00xxx24221 ARG 61 0 61 5
i 2101 8#*xxxxxx58040 ATGH 61 0 61 &
=2 21018#*xxxxxx18340 AT 61 0 61 &
PR | 21050%kkkxxxx20026 ATGH 61 0 61 =
Z 18 21088#xxxxx%x31035 AR 61 0 61 )
FEE | 41092xxxxxxx78024 AR 61 0 61 =
BEXHE | 41282%x#xxxxx65767 AT 61 0 61 =
SKEFE | 21010%%xxxxxx55643 AR 58 2 60 =
g 2101 0#*xxxxxx8564X ARSI 58 2 60 5
BKEFE | 21010%xxxx#x10027 AR 58 2 60 5
BB | 21010%kmxxxxx45623 AT 58 2 60 5
FFE | 21010%kksxxxx22212 ARG 58 2 60 =
SRHE | 21010%kmerrxx17221 AT 58 2 60 5
OHEE | 21010 ##+xxx56924 ARG 58 2 60 5
KR 21010%*xxxxxx 72740 AT 58 2 60 5
BRAAEE | 2101 1%%xxxxx32020 ARG 58 2 60 =
B 23040#*xxxxxx50220 ARG 58 2 60 5
X|EEIE | 23052kkkkxxxx52727 ARG 58 2 60 =
ZVHE | 21010%+xxxxx30328 AT 58 2 60 5
Tl | 21010%xxxxxxx90921 AR 60 0 60 5
T 21010######+x00341 AR 60 0 60 5
BRFEMS | 21010%##xxxxx1302X AR 60 0 60 5
F7EMR | 21010%xxx000x0421X ARG 60 0 60 =
3 2101 0%*xxxxxx7372X AT 60 0 60 &
S HiE 2101 0%xxxxxxx55241 ARG 60 0 60 =
THEEFE | 21010%xxxx#x14026 AR 60 0 60 5
oK 7% 2101 0%xxxxx%x61 23X AR 60 0 60 5
ENiA 2101 L#xxxxxrx 70825 AT 60 0 60 5
XU 2101 2#xxxxxxx31229 ARG 60 0 60 =
FKS | 21012%xx000xx2031X AR 60 0 60 )
R | 21012%0xxxx5x46020 ARG 60 0 60 =
BkAg | 21012%x000#x61216 ARG 60 0 60 5
B | 21012%xxexxxx60021 ATGH 60 0 60 =
TRAL | 21042%000004x02225 ARG 60 0 60 5




BKEE | 21050%kxxxxx20629 ATg i 60 0 60 &
T= 21060####x%%%81549 AR 60 0 60 5
EHFE | 21072%0xxxxx90330 AT 60 0 60 5
BIWH | 2107 2x0xxxxxx11117 ARg R 60 0 60 5
K& | 21081xxxxxxx60016 ARG 60 0 60 5
%% 21092 x#xxxxx86929 ATGH 60 0 60 =
FHEE | 21102%xxxxxxx85313 AR 60 0 60 &
K IR 21140%xxxxxxx51821 ARg R 60 0 60 5
R 21140%*xxxxxx15924 AT 60 0 60 =
X 21140%xxxxxxx88048 ARg R 60 0 60 5
BXEL | 23232#xxxxxx94320 ARG 60 0 60 5
WEL | 15230%xx0mexxd152X AT 57 2 59 &
KRB 21010#**xxxxx15323 AT 57 2 59 5
B | 21010%%#*xxxx52515 ATGH 57 2 59 =
ZSPRIE | 21010%kwxxxxx14722 AT 57 2 59 5
= 2101 0%xxxx##%35628 AR 57 2 59 5
JEZE | 21010%xxxxxxx35314 AT 57 2 59 5
BEEME | 21010%000xxx70623 ATGH 57 2 59 &
&% 21010#*xxxxxx60413 AT 57 2 59 5
= 2101 1#wxxxxxx63420 ARG 57 2 59 =
Bk | 21012#kxxxxxx25119 AT 57 2 59 5
ZAE | 21040%kxxxx10913 ATGH 57 2 59 =
BIRIGE | 21042%xx00xxx10428 AT 57 2 59 =
KT | 22052%kkkxxxx11429 ATGH 57 2 59 =
E= 23233 xxkxxxx40028 AT 57 2 59 5
X1 2101 Lrwxxxxrx23849 ARG 58 1 59 =
BIKSE | 21012%xxxxxxx63227 ARg A 58 1 59 =
SRI 2101 0#*xxxxxx 76025 ARG 59 0 59 =
MBXEE | 21010%#xxxx#x23320 ARSI 59 0 59 5
FEIH | 21010%%#+xxxx20924 ARG 59 0 59 =
ZRRIE | 21010%xxxxxxx03625 ARSI 59 0 59 5
Fok 2101 0%*xxxxxx 25421 ARG 59 0 59 =
ZFER | 21010%+xxxxx81419 ATEH 59 0 59 =
TR | 21010%#xxxxx40526 ARG 59 0 59 i
STIE | 21010%xxxxxxx34327 AT 59 0 59 =
=IA 21010%#xxxx%x54020 AR 59 0 59 =
HKBT | 21010%+xxxxx94023 ARG 59 0 59 =
FE | 21010%0##xxxx86169 AT 59 0 59 &
MAT | 21011x0xxxxxx91529 AR 59 0 59 5
£ 2101 Lxxrrnrrx 74223 AR 59 0 59 =
KA | 2101 1xxxrrxxx03633 ARG 59 0 59 =
F® 2101 Lwwwrrrrx2001X AR 59 0 59 =
BEEIE | 2101 1xxexxxxx20029 ARG 59 0 59 =
X & 2101 1#*xxxxxx15146 AT 59 0 59 5
PUES 2101 2xxxxxxxx10941 AR 59 0 59 5
REUH | 21012%0x00xxx13022 AT 59 0 59 =
oK i 21018###x#x##*x 75514 ARG 59 0 59 =
FHISC | 21018##xxxxxx8402X AT 59 0 59 5
2E 21038#xxxxxxx80422 AT 59 0 59 =
=R 21052%xxxxx%x90043 ARg A 59 0 59 &




BREM | 21080%kwrxxxx14522 AT 59 0 59 5
EIGAE | 21101%xxxxxxx25515 AR 59 0 59 5
FRU | 21110%+#xxxxx91512 AT 59 0 59 5
SRIELE | 21142%%xxxxxx55048 ARg R 59 0 59 5
(EIE= 2101 0%x5nxxx04712 ARG 56 2 58 5
FEM | 2101000000055 73434 ARg R 56 2 58 5
R | 21010%00xxxxx07220 AT 56 2 58 5
FFiR | 21010%xxxxxxx36928 ARG 56 2 58 =
@575 | 21010%xxxxxxx70912 ARG 56 2 58 5
BB | 21010%%+xxxx94018 ATGH 56 2 58 =
JIEER | 2101 1xxxxrnrx1332X AT 56 2 58 5
WE 2101 2#xxxxxx%x 24320 ATGH 56 2 58 =
REEF | 21110%+#xxxxx41324 AT 56 2 58 5
EBE | 21132%0000+x78023 AR 56 2 58 5
= 21010 xxr##%84219 ARG 58 0 58 &
BE 1521 0xxxxx##x33010 ATGH 58 0 58 &
FH i 1521 Qxxxxrrxx80343 AT 58 0 58 5
KR 2101 0#*xxxx*+85339 ATGH 58 0 58 &
BEIE | 21010%xxxx#x56643 AT 58 0 58 5
EEY | 21010%%#+xxxx30320 ATGH 58 0 58 =
B | 21010%xxxexxxd5844 AT 58 0 58 5
BRI | 21010%xxxxxxx8142X ATGH 58 0 58 =
PN 21010#*xxxxxx92822 AT 58 0 58 5
FREE | 21010%0#xxxxx43729 ATGH 58 0 58 =
EC 2101 0#*xxxxxx45345 ARG 58 0 58 5
RFEE | 21010%%#xxxxx15513 ATg i 58 0 58 &
BT 21010%xwkxxxx 23040 AT 58 0 58 5
rE 21071 0#*xxxxx%x 75842 ARG 58 0 58 =
K 21071 0#*xxxxxx3554% ARSI 58 0 58 5
£5 2101 0#*xxxx#*x53321 ARG 58 0 58 =
FE#FE | 21010%xxx0xxx12129 ARSI 58 0 58 5
BF 2101 1##xxxxxx50629 ARG 58 0 58 =
%% 2101 1xxxrrxxx06814 ATEH 58 0 58 5
BE 2101 2%xxxxxxx42024 ARG 58 0 58 =
=) 2101 8###rrrxx12721 ARg A 58 0 58 =
ThE 21018#xxxxx%x85220 AR 58 0 58 =
XIESE | 21030%xxxxxxx81644 AR 58 0 58 5
EVE | 21042%0xxx5x60065 AT 58 0 58 =
SRERES | 21050%xxxxxxx90623 AR 58 0 58 5
FHEZ | 21062%00xx+xx94920 AT 58 0 58 s
BXTKTE | 21072%xxxxxxx64126 AR 58 0 58 5
oKIE 21122 xxx5x%%%x10668 ARG 58 0 58 5
e lz] 21132#xxxxxxx66126 ARG 58 0 58 =
B | 22040%xxxxxxx03015 AT 58 0 58 5
=i 51110%xxxxx%x40063 AR 58 0 58 5
Xt 15040%#####+x52044 AR 55 2 57 &
RA 21010%x##xxxx 75015 ATGH 55 2 57 =
BB | 21010%x#xxxxx54419 ARG 55 2 57 5
R | 21010%xx0exxx7562X AT 55 2 57 &
FNZETT | 21010%kxxxxx74825 ATGHR 55 2 57 =




TRIWFB | 21010%wwwxxxx25523 ARG 55 2 57 5
{13 21140%xxxxxxx90245 ATGH 55 2 57 =
% 21148 xxxxxxxx12027 AR 55 2 57 &

BRI | 22020%xxxxxx13316 AT 55 2 57 =
i 23022 xxxx#x#xx93625 ARG 55 2 57 5
=i 23230 xxx##xx41325 ARG 55 2 57 =

GIAREN | 21010%%#xxxxx05618 AT 55 2 57 5
55 21010%xxxxxx30423 AT 57 0 57 =

A8 | 21010%xxx##xx0532X 4Arg 57 0 57 5

BRIBTK | 21010%xxxxxx42425 AT 57 0 57 =

FED | 21010%xxxxxx41719 ARG 57 0 57 5
XIE 21010#*xxxxxx4401X AT 57 0 57 =
EE 21010%xxxxx%% 70912 AR 57 0 57 &
548 2101 0#*xxxxxx84331 ATGH 57 0 57 &

BERME | 21010%xxxxxxx8122X AT 57 0 57 &

FARIG | 21011xwsxxxxx12527 AR 57 0 57 =

kA% | 21011xexxxxx60811 ARG 57 0 57 5

FEN | 21012%0kxxxxx40211 ATGH 57 0 57 &
i 21018#xxxxxxx26147 AT 57 0 57 5

HETT | 21018sxsxxxxx45224 AR 57 0 57 =

XA | 21022%xxxxxxx80284 AR 57 0 57 &
FE 21042%xxxxxxx90421 ATGH 57 0 57 =

TUEE | 21050%kxxxxx50626 AT 57 0 57 5

RELSE | 21062%0xxxxx30663 ATGH 57 0 57 =

BRMIAR | 21132%kkxxxxx71546 AT 57 0 57 5
=& 21148#*xxxxxx02528 ARG 57 0 57 =

AR | 22240%kxxxxxx82221 AT 57 0 57 5

AR, | 21010%%xxx54%26926 ARG 54 2 56 5

XIPHB | 21010%ksxxxxx25612 ARSI 54 2 56 5
XA 2101 0#*xxxxx%x7502X ARG 54 2 56 =

TFH | 21010%%#xxx%93013 AT 54 2 56 5

XU | 21010%%#xxxxx30049 ARG 54 2 56 i
5K X 2101 1xxrrrrrx43229 ARG 54 2 56 5

X | 21012%kkxxxxx50012 ARG 54 2 56 =

KERE | 21018%xxxxxx58325 ATEH 54 2 56 5
i 21078xxxxx##xx03826 AT 54 2 56 5

TRERAN | 21100%xxxxxxx72029 AR 54 2 56 5

BIEEE | 23230%xxxx%x90028 ATGH 54 2 56 =

TR R | 21122%%xxxxxx18367 AR 55 1 56 )

ERIEE 21071 0#*xxxxxx21849 AT 54 2 56 =
s 3 21010#*xxxxxx4302X AT 54 2 56 &

MiZEC | 21092xxxx5kxx17524 ARG 56 0 56 5

THRIE | 21010%xxxxx50621 ARG 56 0 56 =
R 2101 0%xxxrnx#%41817 AR 56 0 56 &

T4 | 21010%xxxxxxx91727 AR 56 0 56 5

FEHE | 21010%xxxxxxx23736 AR 56 0 56 &
FiF 2101 0%xxxxx#x2192X AR 56 0 56 5
2R 2101 0#*xxxxxx2304X AT 56 0 56 5
=4t 2101 1xxxxxrxx30521 ARG 56 0 56 =
F3E 2101 1#xxxxxxx63820 AT 56 0 56 5




BAE | 21011xexxnnx36421 AT 56 0 56 5
L | 21012%x0xxx00011 ARG 56 0 56 =
B 2101 2#*xxxxxx5166X AT 56 0 56 5
HEE | 21012%xxxxxxx02429 ARG 56 0 56 =
BEF | 21072%xxxxxx51544 AT 56 0 56 5
S 21122%xxxx55xx0552X ARg R 56 0 56 5
1R 23022#*xxxxxx00628 AT 56 0 56 =
Hi 41088*xxx#xxx17526 ATGH 56 0 56 =
NS 21010%xxxxxxx15323 4Arg 53 2 55 5
EXRH [ 21010%x+x0xx15620 ATGH 53 2 55 =
KUY | 21010%xxxxxxx52829 ATg3H 53 2 55 =
FUPIN 21010%xxxxxxx05342 ARg R 53 2 55 5
BZEER | 21010%%xxxxx03126 AT 53 2 55 5
= 21032sxxx5x5%x00832 AR 53 2 55 5
X1/ 45 21040#*xxxxxx8032X ARG 53 2 55 5
(5 2107 Lxxrrrxxx 74416 ATGH 53 2 55 &
e 2201 2%xxxxxxx04221 AT 53 2 55 5
SetE | 23010%xxxx#x67316 AR 53 2 55 =
=¥ 2107 0%xxxxxxx4381X AT 54 1 55 5
ZEFE | 21010%0xxxx03414 ATGH 55 0 55 &
ZS[fT 21010#*+x+xxx90326 AT 55 0 55 5
BRIFSC | 21010%xxxxxxx75746 ATGH 55 0 55 &
= 21010#*xxxxxx24619 AT 55 0 55 =
EBL | 21010%0#xxxx80023 ATGH 55 0 55 =
XER | 21010%xxx+#xx84015 ARSI 55 0 55 5
MBS | 2101 1xxxxxxx34226 ARG 55 0 55 i
BRIEE | 2101 1smerxxxx53823 ARSI 55 0 55 5
PRk 2101 1##xxxxxx03826 ARG 55 0 55 =
2B 2101 1xxrwxxxx51827 AT 55 0 55 =
SEM | 21012%0000xxx30426 ARG 55 0 55 &
MAKSR | 21012%xxxxxx90214 AT 55 0 55 =
={E 2101 8#*xxxxxx08320 ARG 55 0 55 =
BIF(E | 21018#xxxrexx58021 AT 55 0 55 =
f=pi:: 21030#*xxxxxx62029 ARG 55 0 55 =
At 21050%##xxx%x11547 ARg A 55 0 55 =
ik 2107 2##wwrrrxx6001X AR 55 0 55 =
FMEZ | 21078xxxxxxxx53418 AR 55 0 55 5
B 21090%x##x##% 71026 ARG 55 0 55 5
KRE | 21090%#xxxxx61025 AR 55 0 55 =
REF | 21110%xxxxxxx51539 AT 55 0 55 &
il 21122#xxxxxxx65322 ARG 55 0 55 =
=3 23030 xxxxxxx04021 AT 55 0 55 5
2B 2101 0#*xxxxxx75312 AT 52 2 54 &
e 2101 0%xxxxxxx4532X AR 52 2 54 &
PEW | 21010%xxxx+x86629 ARG 52 2 54 =
FLPF | 21010%xxxxxxx44215 AR 52 2 54 &
XEEE | 21010%+wxxxxx32332 ATGH 52 2 54 =
XI5 21010#*xxxxxx70370 AT 52 2 54 5
== 2101 1#xxxxxxx90647 AT 52 2 54 &
ok 3k 21128#xxxxxxx80425 AT 52 2 54 5




o 21128#*xxxxxx10815 AT 52 2 54 =
EL7 21010#*xxxxxx96322 ATGH 52 2 54 =
H#FE | 21010%x#xxxxx85630 AT 52 2 54 =
FEEI | 21138xxxxxxxx10820 ARG 52 2 54 =
FREREAR | 14260%#xxxxx51029 ARG 54 0 54 5
BEE | 21010%0exxxx04721 AT 54 0 54 =
ES 21010%##xxx%x01525 AR 54 0 54 )
SR | 21010%mxxxxx21821 AT 54 0 54 =
X | 21010%0xxxxx22144 AT 54 0 54 =
FEFFF | 21010%xxx##xx83127 AT 54 0 54 =
RS | 21010%%xxxxx03437 AT 54 0 54 =
ESHE | 21010%%xxxx90028 ATGH 54 0 54 =
FE 21010#*xxxxxx01679 ATGH 54 0 54 =
KkEE 21010%xxxx##xx95526 AR 54 0 54 =
Z1l 21010%##xx%%%14918 AR 54 0 54 )
EF | 21010%+##xxxx02529 ATGH 54 0 54 &
2SI | 2101 1xxxxexxx81026 AT 54 0 54 =
XIEM | 21012%0xxxxx82816 ATGH 54 0 54 &
oE 2104 2% xxxxxxx60222 AT 54 0 54 =
BT | 21060%xxxxxx01025 AT 54 0 54 =S
FEIH | 21072%x00%+xx20320 ARG 54 0 54 5
23k 21100#*xxxxx%x73129 ATGH 54 0 54 =
FBLT | 21122%0xxxxx02823 ARG 54 0 54 5
faT Bk 2101 0%*xxxx#% 75621 ATGH 51 2 53 =
FLE | 21010%xxxxxxx8564X ARg A 51 2 53 =
BT | 21010%kxxxxx40629 ARG 51 2 53 =
1238 21010#*#xxxxx95317 AT 51 2 53 5
L= | 21010%xxxx#x 75620 ARG 51 2 53 =
K 21010#*xxxxxx45545 ARG 51 2 53 5
FFE | 21010%xxxxxx44927 ARG 51 2 53 =
pUpES 2101 2%55xx5%%82222 ARg A 51 2 53 =
FHEF | 2207200xxxxx20064 ARG 51 2 53 =
BKCHE | 21010%#xxxxx85722 ATEH 53 0 53 5
FAARER | 21012%kkkxxxx63220 ARG 53 0 53 =
XFHRE | 21010%xxxx##x84128 ARG 53 0 53 5
IR 2101 0%xxxxx##x80327 AT 53 0 53 s
BB | 21010%xxxx+x00919 ARG 53 0 53 =
EB4R 2101 0#*xxxxxx1401X AT 53 0 53 =
FE 2101 0%xxxx##x95823 AR 53 0 53 5
ZHEY | 21010%0xxxxx03314 AT 53 0 53 =
BkZIEL | 21010%xxxxxxx2362X ARG 53 0 53 =
XEBF | 21010%+#xxxxx94322 AT 53 0 53 &
BRI | 21010%xxx#xxx4551X AR 53 0 53 5
Fb= 2101 1xxxrnrxx54219 AR 53 0 53 5
FTESE | 21011x+xxx80023 AR 53 0 53 =
BiEEE | 21012%000006%80024 AR 53 0 53 )
%= 21040%xxxxxxx02724 AR 53 0 53 5
X 21050#*xxxxxx10942 AT 53 0 53 =
BEPRAE | 2107 2%xxxxnex1032X ARG 53 0 53 =
F=x 21088#*xxxxxx97088 AT 53 0 53 =




ETRTE | 22018%+#xxxxx50024 ATg i 53 0 53 &
R 21010%xxxxxxx35611 AR 50 2 52 5
BARE | 21010%xxxexxx35647 AT 50 2 52 =
BRAAB | 21010%+#xxxxx81524 AT 50 2 52 =
232 | 21010%%xxxxx60316 AT 50 2 52 =
SBRBREE | 21010%0exxxxx62223 ATGH 50 2 52 =
FKER | 21010%xxxxxxx74040 AT 50 2 52 =
XEREE | 21120%%%%%xxx40026 ARG 50 2 52 =
EDs 21122#xxxxxxx40810 AT 50 2 52 =
B 23050%xxxxxx71148 ATGH 50 2 52 =
BYKEL | 21010%+xxxxxx24421 AT 52 0 52 =
SHEN | 21010%+xxx+x10926 ATGH 52 0 52 =
BHEIE | 21010%+xxxx#x0392X AT 52 0 52 =
B8 2101 0#*xxxxxx 74920 ATGH 52 0 52 &
Fi 21010#*#xxxxx 75320 AT 52 0 52 =
BRI | 21010%xxxxxxx34328 AR 52 0 52 )
SEONTE | 21010%+#xxxxx91217 AT 52 0 52 =
BKEFEE | 21010%xxxx+#+x60313 AR 52 0 52 )
S | 2101 1xewrrxxx16826 AT 52 0 52 =
=% 2101 1##xxxx*x55929 ATGH 52 0 52 &
mE 2101 Lxxrrrxxx 90629 AR 52 0 52 )
&l 2101 2#*xxxxxx80018 ATGH 52 0 52 =
23 21018*xxxxxxx82421 AT 52 0 52 =
FNERE | 21018%0xxxxxx04644 ARG 52 0 52 =
oA 21018xwwxxxx48313 AT 52 0 52 5
XHHAB | 21050%xxxx##x71835 ARG 52 0 52 =
NEIT | 21122%0xxxxxx30041 AT 52 0 52 5
Bl ¥ 23100#*xxxx#x30021 ARG 52 0 52 =
BEEHT | 33032kxxkkxxx11245 AT 52 0 52 &
FNINLT | 15040%kxxxxnx14322 ARG 49 2 51 =
EHEHE | 21010%xxx0xxx85626 ARG 49 2 51 5
EEKFK | 21010%xxxxxx0302X ARG 49 2 51 =
BEER | 21010%xxxx+x65329 ATEH 49 2 51 5
BEIE | 21052%kkkxxxx70024 ARG 49 2 51 =
ERFE | 21100%x0#xxxx02225 ATEH 49 2 51 5
FEE | 21138smwrxxxx40424 ATg i 49 2 51 &
XE 21010#*xxxxxx05314 AT 50 1 51 &
BRKIE | 21068#+xxxxxx73263 AT 50 1 51 =
ZHREF | 21010%#xxxx#x30921 ARG 51 0 51 =
RE 2101 0%xxxx##x01823 AR 51 0 51 5
ZEE | 21010%0exxxxx16127 AT 51 0 51 &
Fik 2101 Lrwrrrrrx65041 AR 51 0 51 5
BRIEFF | 21018xxwxxxxx3802X ARG 51 0 51 =
] 21060**xxxx%x32023 AR 51 0 51 5
=F 21062#*xxxxxx07542 AT 51 0 51 &
B | 21088sxxxxxx20016 ARG 51 0 51 5
3+ 21102#*xxxxxx42926 AT 51 0 51 &
TIXEE | 23100%xxxxxx60547 AT 51 0 51 =
BB | 21010%xxxxx05021 ARG 48 2 50 =
SEIL | 21010%xxx+xxx83018 ATg 48 2 50 &




XFEE | 21010%+*xxxxx16021 AT 48 2 50 =
HEFF | 21011sexxxxx94242 AR 48 2 50 5
FERE | 21012%+xxxxx50620 AT 48 2 50 =
el 2101 2%xxxxx%x91440 ARg R 48 2 50 5
T35 21052#*xxxxxx81384 AT 48 2 50 =
SRSF(E | 23232#kxxxxx10091 ATGH 48 2 50 =
SKINSC | 21010%xxxxxxx1301X AR 50 0 50 )
PR 2101 0%##xxx%x84919 ARG 50 0 50 =
ki 21010 wkxxxx21939 AT 50 0 50 =
ZIME | 21010%kxxxxx25516 ARG 50 0 50 =
RERAS | 2101 1wxxrrexx03421 AT 50 0 50 =
Ex 2101 Lrwrrrrrx 20044 ARg R 50 0 50 5
AR | 2101 1xxxxexxx86023 AT 50 0 50 =
(EES 2101 2%kwxxxxx11814 ATGH 50 0 50 =
FNEE | 21012%xxxexx10321 AT 50 0 50 =
B 2101 2%xxxxxx50013 ATGH 50 0 50 =
AR | 21012xxxxxxxx44229 ARG 50 0 50 5
i 21018x#xxxxx58095 ATGH 50 0 50 =
Tl 21018xxxxx##+x98319 ARG 50 0 50 5
BT | 21018xxxxrxxx56547 ATGH 50 0 50 =
MRIABA | 21018xxwxxxxx28026 ARG 50 0 50 5
e 21081 xxwwxxxx21528 ATGH 50 0 50 =
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TEIF{E | 21012%xxxxxxx2081X S5OERE 66 0 66 =
BB | 21018%xxxx#xx08320 5O BRI 66 0 66 s

R 2101 Lrwrrrrrx60025 S5OERE 62 3 65 =

RE 21010#*+xxx*+05326 5O B 63 2 65 s
ZKAF | 21010%xxxxxx65015 SO RS 63 2 65 =
BRARER | 21010%+#xxxxx04128 5O B 63 2 65 =
FBER | 21010%#####+x05021 S5OERE 63 2 65 5

LA 21010%xxxxx%%34328 SO E&E 63 2 65 &
I8 | 21120%xxxxxxx61300 S5OERE 63 2 65 =

=5 21130#*xxxxxx93226 5O B 63 2 65 =

B 2101 0%xxnx#%23425 S5OERE 65 0 65 =
SR | 21010%xxxxxxx0154X 5O B 65 0 65 =

®A 2101 0%xrnxxx13324 S5OERE 65 0 65 =

ESpoN 2101 8#*xxxxxx18322 5O B 65 0 65 =
BT | 21038xxxxxxx4532X S5OERE 65 0 65 =
BRAKTH | 21010%xxx#%x13126 5O B 61 3 64 i
BEHE | 32118xxxexxxx03321 S B&E 61 3 64 5
RWE | 21010%x00xxxx26629 5O BRI 62 2 64 =
BEEREE | 21010%xxxxxxx45329 S5OERE 62 2 64 =

g E 22020 xx#xx##x84517 SOERE 62 2 64 5

X $% 21010%xxxxx%x02736 S5OLERE 63 1 64 &
IR | 23028xxxxkxxx80422 S5O ERE 63 1 64 =

pdjis 2101 0%#####%x50341 S5OLERE 64 0 64 &
TR | 21138swsxxxxx33522 SLERE 64 0 64 5
FRIEEE | 23080#xxxxxxx70387 S B&E 64 0 64 &
RIBEE | 21122%00xxxxx20219 S5O ERE 60 3 63 =
HRAT | 21010%xxxxxx25325 S5O ERIE 61 2 63 &

Sk B 21010%x##xxxx55343 5L ER T 61 2 63 =
BRI | 21010%xxxxxxx46656 S5OLERE 61 2 63 &

I 21010%x##xxxx00340 5L ER T 61 2 63 =
REB | 21010%0xxxxx80342 5L BRI 61 2 63 s

FhE 21018#xxxxxxx23726 S5O ERE 61 2 63 =

ol Ik 21010#*xxxxxx80027 5L BRI 62 1 63 s
FBLIH | 21010%#xxxexx74321 5L ERE 63 0 63 =
F—MR | 21010%+#*xxxx84028 SO BRI 63 0 63 s
FREZZE | 21011xxxxxxxx50626 S5O ERE 63 0 63 =

= 2101 8#xxxxxxx23144 SO RS 63 0 63 s

EBMS 2101 0%*xxxxxx64116 S5O ERE 60 2 62 =
AT | 21010%kxxxxx23729 SO RS 60 2 62 s

XE 21010 xxxwkxx 73725 S5O ERE 60 2 62 =
BEKTF | 21010%kkxxxxx74419 SO RS 60 2 62 s
FMEFRE | 21010%xxxxxxx57220 S5OERE 60 2 62 5
BAfERR | 21010%+#xxxxx85321 SO BRI 60 2 62 &
SKERHE | 21010%xxxxxxx9172X SOERE 60 2 62 5
ZWF | 21010%00xxxxx83727 SO BRI 60 2 62 s




ETAT | 21028#xxxxxxx85029 5L RR A 60 2 62 &
pUpES 21038 #xxxxxx%31429 S5OERE 60 2 62 5
R 21038 wkxxxx31622 5L RE A 60 2 62 &
F1 5 21072 xxxx#xxx01720 SO ERE 60 2 62 =

SPE | 22040%x0000x1142X 5L R 61 1 62 &
xE 2101 0%#xxxxxx63427 S5OERE 60 2 62 =

EER | 21010%0x00x62126 5L R 62 0 62 &

=M, | 21010%%xxxxxx7612X S5OERE 62 0 62 5
oo 21010%#####%x54011 SO E&E 62 0 62 &

AR | 21012%xxxxxxx92023 S5OERE 62 0 62 N
A 21012 kwkxxxx 72827 5L RE A 62 0 62 &
RE 21050#######x40321 S5OERE 62 0 62 5
ik 21010 wkxxxx 74723 5L RE A 59 2 61 &
HE 2101 0%xxxx##%11518 S5OERIE 59 2 61 &

BEE | 21010%xxxxxxx35329 5L RE A 59 2 61 &

BIXE | 21010%xxxxxx+86626 5O 59 2 61 &

FEE | 2101 1wxmrrnxx3142X 5L RE A 59 2 61 &
7% 21018xxxxxx#x08347 S5O BRIE 59 2 61 5
A 21138 #xxxxxxx35624 5L RE A 59 2 61 &
ki 21010%x#xxxxx02720 S B&E 61 0 61 =
=i 21010%swxxxxx44011 5L RE A 61 0 61 &
TE 21010%xxxxx%% 71220 S5O ERIE 61 0 61 )
SES 21010#*xxxxxx91245 5L RE A 61 0 61 &
B 2101 Lrwwrrnnn2152X S5O ERIE 61 0 61 )

ITFE | 21011xx#xxxxx80603 S5O ERE 61 0 61 5

STRUAE | 21010%xxxxxxx55647 S5OLERE 58 2 60 &

R | 21010%+x+x+x15318 5L ER T 58 2 60 =

XIFRAE | 21010%xxxx#x75017 S5O ERIE 58 2 60 i
R 21010 xxxnxxx11726 SLERE 58 2 60 5

BIEIR | 21010%kxxxxx26120 S B&E 58 2 60 &
oK 2101 0#*xxxxxx80917 SLERE 58 2 60 5

FAEEAE | 21088xsxxxxx83520 SO B&E 58 2 60 =

ST | 23052%kkxxxxx91745 S5O ERE 58 2 60 5

XEBE | 23233wcxxxrnx6122X SO B&E 58 2 60 =
i 21128 xxxxxxx33821 SLERE 59 1 60 5

FBRA | 21010%+xxxxx64629 5L BE 58 2 60 &

TEFF | 21010%xxxxxxx01265 S5O ERE 60 0 60 =

FRGEEE | 21010%xxxxx21219 5L BE 60 0 60 &
SiKER 21010%x##xxxx80429 S5O ERE 60 0 60 =

FEONEL, | 21010%#xxxxxx31425 5L BE 60 0 60 &

BREREE | 2101 1xxwxxxxx56842 5L ERE 60 0 60 =
=% 21012 +wxxxxx90923 5L BE 60 0 60 &

TREHMG | 21010%xxxxxxx71025 S5O ERE 57 2 59 =
TR 21010 ##xxxx35029 5L BE 57 2 59 &

BREBE | 21010%+*xx+x83724 S ERE 57 2 59 =

FAE | 21010%xxxx##x25347 SO RS 57 2 59 s

F—N | 21010%x#xxxxx36622 S5O ERIE 57 2 59 =

XfEE | 21010%+#*xxxx75013 5L RR A 57 2 59 &

XWTF | 21010%xxx###x82524 S5O ERE 57 2 59 =

F4E&R | 21032%0#xxxxx63066 SLRR A 57 2 59 &




NEEES |  21088xxxrxxx84689 5L RR A 57 2 59 &
BRETE | 21090#xxxxx60028 S5O ERE 57 2 59 =
T 21128xxsrwkrx 70022 5O BRI 57 2 59 &
FiE 2201 0%#wrrrxx21621 S5OERE 57 2 59 =
e | 21011xxxxxxxx26028 5L R 58 1 59 &
[TZ4E | 37112%##wxxxx20611 S5OERE 59 0 59 =
AXEIE | 14022%0xxxxxx60011 5L R 59 0 59 &
LERE | 15042%mxx4006X S5OERE 59 0 59 =
S% T | 21010%xxxxxx97239 5L RE A 59 0 59 &
BKIRIE | 21010%xxxxxxx04519 S5OERE 59 0 59 5
MBI | 21010%++xxxx32021 5L RE A 59 0 59 &
FHEE | 21010%xxxxxxx80422 S5OERE 59 0 59 5
EXCHE | 21010%xxx###x33323 5L RE A 59 0 59 &
H—E | 21012%xxxxxxx60626 S5OERE 59 0 59 =
BEEIH | 21012%0xxxx+x10329 5O BRI 59 0 59 =
TEM | 21088x#xxxxxx00031 S5O BRIE 59 0 59 5
FREE | 21112%#xxxxxx3002X 5L RE A 59 0 59 &
FB— | 21010%xxxx#x45338 S5OERIE 56 2 58 =
BRI | 21010%xxxxx%x26025 5O B 56 2 58 i
BEEPR | 21010%00xxxxx23429 S B&E 56 2 58 =
Bk 21010#*xxxxxx60940 5L RE A 56 2 58 =
XFBZR | 21050%x#+xxxx60303 SO RIS 56 2 58 =
FihRe 21052#*xxxxxx60049 5L RE A 56 2 58 =
(5971 37292%xxxxxxx30026 SO RIS 56 2 58 5
T 4307 2xxxxxxxx21301 SOERE 56 2 58 5
B3/ 21010#*xxxxxx80020 SO ERIE 57 1 58 &
fhE 21071 0#*xxxxxx96028 S5O ERE 56 2 58 5
FAREY | 21010%xxxxxxx65317 S5OLERE 58 0 58 &
MFE | 21010%xxx++xx86028 S5O ERE 58 0 58 =
TEIF | 21010%xxxx#x75828 S5OLERE 58 0 58 &
RER | 21010%xxxx+x30316 S5O ERE 58 0 58 =
ZEE | 21010%xxxxxxx11022 S5OLERE 58 0 58 &
X1+ 2101 1xxrwrxxx30022 5L ER T 58 0 58 =
ZFHE | 21011x0000xx33620 S5OLERE 58 0 58 &
BROESE | 21018%mrrxxxx68043 S5O ERE 58 0 58 =
MIEZ | 21040%xxxxxxx40947 SO EE S 58 0 58 &
%% 21052 xwkxxxx2003X 5L ERE 58 0 58 =
FHERS | 21120%xxxxxxx61295 SO EE S 58 0 58 &
ER#E 21122#xxxxxxx92228 S5O ERE 58 0 58 =
Xl 21138 #xxxxxxx10821 5L BE 58 0 58 &
FHFF | 22018%kxxxxxx30221 5L ERE 58 0 58 =
OERiE | 23020%xxxxxxx40048 5L BE 58 0 58 &
oK i 2101 0%xxxxxxx85721 SLERE 54 3 57 =
BRFEL | 14060%+xxxxxx41620 5L BE 55 2 57 &
=73 21071 0#*xxxxxx85379 S5O ERE 55 2 57 =
FLAR 21010#*xxxxxx05345 5L BE 55 2 57 &
FNEEE | 21010%#xxxxxx45329 S5OERE 55 2 57 5
KARWF | 21010%%xxxxxx25029 5L RR A 55 2 57 &
B3 21010 xxx###x95822 SL,ERE 55 2 57 =
FRZEH | 21120%x%xxxxx31303 SLRR A 55 2 57 &




SotEHE | 21130%kxxxxx11622 5L RR A 55 2 57 &
X & 2101 2%xxxx55%40625 S5OERE 57 0 57 5
KETE | 21012%x000+#xx82726 5O BRI 57 0 57 &
FNE 2101 0%#xxxxx% 25362 S5OERE 54 2 56 =
Xy 21010#*+xxxxx83438 5L R 54 2 56 &
TR | 21010%xxxxxxx66044 S5OERE 54 2 56 =
IR [ 21010%xxxxxx16619 5O BRI 54 2 56 &
&R, 21050%####x%x90323 S5OERE 54 2 56 =
FREFH | 21010%xxxxxxx00313 SO E&E 56 0 56 &
FNEE | 21010%xxxxxxx84622 S5OERE 56 0 56 5
ZHPA | 21010%xxxxxx01726 5O B 56 0 56 =
KRATE | 21010%xx00xx72225 SO ERE 56 0 56 =
EH= | 21010%%xxxx04612 5O B 56 0 56 &
Xk 2101 1xxxrxx#xx90027 S5OERIE 56 0 56 )
XERAE | 21012%kkxxxxx62733 5O B 56 0 56 &
XURA | 21050%xxxxxxx42127 S5O BRIE 56 0 56 5
E[E2S 21090**xxxxxx40527 5L RE A 56 0 56 &
BEEH | 21132%xxxx41348 S5O BRIE 56 0 56 5
FREE | 23118%+wrxxxx74822 5L RE A 56 0 56 &
TRIR 2101 0%xxxx##%46629 SO RIS 53 2 55 5
BBk 21010#*xxxxxx33722 5O B 53 2 55 &
FXET| 21010%xx#xxxx85024 S B&E 53 2 55 =
FEER | 21010%xxxxxxx10624 SO E&E 53 2 55 &
[ 2101 0%xxxx#%%10928 S5O ERIE 53 2 55 &
AW | 21011 xxxrnnrx12625 S5O ERE 53 2 55 5
=2 2104255 xxx5%x%82626 S5OLERE 53 2 55 &
BEE | 21010%+xxxxxx50621 5L ER T 55 0 55 =
ok Tk 2101 0%xxxx##%81529 S5OLERE 55 0 55 &
IS 21010%x#xxxx54824 5L ER T 55 0 55 =
SKEME | 21010%%#xxxxx65410 S5O ERIE 55 0 55 i
&7 21010#*xxxxxx 74326 S5O ERE 55 0 55 =
Tt 21010%xxxxx%x41026 S5OLERE 55 0 55 &
RN 2101 0%x#kxxxx6033X 5L ER T 55 0 55 =
% | 21012##xxxxxx62426 S5OLERE 55 0 55 &
TR | 21012%0xxxxx11016 S5O ERE 55 0 55 =
BB | 21012%0xxxxx10028 5L BE 55 0 55 &
ZELH | 23900%xxxkxxx82327 5L ERE 55 0 55 =
BRI 21010#*xxxxxx56625 5L BE 52 2 54 &
= 2101 0#*xxxxx+85365 S5O ERE 52 2 54 =
5 21010#*xxxxxx35325 5L BE 52 2 54 &
HFE | 21010%xxxxxxx61047 SLERE 52 2 54 =
B 21010#*xxxxxx95214 5L BE 52 2 54 &
OWE | 21010%+#*+xxx63822 SLERE 52 2 54 =
el 21068#*xxxxxx6045X 5L BE 52 2 54 &
XIEh3%E | 21138xxxxxxxx51814 SLERE 52 2 54 =
RN 21132sxxxx5#xx40048 SO RS 54 0 54 s
AR | 21010%%#xxxx36025 S5O ERIE 54 0 54 =
FEHE | 21010%#xxxxx41821 5L RR A 54 0 54 &
%] 21071 0#*xxxxxx80925 S5O ERE 54 0 54 =
FFIE | 21010%+#xxxxx60932 SLRR A 54 0 54 &




B b 2101 0%xrnx#% 24029 5O B 54 0 54 s
FBFENE | 21010%xxxxxxx01825 S5OERE 54 0 54 5
=5 MR 2101 1#*xxxxxx65127 5L RE A 54 0 54 &
ZFE | 2101 2%00x0xxxx94017 S5OERE 54 0 54 5
ZEE | 21040%kkxxxxx50627 5O BRI 54 0 54 s
B 2101 0%#xxxxx% 86623 S5OERE 51 2 53 =
FE 2101 0#*xxxxxx8394X 5O BRI 51 2 53 s
BBFEE | 21010%xxxxxxx13619 S5O,ERE 51 2 53 =
BREEI(N | 21038kwkrrxxx12222 5O B 51 2 53 s
BKERIR | 21040%k#xxxxx90712 SO ERE 51 2 53 =
K 21010#*xxxxxx4031X 5O B 53 0 53 =
YT | 2101 1xxrrrrxx96820 S5OERE 53 0 53 5
AXERE | 21011xexxxxxx03821 5O B 49 3 52 =
KFE | 21010%xxxxxxx04116 S5OERIE 50 2 52 =
R | 21010%+#*xxxx51025 5O B 50 2 52 =
A | 21010%kxxxxx60323 S5O BRIE 50 2 52 5
Z={F 21010#*xxxxxx 76629 5O B 50 2 52 =
XISZWF | 21050%xxxxxxx6162X S5OERIE 52 0 52 =
2E 21122%xxxxxxx16311 5O B 52 0 52 =
i 21130%xxxxxxx 72823 S5O ERIE 52 0 52 &
HE 21010#*xxxxxx 72520 5O B 49 2 51 =
B=F 21050 xxxx##x01534 S5O ERIE 49 2 51 =
BBk 21120#*xxxxxx01046 5O B 49 2 51 =
FLIREE | 21011xx#xxxxxQ0846 SO RIS 51 0 51 5
FEE | 21012%xx%x+x00425 S5O ERE 51 0 51 5
B 21060%xxxxxxx3052X S5OLERE 51 0 51 &
FHE | 23118%x###+xx92910 S5O ERE 51 0 51 5
4518 21010 xxxx#%45022 S5OLERE 48 2 50 &
EEFR | 21010%xxxx##x25312 SLERE 48 2 50 5
M | 21010%xxxxxxx03716 S5OLERE 48 2 50 &
E A1 2101 0#*xxxxxx30625 S5O ERE 48 2 50 5
B 2101085530 S5OLERE 48 2 50 &
ZZEHB | 21092%xxxx#x#x35720 S5O ERE 48 2 50 5
XIEF | 21010%xxxx##%35362 S5OLERE 50 0 50 &
KFEFF | 21010%x0kxxxx6452X 5L ER T 50 0 50 =
FHEW | 21010%%xxxxxx24943 5L BE 50 0 50 &
F2y|Li 2101 1#xsxrrrxd1215 S5O ERE 50 0 50 =
FiE 2101 1#xxxxxxx51228 5L BRI 50 0 50 s
=R 2101 2%xwkxxxx9182X 5L ERE 50 0 50 =
pUPRS 2101 8#*xxxxxx98325 SO BRI 50 0 50 s
T 21010#*xxxxxx4446X S5O ERE 47 2 49 =
B 2107 2#xxxxxxx41910 SO RS 47 2 49 s
XHEZF | 21010%#wrxxxx6412X SLERE 49 0 49 =
BEUR5E | 21010%##++xxx34917 SO RS 49 0 49 s
WEE | 21018xxxxxx01821 SLERE 49 0 49 =
e 21018#*xxxxxx47120 SO RS 49 0 49 s
X 21038 xxxxxxxx 14429 S5OERE 49 0 49 5
) 21102%*xxxxx%12921 SO BRI 49 0 49 s
TR | 21102%%000xxx9004X SL,ERE 49 0 49 5
REHE | 21010%+##xxxx35027 SO BRI 46 2 48 s




HE 21010#*xxxxxx35463 5L RR A 46 2 48 &
DI 2107 0xxxrrrxx81229 S5OERE 47 1 48 =
JTHE 21010#*xxxxxx01224 5L RE A 48 0 48 &
B 2101 0#*xxxxxx4002X SO KD 48 0 48 =
FEE | 21142%00xxxxx81229 5L R 48 0 48 &
F—1 | 21010%xxxxxxx5661X S5OERE 45 2 47 =
ZERIT | 21010%0wxxxx52218 5LERTE 45 2 47 &
Eaps) 2101 Lrwsrrrrx 71035 S5OERE 45 2 47 =
SR | 21011xxexxxx50018 5L RE A 45 2 47 &
€T 21050%##xxx5x63022 S5OERE 45 2 47 5
o 21122#xxxxxxx08722 5L RE A 45 2 47 &
B 21010%xxxxxxx 14646 S5OERE 47 0 47 5
RS 21010#*xxxxxx83127 5L RE A 47 0 47 &
IEHE | 21010%kxxxxxx76124 S5OERE 47 0 47 )
F¥E 2101 1##xxxxxx90343 5L RE A 47 0 47 &
BRI | 21120%%%xxxxx71340 S5O BRIE 47 0 47 5
Wit | 23272%xxmexxx50123 5L RE A 45 1 46 &
=k 2101 25xxxx##x91628 S5OERIE 46 0 46 )
%IBYL | 21010%xxxxxx15710 5O BRI 45 0 45 =
BN 21010%xxxxxxx42817 S5O ERIE 42 2 44 )
BRI | 21010%kxxxxx02124 5L RE A 44 0 44 &
Ep= 23232%xxxxxxx41423 S B&E 44 0 44 =
BRI | 21078%x#xxxxx83817 5L RE A 41 2 43 =
FRATTE | 21040%#xxx1032X S5O ERIE 43 0 43 )
T8 1E | 2107 2%xxxxxxx90325 SOERE 43 0 43 5
X4 21010%xxxxx%x80327 S5OLERE 41 0 41 &
ZIRFE | 22038xxwxxxxx84640 S5O ERE 38 2 40 =
S 3R 23232xxxxxx%xx90443 S5OLERE 40 0 40 &
& 15040%##xxx#x30010 5L ER T 37 2 39 =
BRI | 21010%00000%%95025 S5OLERE 35 2 37 &
REB | 15040%x0kxxxx1102X S5O ERE 37 0 37 =
X|FZE | 21011xesxxxxx93811 S5O ERIE 37 0 37 i
BE 21010%x##xx%x93929 S5O ERE 36 0 36 =
FiEX | 15210%xxxxxxx91236 S5OLERE 34 0 34 &
SRR | 21088xkkkxxxx22700 S5O ERE 0 2 2 5
FiB 21032#xxxxxx%x21216 5L BE 0 2 2 &
BEBE | 21010%xx00+x72829 S5O ERE 0 2 2 =
T38| 21010%kxxxxx15319 5L BE 0 2 2 &
FE 21071 0#*xxxxxx15329 S5O ERE 0 2 2 =
= | 21010%00000x%05010 SO BRI 0 2 2 s
I8 2101 0%xxxxxxx6501X SLERE 0 2 2 =
ABfE 2101 0#*xxxxx%x2532X 5L BE 0 2 2 &
22k 2101 0%xxxxxxx1722X SLERE 0 2 2 =
RERR 2101 0%xxxxx%%66660 SO ERE 0 2 2 &=
£ 2101 0#*xxxxxx56622 SLERE 0 2 2 =
Bk—5 | 21010%k#*xxxx45319 5L BE 0 2 2 &
BFEF | 21010%xxxxxxx65326 S5OERE 0 2 2 5
BEE | 21010%%#xxxxx15024 5L RR A 0 2 2 &
FHE | 21010%xxxxxxx07225 SOERE 0 2 2 5
ERR | 21010%kxxxxxx21224 SLRR A 0 2 2 &




IREE | 21010%++x+*++86618 5L RR A 0 2 2 &
FEZE | 21010%####++x96621 S5OERE 0 2 2 5
KRNI | 21010%xxx0xxx82129 5L RE A 0 2 2 &
BKRIH | 21010%xxxxxxx3272X S5OERE 0 2 2 =
BRI | 21010%#sxxxxx5062X 5O BRI 0 2 2 s
TCHEAE | 21010%kkxxxxx23427 S5OERE 0 2 2 =
BRERTE | 21010%xxxxxxx41985 5L R 0 2 2 &
EHI— | 21010%xxxxxxx43426 S5OERE 0 2 2 =
R 21010%#xxxx%x54620 SO E&E 0 2 2 &
SIIT | 21012%xxxxxxx04224 S5OERE 0 2 2 5
R | 21018xxkexxxx0831X 5O B 0 2 2 =
Sl 21050#*xxxxxx50014 SO ERE 0 2 2 =
RE 21050 k#kxxxx80322 5L RE A 0 2 2 &
IEES 21062#*xxxxx%x 70942 S B&E 0 2 2 =
23R 21110%swkxxxx91723 5L RE A 0 2 2 &
BIRFE | 21122%00xxxx62713 S B&E 0 2 2 =
N 2101 1xxxrrrxx56039 5O B 0 1 1 =
pUES 21142%xxxxxxx96823 S B&E 0 1 1 =
INEH | 21010%0xxxxx11226 5L RE A 0 0 0 &
FLHeHE | 41032%xxxxxxx39606 S B&E 0 0 0 =
K= 2101 0%xxxxxxx9122X 5O B 0 0 0 =
B | 21010%xx#xx90320 S B&E 0 0 0 =
BIH | 21010%kkxxxxx81852 5L RE A 0 0 0 &
(L 21010#*xxxx**54646 S B&E 0 0 0 =
S 21010%xxxxxxx61411 5L ER 0 0 0 =
pd= 21010%##xxx%x05826 S5OLERE 0 0 0 &
TE 21010#*xxxxxx61022 5L ER T 0 0 0 =
FETPR | 21010%x#+xxx%93326 S B&E 0 0 0 =
214t 21010%x##xxxx03325 5L ER T 0 0 0 =
FAEFE | 21010%xx%x++x40936 S5OLERE 0 0 0 &
OB K | 21011#xxxxxxx70018 5L ER T 0 0 0 =
ERRIE | 21012%xxxxxxx92720 S5OLERE 0 0 0 &
= 2101 2% xwkxxxx61520 5L ER T 0 0 0 =
ok Ty 2101 2sxxxx##xx50948 S5OLERE 0 0 0 &
MR 2101 2%xwkxxxx54219 S5O ERE 0 0 0 =
FFZI | 21012%xx00xxx20324 5L BE 0 0 0 &
BRIEHE | 21012%%xxxxx03626 S5O ERE 0 0 0 =
7 2101 2#*xxxxxx90612 5L BE 0 0 0 &
ZSHAPH | 21012%kxxxxx11814 5L ERE 0 0 0 =
e 21018wxxxxx68089 5L BE 0 0 0 &
) 21018xx##xxxx50065 S5O ERE 0 0 0 =
14 21018 xwxxxx02744 5L BE 0 0 0 &
HB e 21018x###xxxx93116 S5O ERE 0 0 0 =
& EX | 21040%kkxxxxx02717 5L BE 0 0 0 &
BIEE | 21040%xxkxxx13622 S ERE 0 0 0 =
F¥ 2104 1xxrxxxxx80420 5L BE 0 0 0 &
AT 2111 0%xxxr#xx11716 S5OERE 0 0 0 =
EE | 21120%k00xx1452X SO BRI 0 0 0 s
ok 21138xxw#xx90222 S5O ERE 0 0 0 =
G | 21140%xxxxxxx26016 SLRR A 0 0 0 &




FESE | 22020%xx%%++x00928 5O B 0 0 0 s
ERRIE | 22052#0xxxxx00113 S5OERE 0 0 0 =
EXE | 23040%xxxxxx00523 5O BRI 0 0 0 &
EE=3 2311 2###5555x00027 S5OERE 0 0 0 5
FOEN | 23232%kkkxxxx20813 5O BRI 0 0 0 s
BMEB | 23232%xkxxxxx8092X SO ERE 0 0 0 =
FEHH 23232#xxxx%x%31572 SOERE 0 0 0 &=
ZHENK | 21128%kexxxxx50524 6FI % 86 0 86 2
BEE 21138#xxxxxxx 70026 6R ™% 86 0 86 =
NE 21040%5xxxx%x52727 R 84 0 84 =
SEREE | 21012%kxxxxx63248 6RI 1% 81 2 83 =
ZEE | 21010%0xxxxxx 72742 6F ™% 83 0 83 7=
BRI | 21012%0xxxxx82814 6R ™% 83 0 83 =
FERETF | 21050%#xxxxxx01074 6% 83 0 83 2
ZBRRRE 21088#x#xxxx%x25536 6ra T % 83 0 83 =
FEG | 21120%000xxx61767 6RI % 81 1 82 2
B 21010%##xx%%%63928 6% 82 0 82 =
BFH | 21010%0xx0xx26025 6RI % 80 1 81 2
ENES 21010%##xx%%x30426 6% 80 1 81 =
A 2101 0%xxxx##x45723 6% 81 0 81 =
*iB 2101 1#xxxxxxx20018 6% 81 0 81 =
BN, | 21010%%xxxxxx5002X 6% 78 2 80 2
o 21070x*xxxxxx42228 6% 78 2 80 =
OREE | 21011xxxoxxx03241 6% 79 1 80 2
ZPIE | 21010%x#xxxxx43144 6F ™% 80 0 80 yss
MR | 21011xxeenxx23621 6% 80 0 80 2
EEHR | 2101 1rxxrxrrx5572X 6F % 80 0 80 B
F=¥x 2101 8#xxxxxxx68321 6% 80 0 80 2
iF 2101 Lxxrrnrrx 73925 6F T % 77 2 79 yos
R 21122%#xxxxxx80625 6% 77 2 79 2
IR 21148 #xxxxxxx20827 6FTH 7 77 2 79 2
=R 2101 2#*xxxxxx60019 6% 79 0 79 2
FHE | 21062%xxxxxx80666 6Fa ™% 79 0 79 yos
BRKZD | 21132skxxxxx5362X 6RI T % 79 0 79 =
BXAERR | 21010%%xxxxxx64710 6F T % 76 2 78 =
R 21010#*xxxxxx72220 6T 76 2 78 o
ERIESC | 21010%xxxxxxx90920 6™ 76 2 78 =
BXIBIE | 41032%kkxxxxx78624 6T 76 2 78 o
HER | 21018xxxxxxxx61524 6™ 78 0 78 ys
X|—K | 21102%##*xxxx35818 6T 78 0 78 o
Bhitk 21122%xx555%%x93623 6 78 0 78 ys
X AR 21010#*xxxxxx90625 6T 74 3 77 o
IBEA 21010%###x5%%92713 6 77 0 77 ys
B ok 2101 0%*xxxxxx62717 6T 77 0 77 o
BIEE | 21010%++xxxxx25745 6™ 77 0 77 =
B+ 21010#*xxxxxx45260 6T 77 0 77 o
K Am 2101 0%xxxxx%x91427 6™ 77 0 77 =
FREEZE | 21010%+#xxxxx23127 6™ 77 0 77 =
XEE 2101 0%xxxxx%%x46120 6™ 77 0 77 =
SFE | 21018%kxxxxx48321 6™ 77 0 77 =




FRF | 2113200kkxxxx74229 6FI T 1% 77 0 77 =
X RE 21138#xxxxxx%x21815 6™ 77 0 77 =
BEFIE | 22052%kxxxxx40620 6R ™% 77 0 77 =
FREW | 21010%kxxxxxx82222 6B T % 73 3 76 &
BRI | 21030%kxxxxx00622 6R ™% 74 2 76 s
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SF%9 | 21011085120 6Rg 1% 50 0 50 =
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F=1E | 2101250000+ 70216 6% 50 0 50 5
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HEM | 21060%#+xxxxx63015 6F T % 50 0 50 5
FBRM | 21102%0xxxx+x50829 6RI T % 50 0 50 =
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it 21010#*xxxxxx14016 6% 49 0 49 &
BFFEE | 21010%+xxxxxx5612X 6F % 49 0 49 5
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HER | 21011xxxx3576X 6 TH 1% 49 0 49 &
BHFE | 2101 1srrxxx61821 6™ 49 0 49 5
KE 2101 255505503326 6™ 49 0 49 &
ZZFA | 21040%xxxxxxx10340 6™ 49 0 49 5
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BFHE | 21010%kwxxxxx41822 6 TH 1% 48 0 48 &
XMERL | 2101 1xxxxxxxx30028 6 48 0 48 5
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SRR, | 21011xxxexxx63821 6% 47 0 47 i
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fLE 21018xxsrx#%x28023 6™ 47 0 47 &




A | 21140%xxxexx2261X 6™ 47 0 47 &
P 2101 0%xxxxxx%x42518 6™ 44 2 46 &
BZSE%E | 15210%xxxxxx9002X 6R ™% 46 0 46 &
B | 21010%0#xxxx56024 6™ 46 0 46 =
XN | 23102%kkxxxx25542 6R ™% 46 0 46 s
7 2101 0%#xxxx%%10520 R 45 0 45 &
=% 21010#*xxxxxx54640 6R ™% 45 0 45 s
oK B 2101 8#xxxxx%+01868 R 45 0 45 &
F—F | 21010%+**xxxx02521 6R ™% 42 2 44 s
=8 2101 0%#xxxx%x80526 R 42 2 44 &
kK 21012 xxxx##%52216 6™ 42 2 44 &
XA | 21072%0xxxxx43730 6 TH % 42 2 44 =
TFHE | 21062%xxxxxxx43026 6% 44 0 44 &
MER | 21050%000xxx1212X 6RI % 43 0 43 =
i 21132#xxxxxxx16525 6% 43 0 43 &
BEBE | 21010%0xxxxx76021 6% 40 2 42 &
XI|BR 21010%xxxx55% 72725 6% 42 0 42 &
O, 2101 Trwrxxrrx8142X 6% 42 0 42 =
F 21018#*xxxxxx43146 6% 42 0 42 =
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FRME | 21010%+xxxxx15240 6% 39 2 41 =
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=1 21010#*+xxxxx00325 6% 41 0 41 =
A& 2101 0#*xxxxxx86032 6% 40 0 40 =
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BT 2101 0#*xxxxxx40625 6% 36 2 38 5
BERER | 21010%xxx0xx52446 6% 38 0 38 i
ZE | 21010%x%%x+xx82540 6Fa ™% 36 0 36 5
pyUES 21010#*xxxxxx05429 6% 33 2 35 i
FiE 21010#*xxxxxx23717 6Fa ™% 33 0 33 5
AT | 2101 1xexxxxx60021 6% 33 0 33 i
ot 21010%##xxx%%86122 6™ 0 3 3 5
o 21010#*xxxxxx64019 6T 0 2 2 s
BB | 13068xx##xxxx38014 6F 1% 0 2 2 =
BMZEME | 21010%%xxxxx52230 6T 0 2 2 s
T 21010%###%%%x96948 6™ 0 2 2 5
K2 E | 21010%##xxxxx1531X 6 TH 1% 0 2 2 &
EFM | 21010%x#xxxxx91524 6F 1% 0 2 2 =
2= 2101 0%xxrnrx%22443 6 TH 1% 0 2 2 &
BEELIE | 21010%%xxxx%x93024 6 0 2 2 5
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FR— | 21010%xxxxxxx96011 6™ 0 2 2 5
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DR 2101 1xswwsxsxd 2517 6FI T 1% 0 2 2 s
ERBE | 21012%0xxxxx40649 6% 0 2 2 =
HE 21012 wxxxxx40041 6RI 1% 0 2 2 &
FREAE | 21040xxx%xxxx80225 6T 0 2 2 =
AR | 21050%kwkwkxxx2132X 6R ™% 0 2 2 s
BRFE | 21070%0xxx+x83633 6T 0 2 2 =
XIRRBE | 21072%0#xxxx%93929 6RI 1% 0 2 2 s
BEETE | 21078xxwxxxxx70022 6™ 0 2 2 =
BB | 21092%#xxxxxx20027 6RI 1% 0 2 2 s
INFF 21101 #5xxxx%x30026 R 0 2 2 &
0% 2114 2% rxxx5x02627 6RI 1% 0 2 2 =
2RI 23028 #xxxxxxx40024 6FI % 0 2 2 =
B 7R 23030##xxxx%x35113 6Ra T % 0 2 2 =
W | 2101 1xeeeox11123 6RI % 0 1 1 =
BKARFF | 21142%000xxxx02681 6% 0 1 1 i
BEH | 21010%xxx++86039 6% 0 0 0 =
XTEEE | 2101 1xxxsexxx20524 6FI 1% 0 0 0 =
R 21018xwxxxxx91822 6% 0 0 0 =
EEN | 23050%x+xxx+80526 6FI 1% 0 0 0 =
XIfRET | 15043%kxxxxx13126 6% 0 0 0 &
ZMER | 21010%kxxxxx43429 6FI 1% 0 0 0 =
SEFEEE | 21010%xxxxxxx43429 6% 0 0 0 =
Z3ERE | 21010%xxxsexx52221 6FI 1% 0 0 0 =
BRIGEE | 21010%+#xxx+x61526 6% 0 0 0 =
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BKEERT | 21010%+xxxxx72021 6F % 0 0 0 =
OWE | 21010%#++xxx02325 6% 0 0 0 &
FER | 21010%x0xxxx51429 6Fa T 1% 0 0 0 =
BRIESC | 21010%xxxxxex6142X 6% 0 0 0 i
O | 21010%xxxxxxx04011 6™ 0 0 0 5
A BAET | 21010%%#xxxxx51410 6T 0 0 0 s
=i 21010%######x3002X 6F T % 0 0 0 5
FEp 21010%xwxxxxx84921 6T 0 0 0 s
BE% | 21010%%%%#*x51010 6/ T 7 0 0 0 =
ZE(E | 21010%xkekexx71611 6F ™% 0 0 0 =
XJEEEE | 21010%#*rrxxx5334X 6F T % 0 0 0 =
X FE | 21010%xxxxxxx5182X 6 TH 1% 0 0 0 &
ER | 21010%%%#++xx70011 6F T % 0 0 0 =
81 2101 1wwwsxsx@7422 6T 0 0 0 s
SET | 21011%xxxx#x54220 6F T % 0 0 0 =
BRE | 2101100000xxx06814 6T 0 0 0 s
BEHE | 21011xxxxxxxx72521 6% 0 0 0 =
% 2101 1xswrsxxx32024 6FI T 1% 0 0 0 s
EiY= 2101 1#xxxxxxx03220 6% 0 0 0 =
{8 | 21011%mxxxxxx01837 6FI T 1% 0 0 0 s




T 2101 Lrwwxxrrx64214 6FI T 1% 0 0 0 s
S 2101 1#xxxxx%%x33925 6™ 0 0 0 &
TFET | 2101 1xxwxxxxx80632 6RI 1% 0 0 0 &
FBREE | 21012xxxxxxx40314 6B T % 0 0 0 =
MBEEL | 21012%0xxxxxx60641 6RI 1% 0 0 0 s
KRS | 21012000000xx11214 6F ™% 0 0 0 5

#R3e 2101 2#*xxxxxx00634 6RI 1% 0 0 0 s

IFE 2101 2%xxxxxxx 70624 6F ™% 0 0 0 5
FRIEAR | 21012%wwxxxxx20322 6R ™% 0 0 0 &

= 2101 2#xxxxxxx60326 6% 0 0 0 =
BiFEE | 21012%0xxxxx91862 6RI 1% 0 0 0 =
ABE | 21012%xxxxxxx20345 6FI T % 0 0 0 =
FiWH | 21012%0kxxxxx11027 6R ™% 0 0 0 &

ol 2101 8##xxxxxx84920 6% 0 0 0 =
ZHE | 21018%xxxxx#x14913 6% 0 0 0 i
B | 21018%xxxxxxx03725 6% 0 0 0 =
TREP | 21018*+#xxxxx88324 6FI 1% 0 0 0 =

¥ 21038#*xxxxxx05927 6% 0 0 0 =
X | 21040%0xxxxx60325 6FI 1% 0 0 0 =
FAEEIE | 21040%%%xxxxx60925 6% 0 0 0 &

) 21040#*xxxxxx02128 6FI 1% 0 0 0 =

BXEEHR | 21042%0sxxxxx52532 6% 0 0 0 =

5 21042#xxxxxxx02426 6FI 1% 0 0 0 =
TNE | 21050%xmxexx12741 6% 0 0 0 =
ZEEE | 21050%xxxkxxx03620 6 8 T 3% 0 0 0 =
TERE | 21090%#xxxx#+x84025 6% 0 0 0 i

258 21120%##x%%%x92038 6/ T 7 0 0 0 5

ik 21120%xxxxxxx8002X 6% 0 0 0 &
B | 21120%0x0x0xxxx54028 6Fa ™% 0 0 0 5

= 21122%#xxxx%%91620 6% 0 0 0 i
XMERR | 21122%xxxxxxx00234 6% 0 0 0 5
OEF | 21128#+xxxxxx00623 6% 0 0 0 i
SKANER | 21132%%xxx#x98622 6F % 0 0 0 =
XJFAE | 21138swwxxxxx2141X 6 miH 0 0 0 &
ZEGE | 21138%xxxnnnx2102X 6Fa ™% 0 0 0 5
ZREE | 21142%0xxxx51218 6T 0 0 0 s

Sk By 22030+ xx#x#x%42420 6F T % 0 0 0 =
JEIA% | 22042%kkxxxxx00032 6T 0 0 0 s
FEFABE | 23018%x#xxxxx60039 6/ T 7 0 0 0 =
KA | 23018%xxxx#x13519 6T 0 0 0 s

g 23020#*xxxxxx00024 6F T % 0 0 0 =
XRfE | 23023###xxxxx3201X 6 TH 1% 0 0 0 &
BUittE | 23028###xxxxx32123 6F T % 0 0 0 =

PP 23062#*xxxxxx52260 6T 0 0 0 s
&GH) | 23212%xxxxxxx00596 6/ T 7 0 0 0 =
KSR | 42900%xxx+xxx93488 6T 0 0 0 s

pUpES 2101 1#xxxxxxx03623 7dEHA 86 0 86 B

=y 21010#*xxxx*x94058 7itd% 85 0 85 B
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RE 21010%xxxxx%x40613 7iE™ % 83 0 83 =
BNAE | 21010%xxxxxxx42713 74t i3 83 0 83 =
[5%-3 2207 Qxxxxrxxx4 1022 7E™A 83 0 83 =
B 21010%x#x#xxxx00619 7iEW 82 0 82 B
HBE | 21092%xkxxxxx13044 7iE™ % 82 0 82 s
FBAHE | 21021xxrrrxxx 74327 7™ 79 2 81 2
FEE | 21010%xxxxxxx00021 7E™A 81 0 81 =
RE 21010%##xxx%x50749 7™ 81 0 81 v
REE 21010 #xxxxx50929 71EH % 81 0 81 o
BWH | 21012%xxxxxxx30615 73ETiA 81 0 81 yos
g 2107 8###xxxxx13021 7E™A 77 3 80 =
XIERE | 21088x#xxxxx50628 73ETiA 78 2 80 yos
*BE 21010 xxxx##x54025 7E™A 80 0 80 =
=i 2101 1##xxxxxx90028 7iET % 80 0 80 yos
LR | 21102xxxx0xx20829 7dEH % 80 0 80 =
B2 21122%#xxxxxx38849 7iET % 80 0 80 yos
FZT | 21042xxxxxxxx44226 7iEH % 76 3 79 =
BXYE | 21010%0000xxx4002X 71tm i 77 2 79 i
ZERpREE | 21018xxxxxxx54024 7t 77 2 79 =
£EW | 21010%0xxxxx40343 7iE % 79 0 79 B
BIRAE | 21030%#xxxxx32928 7iEH % 79 0 79 B
k=% 21050 xxxx##%81847 7iE % 79 0 79 yos
ZHAIE | 21062%xxxxxxx34011 7t 79 0 79 =
SENIIE | 21092%xxkkxx8692X 7iE % 79 0 79 yos
AT | 15232%xxxxxxx01826 74ET 7 76 2 78 =
FNSTPE | 21010%%xxxxxx11528 7iET % 76 2 78 =
T* 21062%##xxx%%67640 7iET 7 76 2 78 =
BERE | 21010%xxxxxxx24524 7iET % 77 1 78 =
HE 21010 xxx5x##%21020 73t 78 0 78 yos
BKAEHE | 21011x000#x04229 7iET % 78 0 78 =
EBB | 21012%xxxx++x61648 73t 78 0 78 yos
“®eE 2101 0%xxxx##%51225 7iET % 75 2 77 =
ok A 21010%##xxx%%21529 7E™A 75 2 77 =
BT | 21010%x00x##x1631X 7iET % 75 2 77 =
B | 21018xxxxxxxx48326 7E™A 76 1 77 =
HKRIE | 21010%x0x0x0x0xxx31720 7iE % 77 0 77 =
SKAERER | 21010%%%%%++x95540 7iET 7 77 0 77 5
ZRAIN | 21010%kxxxxxx71928 7iE® % 77 0 77 =
S | 21011xxxxxxxx24221 7dE™ 77 0 77 )
e 2101 2sxxr5xx% 71524 7iE % 77 0 77 =
X 2101 2%xxxxxx% 72463 7dE™ 77 0 77 )
2 | 21091 xkkxxxxx33029 7iE % 77 0 77 5
EE 21120%xxxxxxx02547 7dE™ 77 0 77 )
a% 2101 0%xxxxxxx63121 7iE™ % 76 0 76 &
SEMETX | 21010%xxx##x92211 73t 76 0 76 =
fla 2101 0%xxxxx%%23729 7iE % 76 0 76 &
157K 2101 0%#xxxxxx 25521 74t % 76 0 76 &
FETE | 21011#xee0xx02423 7iE™ % 76 0 76 5
FEEH | 21012%000xx10243 74t 76 0 76 )
FBITEE | 21010%xxxxxxx27240 7iE™ % 73 2 75 &




S 2101 0xxxrnx#%62219 7iE™ % 73 2 75 5
= 2101 0%xxxxxx%x71225 71t 75 0 75 &
ke 21010 xrnrxx62323 7E™A 75 0 75 &
EEEETE | 21010%%exxxxx91922 73t 75 0 75 =
FEW | 21010%xxxxxxx24313 7E™A 75 0 75 &
B | 2101 1%xx%x#x92218 7iE % 75 0 75 =
SEEFT | 21012%%xx0xxx70818 73t 75 0 75 =
Fil 21072 xxx#xx 73023 73ETiA 75 0 75 =
FEME | 21078xxxxxxxx40011 7E™A 75 0 75 &
FEFIH | 21088sx#xxxxx01028 7iEH 1% 75 0 75 =
BKEE | 211400228221 73t 73 1 74 =
HAHESK | 21011xxxrsnrx]571X 7dt™ 74 0 74 =
IBIEF | 21138xrrrrrxx60212 7E™A 74 0 74 &
X IR 2101 2%#kkrnnx 21511 7iET % 70 3 73 =
AR 3R 21088 xxxrxxx44223 7t 73 0 73 &
5 21122sxxx5x5%%x 79066 7iET % 73 0 73 =
FidEE | 23038xxxxxxxx10628 7t 73 0 73 &
FLE 2101 0%xxxxxxx90047 7iET % 70 2 72 =
%17 21010%xxxxxx% 72224 7t 70 2 72 &
e 2101 0%xxxx##x94024 7iE % 70 2 72 =
Fo.pE 21010 xxxx##x50313 7t 72 0 72 &
SREs | 21010%%xssxx13723 7iE % 72 0 72 =
M7 | 21010%+xxxxxx03425 7t 72 0 72 &
A8 51 2101 0%xsrnnxx 71422 7iE % 72 0 72 =
BIEE | 21018xxxxxxxx57442 73tH 72 0 72 5
FI3H 21062%*xxxxx%x13223 73td % 72 0 72 5
T 2107 2%xxx55%x00740 7iET 7 72 0 72 =
BRI | 22020%x00xx12711 71t 72 0 72 =
FHEsE | 22040%xxxx#x41545 73t 72 0 72 5
YT | 22042500055 7121X 7iET % 72 0 72 5
L% 21010 xxxrrxx60322 7iEH % 69 2 71 5
ERFN, | 21010%xxxx++x60018 7iET % 69 2 71 =
LEETF | 21110%xxxxxxx92340 7E™A 69 2 71 =
B1EfE | 21010%xxxx+x55340 71t 70 1 71 =
F= 2104255 xxxxxx62422 73t 71 0 71 5
ERES 2107 2555050506527 7iE % 71 0 71 5
YRR | 210925x0kxxxx31227 7dEm 71 0 71 =
EMEER | 22020%+xxxxxx90321 7iE % 71 0 71 5
gz 21071 0%*xxxxxx21017 7iEH 1% 68 2 70 5
B | 2107 1x0000xx05682 7iE % 68 2 70 =
"% 21010%xxxxxxx 72042 7dE™ 70 0 70 )
Fh—TF | 21010%%xxxxxx04322 7iE % 70 0 70 =
BEE 21010%xxxxx%%x53124 7dE™ 70 0 70 )
FiFE | 21010%00xxxxx83123 73td % 70 0 70 =
F#e 2101 0%xxxx##x92824 73t 70 0 70 =
#F 21010#*xxxxxx21923 7itd A 70 0 70 =
)l 2101 1#xxxxxxx83427 74t 70 0 70 =
X|E 21040%xxxxx%x 70703 7iE™ % 70 0 70 &
FEEE | 21010%xx%##xx94725 73t 67 2 69 i
¥ EE | 21010%xxxx+#x93723 7iE™ % 67 2 69 &




PREEHE | 21012%%00xxx10621 7iE™ % 69 0 69 &
FE— | 21128%xx##+xx90825 74t 69 0 69 =
£ 21010 xxxx##%x41046 7E™A 66 2 68 &
FLESE | 21010%xxxxxxx60020 7™ 66 2 68 =
BB | 21018xxxnxx74041 7iE™ % 66 2 68 5
BE 21132###xxx%x08514 7™ 66 2 68 =
Ik 2101 0%xxxx##x90320 7E™A 68 0 68 &
B | 21010%0xxxxx32225 71t W 67 0 67 =
FH 2101 8#xxxxxxx34323 7E™A 67 0 67 &
JTER | 21018xxxxxxxx46524 7™ 67 0 67 5
pUES 1504 2% % 5555540682 7E™A 66 0 66 &
K57 21010%##xx%%x95429 7™ 66 0 66 5
EET | 21010%xxxxxxx13128 7E™A 66 0 66 &
FESE | 21010%x#xxxxx33436 7iET % 66 0 66 5
*kF 21010 xxxx##%61638 7t 66 0 66 &
AEE | 21010%xxx0xxx7461X 7iET % 66 0 66 5
FHE | 21010%xxxxxxx21511 7t 66 0 66 &
BER | 21011x0xxxxxx80915 71t 66 0 66 =
FEB | 21018xxxxxx#x28326 7t 66 0 66 &
e 21128sxxrnxxx12628 7iE % 66 0 66 5
fHESF | 21142%00xxxx42928 7iEH % 66 0 66 5
Al 2311 2#xxxxxxx80428 7itHiA 66 0 66 5
BT | 21010%+xxxxx51614 71t 63 2 65 =
FEFE | 21010%00006x65524 7iE % 63 2 65 5
KBE | 21142%000000x90649 7E™A 63 2 65 =
ol Ik 21010#*xxxxxx10026 73td % 65 0 65 5
X | 21010%#xxxxx80219 7iEH % 65 0 65 5
ZFRE | 21012%00xxxxx20825 71t 65 0 65 =
XM 2321 2540603 7iET 7 65 0 65 5
Fab = 2101 0%xxxx##%45328 7iET % 62 2 64 =
XIER | 21010%xxxxxxx2302X 7E™A 62 2 64 =
HBFIR | 21010%##xxxxx43411 7iET % 62 2 64 =
[EE 23100%##xxx%%81442 7E™A 62 2 64 =
ST | 21010%00x#x73416 7iET % 64 0 64 =
ok Ty 21040%##x%%%%30923 7E™A 64 0 64 =
R ZR | 21088xxxxxxxx63050 7iE % 64 0 64 =
HEEE | 41072%00xxxxx93220 7iEH 1% 64 0 64 =
=5 21010%#xxxx%x30328 7iE % 61 2 63 =
IZ=4dZ | 2101 Lwommnnnxx 74822 71t 3 62 1 63 )
EE= 21018xxxrxx#%23720 7iE % 62 1 63 =
FHEN | 15042%xx00xxx21223 7itH 7 63 0 63 =
== 2101 0%xxx5x##x90327 7iE % 63 0 63 =
L= 2101 0%*xx#xxx70325 71t 63 0 63 5
XIBER | 21010%%xxxxxx04041 7iE™ % 63 0 63 &
TR | 21010%xxxxxxx04928 7dE™ 63 0 63 5
KE 2101 Lxxrrrrxx 70640 7iE % 63 0 63 &
=% 21012 xxxxxxx2222X 74t 63 0 63 =
MFEEK | 21012%%xxxxxx30842 7iE™ % 63 0 63 &
ITJAN | 21030%x#xxxxx43326 7dEHA 63 0 63 =
B 21050 xxxxx#%21824 7iE™ % 63 0 63 &




MBS | 21122%00xxxxx40019 7iE™ % 63 0 63 5
FHRE | 23232%xxx0xxx13726 74t 63 0 63 =
ZRIEE | 21010%w0%xx%x92224 7iE™ % 60 2 62 5
Eedg 2101 0#*xxxxxx60326 7itHA 60 2 62 =
EEH | 2101 1xxmernx3122X 7E™A 60 2 62 &
FRZEE |  21010%+++++xx00023 73ETiA 62 0 62 =
FMESE | 21010%%x00x0xxx61022 7E™A 62 0 62 &
HE 2101 1xxwrxxxxx56025 71t W 62 0 62 =
SKIKIE | 21012%x000++x63860 7E™A 62 0 62 &
FNKF | 21040%xxxxxxx51225 7™ 62 0 62 5
T5F 2107 2%xxxxx%%61524 7E™A 62 0 62 &
puE::] 21148sxxxxxxx40022 7™ 62 0 62 )
ZER | 35048sxxnxxx3054X 7iE™ % 62 0 62 5
TIXFS | 37098xxxxxxx 72041 7iET % 62 0 62 =
TIKME | 2101 1xxxxxxxx20022 7t 59 2 61 =
FEIH | 21092%kkxxxxx70023 73tHiA 59 2 61 5
KHIE | 23108xk#xxxxx20445 7t 59 2 61 &
ARENEE | 21142%%x5sxxx5042X 7iET % 60 1 61 =
OES | 15210%#+xxx20929 7t 61 0 61 &
FE 2101 0%xxxnx#x81224 7iE % 61 0 61 5
A5 2101 0%xxxx##x93915 7t 61 0 61 &
BIREL | 21010%%#xxxx03114 71k 61 0 61 =
FRERI | 21010%wxxxxxx14015 7t 61 0 61 &
FR= 2101 0%wwwnnnx1402X 7iE % 61 0 61 =
S 21010%##xx5%%52822 7E™A 61 0 61 =
OEIE | 21010%#++xxx81528 7iET % 61 0 61 5
=R 21010######%x20921 7E™A 61 0 61 =
EFH | 21011%xxxxx#x40555 7iET % 61 0 61 =
27 2101 2#*xxxxxx11843 7dEHA 61 0 61 =
INREER | 21088xxxxxxxx12143 7iET % 61 0 61 =
ZSINBR | 21122 xxxxxxx24101 7E™A 61 0 61 =
JFFE | 21140%xxxx#x56012 7iET % 61 0 61 =
P 23071 2#*xxxxxx30087 73t 61 0 61 5
P 37230w##xxxxx10023 73td % 61 0 61 =
SKENEY | 21011xesxrxxx13241 73t 58 2 60 5
FEFRRIE | 21120%kxxxx22799 7iE % 58 2 60 5
SEE | 21010%xxxxxx21022 7dE™ 58 2 60 5
KBS | 21010%0xxxxx22828 7iE® % 59 1 60 =
XIEEEE | 21010%x#+xxxx20028 73t 58 2 60 =
25 21010%xxxxx%%13027 7iE % 60 0 60 =
mE 21010%xxxxxxx 76127 7iEH 1% 60 0 60 5
ZEEY | 21010%xxxxxxx04044 7iE % 60 0 60 5
e 2101 0%*xxxxxx52820 7iEH 1% 60 0 60 =
B 2101 0%xxx5x##x 70816 7iE™ % 60 0 60 5
AR | 21010%kwxxxxx63612 7dEHA 60 0 60 =
BRFEE | 21011x0exxxxx21520 7itd A 60 0 60 =
SEFX | 21068#xxxxxxx01060 7dEHA 60 0 60 =
T | 21092%xxxxxxx13617 7iE™ % 60 0 60 &
FWME | 21138000xx40425 74t 1% 60 0 60 5
ERE | 21142%000000630423 7iE™ % 57 2 59 &




ETHE | 22018xxxxxxxx02864 7iE™ % 57 2 59 &
X | 22068xxxxrxxx00262 7itHZ 58 1 59 =
X1 21010#*xxxxxx26010 73t 59 0 59 5
EREE | 21010%xxxx#x44615 7iE % 59 0 59 =
T 21010%xxx5#%x05524 73E % 59 0 59 &
5K 2101 1xxxrnxxx53617 7iE % 59 0 59 =
SEENE | 23100%xxxxxxx60748 73E % 59 0 59 &
faT e 2101 0#*xxxx*x85326 73ETiA 56 2 58 =
OES | 21011xx000xx10020 73EA 56 2 58 5
k= 2101 1xxxrrrnnd 112X 7™ 57 1 58 &
FwE | 22032%00%%xxx50026 73E % 57 1 58 &
i 13028 xxxxxkxx46482 7itHA 58 0 58 =
FFRE | 21010%w0xxxxx84222 73E % 58 0 58 &
BN 21071 0#xxxxxx%x35212 73k 58 0 58 5
ANEME | 21010%%xxxxx01418 73t 58 0 58 5
BESKEE | 21010%%xxxxx41623 73k 58 0 58 =
REE 21010#*xxxxxx63340 73t 58 0 58 5
LHE | 21010%%xxxxxx71823 73ETA 58 0 58 =
FAE | 21010%%+xxxxx80025 73t 58 0 58 5
X1/ BH 21012 xsxnwnx 71412 73k 58 0 58 =
8 2101 2#*xxxxxx51437 73t 58 0 58 5
G 21030%#rwrxx51641 73t Hi% 58 0 58 =)
W | 21062xxxx0xxx62727 73t 58 0 58 &
AR 21081 ##xxxxxx90020 7itHiA 58 0 58 5
BERE | 21088wxxrrxxx9032X 7dtm i 58 0 58 =
SKMTA | 22032##xxxxxx3478X 7iET % 58 0 58 =
BKIESR | 21010%k#xxxxx70014 7iEH % 55 2 57 5
BEH | 21010%%xxxxx21518 71t 55 2 57 =
FFr | 21010%xxxxxxx63422 7E™A 55 2 57 =
= 21010#*xxxxxx33316 73td % 55 2 57 5
e 21030#*xxxxxx91649 7iET 7 55 2 57 5
T 23022#*xxxxxx10420 73td % 55 2 57 5
BRUERS | 21010%xxxxxxx23728 7E™A 56 1 57 =
BTG | 22242%xxxxx5x 71720 7iET % 56 1 57 =
EES [ 21010%xx#x71018 7E™A 55 2 57 =
BT | 21010%xxxxxxx23170 7iE % 57 0 57 =
ik 2101 0%xxxx##x55335 7dE™ 57 0 57 5
XZETE | 21010%x0xxxx4304X 71t 57 0 57 =
BB | 21012%xxxxxxx0002X 7dE™ 57 0 57 5
A 2101 2%xxxx%%x54020 7iE % 57 0 57 =
BT | 21092%kxxxxx90581 73t 57 0 57 =
RIS 21100%xxxxxx20149 71t 57 0 57 =
= 21138xxxxxxxx80031 7dE™ 57 0 57 5
= 23082 xxxx##xx80243 7iE™ % 57 0 57 5
FFFE | 15222%xxxxxxx 76520 7iET 7 54 2 56 5
RIBTR | 21010%xxxxxx64724 71t 54 2 56 =
FEIH | 21010%xxxxxxx70625 7iET 7 54 2 56 5
FREEHE] | 21010%###xxxx64527 7iE™ % 54 2 56 &
= 21010%xxxxxxx21631 71t 54 2 56 &
FRZE | 21010%+#*xxxx56935 7itd% 56 0 56 s




X, 2101 0%xxxxxxx6221X 7iE™ % 56 0 56 &
=k 2101 0%xxxxxxx1152X 74t i3 56 0 56 5
X 21010%xxxxx%%13724 7dtTHi5 56 0 56 &
HEFS | 21010%xxxxxxx53728 7™ 56 0 56 =
Xk 2101 0%srnnrx 76122 7E™A 56 0 56 &
ZIEIE | 21010%xxxxxxx64643 7™ 56 0 56 =
BARE | 21010%xxxxxxx85369 7E™A 56 0 56 &
k& 2101 Lrwrrrrrx 74620 7™ 56 0 56 5
[ 2101 1xxxxrnnx6A76X 7iE™ % 56 0 56 5
EREIH | 21012%xxxxxxx00423 7it™Z 56 0 56 =
S0 | 21018xxxxxx66521 7E™A 56 0 56 &
BN | 21120%xxxxxxx02539 7iET % 56 0 56 5
Fii 21140###wwx#x3504X 7E™A 56 0 56 &
E3E3 1521 0kxxxxix2222X 73tHiA 53 2 55 =
FIRT | 21010%xxxxxxx30613 7t 53 2 55 &
ZFME | 21050%kxxxxxx7212X 73k 53 2 55 =
F i 21128 #xxxxxxx40026 7t 53 2 55 &
MEZ | 21010%xxxxxxx9392X 7itdiA 55 0 55 5
REE | 21010%xxxxxxx94926 7t 55 0 55 &
g 2101 0%xxxxx%12240 7iE % 55 0 55 =
ZHE | 21010%%xxxxxx15549 7t 55 0 55 &
Gl 2104 2xxxxxxxx4 2424 7iE % 55 0 55 =
FINEE 21130 xx5xx##x00027 7t 55 0 55 &
F KK | 21138xxxxxxxx55722 7iE % 55 0 55 =
== 2207 2#xxxxxxx37528 7iEH % 55 0 55 5
OEF | 21010#++xx%%x90028 73td % 52 2 54 5
Tl | 2101 1xxxxxxxx93028 7E™A 52 2 54 =
A | 21032%xxxxxx50022 73td % 52 2 54 5
EEH | 21138xexxxxx02023 7dEHA 52 2 54 =
FARIFF | 21010%%#xxx%92539 73td % 54 0 54 5
/A& | 21010%xxxxxxx63325 [ElnE 54 0 54 &
BAE | 21010%00x+x34023 71t 54 0 54 =
ZIHE | 21010%%%%%++x90029 7iET 7 54 0 54 5
IR | 21018xxxxxxxx6614X 71t 54 0 54 =
BE{ERS | 21050%kxxxrkx11527 73t 54 0 54 =
FHHE | 21112%000xx2x00727 7iE % 54 0 54 =
fHER | 23018xxwxxxxx16345 7iET 7 54 0 54 =
1) 2101 0%xxx55#%10023 7iE % 51 2 53 5
X|ILE | 21010%x#*xxxx45528 7iET 7 51 2 53 =
XJERLE | 21088xxxxxxxx20025 7iE % 51 2 53 =
5595 23118#xxxxxxx41029 7iEH 1% 53 0 53 =
FHES | 21010%00000x71043 7iE % 53 0 53 =
B3] 21010%###5%%x80026 7dE™ 53 0 53 5
SEEHE | 21010%0kxxxxx14317 7iE™ % 53 0 53 5
XHEE | 21010%xxxx#x14925 7iEH 1% 53 0 53 =
A= 2101 0%xxxxxxx1532X 7iE % 53 0 53 =
Bk 21010%xxxxxxx12521 74t 53 0 53 5
KEE | 21010%xx%x+xx94926 7iE™ % 53 0 53 &
R 21010%xwxxxxx70223 74T % 53 0 53 =
BEER | 21010%xxxxxxx94913 7iE™ % 53 0 53 &




XFEE | 21012%xxxxxx50021 73tdA 53 0 53 =
&=FK 21050%#xxxx%x91 82X 74t % 53 0 53 &
= 22040 xxxx##%x83129 7iE™ % 53 0 53 5
FHiE 21010#*xxxxxx53149 7iEW 52 0 52 =

TG | 21010%x00#xx24321 7E™A 52 0 52 &
e 210525 ##x55%x00024 7™ 52 0 52 =
*F 21148050024 7E™A 52 0 52 &
e 2203255555555 70724 7™ 52 0 52 =
EE 23020 xxx5x##xx00929 7E™A 52 0 52 &

BKEE | 21010%xxxxxxx74353 7iE % 49 2 51 5

BKILBE | 21122%%0%xxxx04044 7iE™ % 51 0 51 5

ZEZ | 21010%00#xxxx82418 73ETiA 51 0 51 =

e 2101 0%xxxxxxx20024 7E™A 51 0 51 =&

FEIH | 21010%%#xxxxx13328 7iET % 51 0 51 5

HADZE | 21010%xkexxx5172X 7t 51 0 51 &
k2 2101 0%xxxx#%15812 7iET % 51 0 51 =
AlE 21010 xxxx##%34314 7t 51 0 51 &
T 2101 0%xxx5%%%14026 7itdiA 51 0 51 5
B 2101 Lxxrrrrxx43949 7t 51 0 51 &
Zi 2101 2#*xxxxxx30026 7itHiA 51 0 51 5

FEETE | 21072%xxxxxxx40722 7t 51 0 51 &
ER 2101 0%xxxx#%x10610 7iE % 48 2 50 5

ERWPEE | 21028xxxxxx#xx01928 7t 50 0 50 &

EEF | 21010%xxxxxxx91815 7iE % 50 0 50 =
2R 21010 xxxx##x 74515 7iEH % 50 0 50 5

KRB | 21010%kkxxxxx82322 73td % 50 0 50 5

XHESR | 21010%xx%%+xx93620 7iET 7 50 0 50 5
= 2101 2xx5xxx5x02242 71t 50 0 50 =

BIGIE | 23030wsrrerxrd4413 7itH 7 50 0 50 =
JEIR 21010%xxxxxxx64229 71t 47 2 49 =
= 21010 xswnrrx 24627 73t 49 0 49 5

ZFFH | 21010%00000xx45227 7iET % 49 0 49 5

ZE | 21010%0xxxxx22226 7iET 7 49 0 49 5
BES 21018xxxxx##x93714 7iET % 49 0 49 =

SRFESL | 21041xxxxxxxx73828 7iET 7 49 0 49 5
=X 2101 0%xxrnr#%62213 7iE % 46 2 48 =
R 21010%##xxx%x 70313 7dE™ 46 2 48 )
(ERES 21010%x#wxxxx5062X 71tWH 7 46 2 48 =
=3 21010%##xx%%x54827 7dE™ 46 2 48 )
oK 2101 0%xxxxxxx60911 7iE % 48 0 48 5

FEEF | 21010%xxxxxxx04625 73t 48 0 48 =

SHE | 2101 1##xxxxxx65910 7iE % 48 0 48 =
A 21092%#xxxx%%15427 7iEH 1% 48 0 48 5
X851 2101 Lxxxrnrxx00822 7iE™ % 47 0 47 &
X 2101 2%xxxx%%xx0324X 7dE™ 47 0 47 )

BEF(r | 21010%%xxxxxx11529 7iE % 46 0 46 =

KIES | 2101 1xxxxnxxx94623 74t % 46 0 46 &

R | 21012%x000#x71028 7iE™ % 46 0 46 &
pUES 2101 Lrwrrxxxr6034X 74t % 43 2 45 &

B | 21010%x#xxxxx05280 7iE™ % 45 0 45 5




BIEE | 21012%xx000x6282X 7iE™ % 45 0 45 5
Bx 21122#xxxxxxx94025 73t 45 0 45 =
4 0f 2311 2%xxxxx%x50120 7E™A 45 0 45 &

FrEF 21010%xxxxxxx13314 7™ 44 0 44 )

FEBSE | 21012%###xxxx82019 7E™A 44 0 44 &

MEBEL | 21010%xxexxx10048 74t 42 0 42 =)

FEIH | 21011xxxxxxxx53220 7E™A 40 0 40 &
B 2101 1#*xxxxxx65729 71t W 40 0 40 =

XFHF | 21080%+#xxxxx01022 73t 40 0 40 5
ES 2101 0%*xxxxxx6061X 7itHA 39 0 39 =
F b 21010%xxxx%%%11026 7E™A 39 0 39 &
ABIK 2101 0%xxxxxxx 20422 7™ 39 0 39 5

FNFEH | 21010%xkexxx4311X 7E™A 32 0 32 &
HRL 2111 0%xx5x%%10012 7iET % 0 2 2 )

FEF | 14260%xxxxx51512 73t 0 2 2 =
S 4 15040%####%%x5108X 7iET % 0 2 2 )

XEEE | 21010%x#xxxxx61524 7iEH % 0 2 2 5

BKAESAR | 21010%xxxx+#xx40049 7iET % 0 2 2 )
2S5 21010%##xx%%x01820 7t 0 2 2 )
%18 21010%xx#xxxx90013 71k 0 2 2 =

BKIEAR | 21010%xxxxxxx33426 7t 0 2 2 )
BF 2101 0%xxxx##%41039 7iE % 0 2 2 )
R 21010#*xxxxxx80923 73t 0 2 2 =

FARBE | 21011xeexxxxx40011 73t 0 2 2 =
= 2101 Lrxrrrrxx 92824 7E™A 0 2 2 =

R | 2101 1x0000xx53020 7iET % 0 2 2 5
ey 2101 Lxxrrrrrx 10620 7iET 7 0 2 2 =
o8 21040%xwxxxxx83711 71t 0 2 2 =
ZHk 21050%*%xxxx%x51521 7iEH % 0 2 2 5

BAEE | 21072xxxxxxx53928 7iET % 0 2 2 =

XIFTH] | 21088###xxxxx95384 7iEH % 0 2 2 5

EIIET | 21090%%xxx#xx80527 7iET % 0 2 2 =
=F 2110280825 7iET 7 0 2 2 5

53 | 21102%00006x50014 7iET % 0 2 2 5

SAARE | 21138%xxxxxxx71629 7E™A 0 2 2 =

FIEF | 21010%0xxxxx24026 7iE % 0 1 1 5

RIGHT | 21012%0kkxxxx81242 73t 0 0 0 =

SR | 21112%00kxxxx72225 7iE % 0 0 0 5
% 21010 xxxx##xx00014 7iEH 1% 0 0 0 =

S#E | 21010%0000++x20310 7iE % 0 0 0 5

OERR | 21010%xxxxxxx73422 7iEH 1% 0 0 0 5

REFFE | 21010%xxxx+xx93346 7iE % 0 0 0 5
NE 21010%####%%%33917 7dE™ 0 0 0 5
12 Svd 21010%xxxxx%%23914 7iE™ % 0 0 0 5
@i 21010%xxxxx%x52818 71t 3 0 0 0 5

B | 21010%xxxxxxx83724 7iE % 0 0 0 )
2R%S 2101 0%#xxxx%%15852 7iET 7 0 0 0 5
EF 21010%xxxxxxx 11447 7iE™ % 0 0 0 &

FEW | 21010wesxeerx74347 75 0 0 0 a

AR | 21010%00000x70022 7iE™ % 0 0 0 5




FEE | 21010%xxxxxxx84024 7iE™ % 0 0 0 5
BERR | 21010%0m05463425 ERiE 0 0 0 A
KA | 21010%xxxxxxx63429 7E™A 0 0 0 )
&T=F 2101 0%#xxxx%% 75340 7™ 0 0 0 =
BESHE | 21010%xx0x#%31226 7E™A 0 0 0 )
e 2101 0%#xxxx%x84023 7™ 0 0 0 =
s 2101 0%xxxxxxx2251X 7E™A 0 0 0 )
ok i 21010%#xxxx%x04927 7™ 0 0 0 =
BEE | 21010%00000xx23165 7E™A 0 0 0 )
B | 21010%xxxxxxx31414 7™ 0 0 0 5
T3t 21010%xxxxx%x43428 7E™A 0 0 0 )
SKEEST | 21010%xxxxxxx85225 7™ 0 0 0 5
FE | 21011xx000x61413 7E™A 0 0 0 )
=E5 ] 2101 1rsrrrxxx54718 7iET % 0 0 0 )
BB FF | 2101 1xx0000xx00043 7t 0 0 0 )
ARTET | 2101 1xssxrxxxd602X 7iET % 0 0 0 =
BmE | 21011xeexxxx91661 73t 0 0 0 =
=5 2101 Lxxrrnnrxd 2724 7iET % 0 0 0 )
Z{E 2101 Lxxrrnrrx21222 7t 0 0 0 )
B 2101 2xxxxxxx53927 71k 0 0 0 =
EEB | 21012%0000xx41224 7t 0 0 0 )
FEBE | 21012x0xxxxx70322 7itHiA 0 0 0 5
XIRE | 21012%0kxxxxx02767 7iEH % 0 0 0 =
PR 2101 2sxxxx##x50218 7iE % 0 0 0 )
B | 21012%0xxxxx70649 73tH 0 0 0 =
ABFN 2101 25xxxx##%x30828 7iET % 0 0 0 5
pUb 2101 2###wr##xx5362X 7E™A 0 0 0 =
KEZ | 21018xxxxxx#x61560 7iET % 0 0 0 =
=18 21018xxwwxxxx57444 71t 0 0 0 =
3§ 2101 8#*xxxxxx82729 73td % 0 0 0 5
fal 7 21018#xxxxxxx27116 7iEH % 0 0 0 5
FERE | 21050%xxxxx41327 71t 0 0 0 =
=77 210525 xxxx55% 20022 7E™A 0 0 0 =
F—F | 21072%xxxxxxx45129 7iET % 0 0 0 5
=M 2107 2#xxxxxxx02917 73t 0 0 0 5
XEE | 21092%xxxxxxx28227 7iE % 0 0 0 5
1% 21100#*xxxxxx54813 7iEH 1% 0 0 0 =
S | 21120%%%+xx80021 7iE % 0 0 0 5
B 21122%xxxxx%%12416 7dE™ 0 0 0 5
FOly | 21122%xxxxxxx10347 7iE % 0 0 0 5
BRI | 21138%xxxxxxx6082X 7dE™ 0 0 0 5
MEHB | 21138xxx0x0xxx53927 7itd % 0 0 0 =
X B 22020#*xxxxxx06023 7iET 7 0 0 0 =
Z 22050 xx#xx#%%41037 7iE™ % 0 0 0 5
FUEGE | 61020%+xxxxxx25025 73t 0 0 0 =
ok I 1401 0%x#wxxxx1062X 8K H 90 0 90 2
FRF 2101 1#xsxrrrx66242 8K A 85 2 87 B
FR{ER | 21018%wwxxxxx20045 8KH 87 0 87 =
BE 21030 ###xxx%%61229 SN=! 84 2 86 v
REEIE | 21010%+#*xxxx74019 = 83 2 85 =




FEFE | 21010%+xxxxxx1662X = 82 2 84 =
RER | 21038wxrrnxxx23182 8K A 82 2 84 B
FRE | 21010%+#*+xx+65366 = 82 2 84 =
BREEFT | 21011sxsrrxxx45123 8 H 82 2 84 v
F5E 2101 2#*xxxxxx80020 = 82 2 84 =
FEPE | 22038xxxxxxxx31128 8 H 82 2 84 v
=3 2101 0#*xxxxxx1342X = 84 0 84 =
&5 21040%xxxxxxx11224 8 H 84 0 84 7=
IR I 21010#*xxxxxx16623 = 81 2 83 =
ESEAN 2101 Lrwrrrrrx 22528 SN=! 81 2 83 v
= 23030#*xxxxxx94716 = 81 2 83 =
TEEE | 21011xexx0xx21520 8K H 83 0 83 B
BKT53C | 21040%xxxxxxx7332X = 83 0 83 =2
BER | 21072%0xxxxx83529 8K H 83 0 83 yos
T+ 42098 xxxxxxx] 3822 8K H 83 0 83 =
BEFHS | 21078xxxxxxxx20041 8K H 80 2 82 B
FFE | 21018xxxxxxxx54616 8K H 80 2 82 =
o 22028 xxxx#x#xx57528 8K H 80 2 82 yos
=78 22058#*xxxxxx91128 8K H 80 2 82 B
FrE 21010%+xxxxx60622 8K H 82 0 82 i
SKERHT | 2101 1wswxrxxx5264X 8K H 82 0 82 B
BM4LT | 21012%0xxxx%80329 8K H 82 0 82 yos
=1: 21040#xxxxxxx41521 8K H 82 0 82 B
BRI | 21110%#xxxxx31722 8K H 82 0 82 B
S | 21148x0rxxxxx06245 8K H 82 0 82 yss
EFE | 21010%xxx0#x87225 8K H 79 2 81 2
F—R | 21012%xxxxxx90326 8K H 79 2 81 yos
BEE | 21038smkkxxxx24322 8K H 79 2 81 =
ARERAE | 2327 200kxxxx 72416 8K H 79 2 81 B
Ok 34122%xxxxxxx80047 8K H 79 2 81 2
ABEN 21010%######xx8281X 8K H 81 0 81 v
MRGE | 21012%%x000xxx50639 8K H 81 0 81 B
BRIEGE | 21012%0ekxxxx11223 8K H 81 0 81 yos
ERHR | 21120%xxxxxx44521 8K H 81 0 81 =
e 21128 #xxxxxxx50824 8K H 81 0 81 yos
X1/ BH 2101 0%xxxx##%86126 8K H 78 2 80 =
5% 2101 2#*xxxxxx40449 8K H 78 2 80 yos
RTT | 21010%x0sxxx71221 8K H 78 2 80 2
FNVEF(E | 21010%0xxxxx64926 8K H 78 2 80 yos
Bok#E | 21011xxxxxxxx52214 8K H 78 2 80 2
R | 21032%xxxxxxx6412X SN =) 78 2 80 =
B | 21042%xx00066001X 8K H 78 2 80 =
Tid 21100%###x%%%63129 = 78 2 80 ys
ZJRE | 21138sxkxxxxx90609 8K H 78 2 80 2
EBE | 21142%xxxxx75221 8K H 78 2 80 &
SKETEE | 21010%xxxx+#x53023 8K H 80 0 80 2
BWEF | 2101 1xxxrrxxx61827 SN=! 80 0 80 v
AR 2101 Lwwxxrrrx21521 = 80 0 80 =
&4 2101 2#######xx54221 SN=! 80 0 80 v
=E iy 21070w*xxxxxx2201X = 80 0 80 =




EXHM | 21088skkxxxxx70832 = 80 0 80 =
X)FEH | 22030%xxxxxxx72225 SN=! 80 0 80 v
BKAESE | 23040%k#xxxxx50210 = 80 0 80 =
S | 2101 1sssrrrxx23012 8K H 77 2 79 =
FRIETE | 21010%###xxxx34722 = 77 2 79 =&
TTIRA | 21010%xxxxxx%21015 8K H 77 2 79 N
RS | 21011xxexxxxx00025 = 77 2 79 s
B 2101 Lrwrrrrxx 80029 8K H 77 2 79 =
Fiz 21128 #xxxxxxx81222 = 77 2 79 s
ZEWE | 21010%+xxxxxx23713 8K H 79 0 79 =
== | 21010%#xxxx#+x30924 = 79 0 79 &
ER | 21010%xxxxxxx12024 8K H 79 0 79 =
% 2101 1#xxxxxxx03626 = 79 0 79 =
KEE | 2101 1xexxxxx31223 = 79 0 79 =
R 2101 2#*xxxxxx10020 = 79 0 79 &
Fik 21018#xxxxx%x91812 8K H 79 0 79 &
s 21018#*xxxxxx83428 = 79 0 79 =
AR | 21010%%#xxxxx56015 = 76 2 78 =
N E | 21010%+#*xxxx06025 = 76 2 78 =
BEBIE | 21010%00000xx20014 8K H 76 2 78 &
8 21028xxxxxxx5128X 8K H 76 2 78 5
FE 2101 1xxxxxx#x05613 8K H 76 2 78 &
SKEREE | 21088xxxxxxx56474 8K H 76 2 78 5
Bt 21122xxkxxxx 26319 8K H 76 2 78 =
X/ B 21130 xxxx##x60827 8K H 76 2 78 5
5 2101 2%xxxx%%x30635 8K H 76 2 78 =
HfE | 21072%x000xx23644 8K H 78 0 78 5
ey 2101 1xxxrx##%x35920 8K H 78 0 78 &
A 2101 1#xxxxxxx61848 8K H 78 0 78 5
FAHME | 21052%xxxxxxx0004X 8K H 78 0 78 &
BRI | 21122%xxxxxxx25522 8K H 74 3 77 &
Z=1g 2101 0xxxrnxxx34244 8K H 75 2 77 &
ZSER | 2101 1xx0xx#x92219 8K H 75 2 77 =
XIBABA | 21102%#xxxxx35349 8K H 75 2 77 s
250 22052 #xxxxxxx31045 8K H 75 2 77 =
ZNWE | 37068xxxxxxxx96829 8K H 75 2 77 &
REH | 21011000x000xx62627 = 75 2 77 &
= 2101 0%xxx##%81238 8K H 77 0 77 &
SEE | 21010%xxxxxx05228 8K H 77 0 77 &
FEIE | 2101100292011 8K H 77 0 77 =
*=F 21011 xxxxxxxx70063 SN =) 77 0 77 &
X3 2101 1xxxxxxxx53626 8K H 77 0 77 &
HEE | 21012%0xxxxxx83229 = 77 0 77 i
BB 21041 xxxrxx#x%x90224 = 77 0 77 s
OERE | 21010%xxxxxxx36622 8K H 73 3 76 5
T 13028 xxxxxxxx42964 8K H 74 2 76 &
FIME | 21010%xx%#+xx86925 SN=! 74 2 76 &
=R 21010#*xxxxxx96128 = 74 2 76 s
FEEHE | 21011%xxxx#x15325 8K H 74 2 76 &
KT | 21031xxxxxxxx50948 = 74 2 76 s




FEE | 22072%000xx85027 = 74 2 76 s
BRAREE | 21010%xxxxxxx3282X 8K H 74 2 76 =
FHERE | 21010%0xxxxx24824 = 76 0 76 &
BIRKAL | 21010%%xxxxxx82112 8 H 76 0 76 )
FEH | 21010%xxxxxx84322 8K H 76 0 76 =
FHRR | 21018xxxxxxxx96588 8K H 76 0 76 =
FUE | 21018#mkxxxxx28335 = 76 0 76 s
pufi:S 21018xxxxxxxx02727 SN =) 76 0 76 )
TWIRE | 21138mwwrxxx24645 = 76 0 76 s
AREEE | 22088xxxxxxxx04524 SN =) 76 0 76 )
F#% 2101 1#xxxxrrxd 2446 = 73 2 75 =
BEHR | 2104 1xxxxxxxx44126 SN=! 73 2 75 )
FAEZE | 21068++xxxxx11088 = 73 2 75 =
Bk B4 23108#*xxxxxx64040 8K H 73 2 75 =
X 21050#*xxxxxx40325 8K H 74 1 75 5
FNIE | 21010%xx00xxxx66924 = 73 2 75 =
ZEFT | 21100%xxxxxxx44344 8K H 73 2 75 &
FFi# | 21010%x#xxxxx91020 8K H 75 0 75 =
XZEE | 21010%xxxx#xx63146 8K H 75 0 75 =
FEEE | 21010%0##xxxx40029 8K H 75 0 75 =
ik 2101 1xxxrnrrx11525 8K H 75 0 75 &
ok iH 2101 2%xxxxxxx3271X 8K H 75 0 75 &
] 2101 2% xxxx#%%x33029 8K H 75 0 75 &
SKFEIE | 21052#xxxxxx10021 8K H 75 0 75 =
FNCEE | 21090%kkxxxxx64028 8K H 75 0 75 5
R | 21102%x00000xx40027 8K H 75 0 75 &
k3 22052%##xx%x%x%x91025 8K H 75 0 75 =
FEH | 22080%+#*xxxx51523 8K H 75 0 75 =
2R 21010%##xxx%%16947 8 H 72 2 74 =
HEIE | 21010%00xxxxx10326 8K H 72 2 74 =
%K3IA 2101 Lxxrrrrxx45323 8 H 72 2 74 =
= 5 2101 2xxxxxxxx13656 8K H 72 2 74 &
BE¥ 21092 xwkxxxx 76025 8K H 72 2 74 =
S 21132sxxx5x5%% 27026 8K H 72 2 74 s
HE 2207 2555555556 7027 8 H 72 2 74 =
R | 23040%xxxxxx60423 = 72 2 74 s
XIBEEL | 21010%xxxxxxx94628 8K H 74 0 74 )
ol IH 2101 1xxsrnrrx34527 8K H 74 0 74 &
FEF | 21012%00xxxxx62416 SN =) 74 0 74 )
FAME | 21018xxxxxxxx60321 8K H 74 0 74 &
BT | 21090 #xxxxx81546 8K H 74 0 74 =
ZEE | 21012%xxxxxxx51623 8K H 70 3 73 &
ERXEBIE | 21010%##xxxxx20028 8KH 71 2 73 5
FE 2101 Lrxrrrnxx 23023 8K H 71 2 73 &
XAAR | 2101 1xxxexxx20521 = 71 2 73 =
2234 21032%xxxxxxx0202X 8K H 71 2 73 &
AHEedE | 21050%ksxxrx7162X 8K H 71 2 73 =
S 21122%xxxxxx%x30221 = 71 2 73 s
oo 2101 25xxxx55%30242 SN=! 71 2 73 5
BUEE | 2104 1xxxxxxxx71840 8KH 73 0 73 &




BRIHE | 21011xmxxxxx32542 = 73 0 73 s
NAE | 21010%xxxxxxx86117 8K H 73 0 73 =
HY 21010#*xxxxxx65822 = 73 0 73 &

BRI | 21010%xxxxxxx60028 8K H 73 0 73 =
ke 2101 2#*xxxxxx04229 = 73 0 73 s

FIREE | 15230%xxxxxxx62040 8 H 70 2 72 =
fEfR 2101 1wwsxxsrc2222 = 70 2 72 s

FiBE | 211420000005 72847 8KHA 70 2 72 &

FEAEE | 22050%##++xxx40523 = 70 2 72 =&
= 21010%xx#xxxx90616 8K H 72 0 72 =

FRFR | 2101 1xxxxxxxx32477 8K H 72 0 72 5

HBIE | 21011xxsxxsnxd 2724 = 72 0 72 =

IR | 21012%0xxxxx60054 = 72 0 72 =&

BETE | 21050%xxxxxx40021 8K H 72 0 72 =

BEM | 2107 Lxxsrxxxx34429 8K H 72 0 72 5
J=5:7 2101 1xxxrnrxx 70569 8K H 68 3 71 &
=) 21018#*xxxxxx54034 = 68 3 71 =

FAIIEE | 13098##xxxx#x20620 8K H 69 2 71 =
A1) 21010#*xxxxxx57226 = 69 2 71 =

FRIE | 21010%x##xxx%83012 = 69 2 71 =

BEESR | 2101 1xxxxxxxx22026 = 69 2 71 i

HIEFE | 21012%kkxxxx21825 = 69 2 71 &
Fi 21110#*xxxxxx01566 = 69 2 71 =
s 21128sxxxxx#xx02416 8K H 69 2 71 &

BETFF | 21132%kkxxxxx71061 = 69 2 71 &

BRIRIEX | 34122%kkxxxxx92301 = 69 2 71 i
k4 2101 0#*xxxxxx01527 8K H 71 0 71 5

&R 2101 2sxxx5%%%41569 8K H 71 0 71 &

BT | 21138xxxxxxxx40223 = 71 0 71 &

BKERER | 22032kkkkxxxx92649 8K H 71 0 71 =
Bt 1R 21010#*#xxxxx91027 8K H 68 2 70 5

BRI | 21011x##xxxxx82613 = 68 2 70 i
K58 21052%#xxxx5%40792 8K H 68 2 70 )
(=S 2101 Lxxsrnrrx 74220 8K H 69 1 70 &

BEEE | 21010%kkkxxxx12842 8K H 70 0 70 5

HEEHE | 21010%00x0xxx14025 = 70 0 70 =

XER | 21012%%000x10417 8K H 70 0 70 =
EiN 21018xxxxxxxx98381 8K H 70 0 70 &
RIX 21140%xxxxxx%29624 SN =) 70 0 70 5
N 21010#*xxxxxx63042 = 67 2 69 &

fAIEA | 21010%xxxx#x96131 8K H 67 2 69 =

AT | 21038xxkxxxxx06017 8K H 67 2 69 =

FRREE | 21052%xx#xxxx30427 8K H 67 2 69 =
N 21120%xxxxxxx81041 8K H 67 2 69 &

R | 21010%%#+xxxx05213 = 69 0 69 =

Z4R | 21010%xxxx+x70920 8K H 69 0 69 =
538 21018xxxx#*xx98324 8K H 69 0 69 =

FAEF | 23118xxexxxxx50847 = 69 0 69 s
E ] 15272 x##x%x01826 8K H 66 2 68 =
X 21032 *xxxxx%x12525 = 66 2 68 s




2R 5 21040%xsxx#%%10932 = 66 2 68 s
A 2107 8#*xxxxxx93218 8K H 66 2 68 =
Bk 2111 2#kxxxxxx 72826 = 66 2 68 &
FaES 21122%xxxxx%%35623 8 H 66 2 68 =
ZEEEE | 21010%00xxxx15040 = 68 0 68 s
FRER 2101 25xxxxxxx32724 8K H 68 0 68 =
FINFIR | 21080%#*xxxxx14521 = 68 0 68 s
KIS | 21090%xxxx##x81024 8 H 68 0 68 =
1| 21010#*xxxxxx44146 = 65 2 67 s
HK 21010%##xxxxx54722 SN=! 65 2 67 5
BRIRBK | 2101 1%0wxxxxx65923 = 65 2 67 =
BB | 21090%#xxxrxx11022 8K H 65 2 67 =
ZE | 21120%000xxx10521 = 65 2 67 =
iDE 23232xxxxxxxB4427 8K H 65 2 67 =
THERTE | 32068xxxxxxxx82922 8K H 65 2 67 &
B 33h 2101 1xxxrnx#x82526 8K H 65 2 67 5
ey 2101 Lrwrrrrxx 74228 8K H 65 2 67 &
FRZETS | 21010%xxxxxxx33324 8K H 67 0 67 =
TS | 21012%xxxxxxx40322 8K H 67 0 67 &
BHBE | 21012%0xxxx11221 8K H 67 0 67 &
ZHEE | 21128%xxxxx80821 8K H 67 0 67 5
XIFTH] | 41272%0wxxxxx15044 8K H 67 0 67 =
PR 3E 1521 0xxxxxxxx13523 8K H 64 2 66 &
BKRTF | 21010%xxxx#x40614 8K H 64 2 66 &
HEF | 21010%xxxxxx42213 8 H 64 2 66 =
FiFE | 21010%xxxxxxx44328 8K H 64 2 66 =
FiE 21010######+x50041 8 H 64 2 66 =
FiE 21010%xxxxx%% 75826 8K H 64 2 66 =
BRZERL | 2101 1xxmwxxxx0221X 8K H 64 2 66 =
AL | 21012%%00xxxx0001X 8K H 64 2 66 &
Py 34222 5#xxx5x86425 8K H 64 2 66 5
EHAER | 21010%%xxxxxx4362X 8K H 66 0 66 =
SEIHIH | 21011wxxsexxx71029 8K H 66 0 66 =
JFd 2103 1xxxxxxxx 70015 8K H 66 0 66 =
SKAEE | 21090%##xxxxx11068 8K H 66 0 66 5
eyl 2101 0%sx##%65012 8K H 63 2 65 &
XIFKR | 21010%#xxxx%94525 8K H 63 2 65 =
ik 2101 0%xxx55#%41760 8K H 63 2 65 &
51 BH 2101 0#*xxxxxx43348 8K H 63 2 65 =
B2 E | 21011x000006%84029 8K H 63 2 65 &
F4IIE | 21012%xxxxxxx83916 = 63 2 65 5
JR5ESE | 21018xxxxxxxx28010 8K H 63 2 65 =
ok 21078xxxxxxxx0002X 8K H 63 2 65 =
FERERE | 21088xxxxxxxx40842 8K H 63 2 65 &
SR | 21110%%xxx#x51529 8K H 63 2 65 =
EISES 21140%xxxx5%%62120 8K H 63 2 65 &
T | 42092%xxxxxxx98627 8K H 63 2 65 5
EEH | 21010%00000xx04316 = 65 0 65 s
A 2101 Lrxsrrrrx11535 SN=! 65 0 65 5
LS 2101 1xxrnrrx65922 = 65 0 65 s




FNABEE | 21012%xxxxxxx30826 8K H 65 0 65 &
FNEIE | 21012%0xxxxx20626 8K H 61 3 64 =

L= 1501 0% xxxxxxx20521 = 62 2 64 &
ERH | 21010%xxx0xxx05620 8K H 62 2 64 =

X1/ 45 21010#*xxxxxx84128 = 62 2 64 s
SRESER | 21010%x#xxxxx45049 8K H 62 2 64 =
BRI | 21010%+#xxxxx81824 = 62 2 64 s
INEE | 21010%xwxexxxx40921 8 H 62 2 64 5
FEREHE | 21010%++xx**x53326 = 62 2 64 s
FARE | 21030%xxxx+xx90024 SN=! 62 2 64 5

=R 210425 xxxxxxx20220 = 62 2 64 =
T2 | 21120%xxxxxxx1130X 8K H 62 2 64 5

W 42058 x#xxxxx20069 = 62 2 64 =

AR 2101 0#*xxxxxx14148 = 62 2 64 &
BERRRE | 21010%%xxxxx65220 8K H 64 0 64 5
3 | 2101 10000ex7252X 8K H 64 0 64 =
4N | 21018xx#xxxxx08317 8K H 64 0 64 5
BER | 21110%00xxxx62323 8K H 64 0 64 =
JoEEE | 21122%%%%%#x51528 8K H 64 0 64 &

(ERES 21010%x##xxxx35326 8K H 60 3 63 =
FHIE | 21130%xxxxx10411 = 61 2 63 =

B8 21010%#xxxx%%15015 8K H 61 2 63 &
ZZEME | 21010%xxxxxx21514 8K H 61 2 63 5
FHFZE | 21010%0000xx41515 8K H 61 2 63 &

B 21010%##xx%%%15620 8 H 61 2 63 =
KR | 21010%xxxxxx23126 8K H 61 2 63 5
ZE20K | 21010%xxxxxx%15329 8 H 61 2 63 =
FEE | 21018xxxxx+#x08324 8K H 61 2 63 5

=% 21028 #xxxxxx%44029 8 H 61 2 63 =

S 21040%*xxxxx%x71223 8K H 61 2 63 5
BERER | 21042%xxxxxxx70021 8 H 61 2 63 =
X|FHE | 21070%xxxxxxx4002X 8K H 61 2 63 =
OU8E | 21070%xxxxxxx12042 8 H 61 2 63 =
FXE | 21138#x#xxxxx73110 8K H 61 2 63 s

FH 2114 2%xxx5%%%x50229 8 H 61 2 63 =
XJFIE | 22010%xxxxxxx61220 8K H 61 2 63 &
BRFESE | 22080%xxxx#xx82726 = 61 2 63 =

R 23022#*xxxxxx00463 8K H 61 2 63 =
ZE | 21010%xxxxxx60023 8K H 61 2 63 =
XIBEWF | 21010%xxxxxxx50945 8K H 63 0 63 &
BEIEHE | 21010%xxxxxxx42340 8KH 63 0 63 5

BN 2101 0%xxxx##x52446 8K H 63 0 63 &
ZHESIR | 2101 1xxxxxxxx51823 = 63 0 63 =
Sk | 21011xeexonx81227 8K H 63 0 63 =
T | 21012%xxxexxx25127 8K H 63 0 63 =

ot 21018xxxxxx#x52465 8K H 63 0 63 &
REH | 21040%xxx0xx71720 8K H 63 0 63 =

k3= 21132%xxxxxxx32025 = 63 0 63 s
SKERHE | 21140%xxxxxxx10824 SN=! 63 0 63 5
FRESE | 22052%kkxxxxx12520 = 63 0 63 s




REFTFE | 23023%0#xxxxx35716 = 63 0 63 s
ERLKIE | 23050%#xxxxx10040 8K H 63 0 63 =
TNGE | 21010##+xx%xx95025 = 60 2 62 =
951 21010%##xxx%%61519 8 H 60 2 62 =
R 21010%xxxxx%x64728 8KH 60 2 62 &
FEF | 21010%xxx0xxx74420 8K H 60 2 62 =
ST | 21010%#xxxxxx74125 = 60 2 62 s
BB 2101 0%xxxx##xx96024 8K H 60 2 62 =
=5 2101 0%xxxxxxx 74416 = 60 2 62 s
FNETE | 21010%wxxxxxx25217 SN=! 60 2 62 )
FZHE | 2101 1xxxxxxx00530 = 60 2 62 =
oiE 2101 Lrwrrrrrx 20640 SN=! 60 2 62 5
Eai 21040#xxxxxxx51741 = 60 2 62 =
BKEERN | 2104 1xxxxxxxx04147 8K H 60 2 62 &
H= 2107 2%xxxx%%%31129 8K H 60 2 62 &
FH 2107 2%xxxxxxx44945 8K H 60 2 62 &
SiafE | 21100%xxxx#xx93313 8K H 60 2 62 &
T 2111 2sxxx55%% 73628 8K H 60 2 62 =
X% 21120#*xxxxxx52785 8K H 60 2 62 5
= 21138sxxxxx#x52820 8K H 60 2 62 =
M | 21138xxmenxx25821 8K H 60 2 62 &
X 13102 xxxxx%x05165 8K H 62 0 62 =
XEBZE | 21010%+#xxxxx20926 8K H 62 0 62 5
WA 2101 Lxxxrrnxx50511 8K H 62 0 62 &
FFH | 21011xxxxx#x35023 8K H 62 0 62 5
FHERHE | 21011xxxxxxxx40522 8K H 62 0 62 =
SKIRER | 21028xxxxx#x75320 8K H 62 0 62 5
REFF | 21138smwnxxxx14125 8K H 62 0 62 5
SKIKHE | 22060%#xxxxx60360 8K H 62 0 62 5
Or 2101 0#*xxxx*+05029 8K H 59 2 61 5
ok i 2101 0%*xxxxxx66945 8K H 59 2 61 5
ESF 21010#*xxxxxx74318 = 59 2 61 i
X7 2101 Lxxrrrrxx53427 8K H 59 2 61 =
2[$3 2101 1xxxrnx#x53426 8K H 59 2 61 &
2PN 21012 xxxx#xx00023 8K H 59 2 61 5
R BT 21050 xxxx##%11828 8K H 59 2 61 &
FE¥ | 21092##xxxxx80020 8K H 59 2 61 =
O 21102sxxx5x5%%x 70023 8K H 59 2 61 &
FIRE | 21120%xxxxxxx11287 = 59 2 61 &
BXETE | 23020%xxx0x0xxx61827 8K H 59 2 61 &
FERE | 23060x#+xxxx92425 8K H 59 2 61 =
BKEET | 14021xxsxxxxx55226 8K H 61 0 61 =
FHRE | 13050%xxxxxxx60322 8K H 61 0 61 =
SYES 21010%+wxxxxx94523 8K A 61 0 61 =
ES]! 2101 0%*xxxx#x91631 8K H 61 0 61 =
B 5R 2101 1xxxrnr#x32513 8K H 61 0 61 =
FHEE | 21011w000xx10824 8k H 61 0 61 )
BRTARS | 21012#xxxxxxx20629 = 61 0 61 s
KIA= | 21018%xxx#+xx90318 8K H 61 0 61 =
B | 37082xkkxxxxx10045 = 61 0 61 s




AWHE | 21010%+#xxxxx35067 = 58 2 60 s
ME 21071 0%*xxxxx%x76925 8K H 58 2 60 =
Bk 4 21010#*xxxxxx03424 = 58 2 60 &
K 2101 0%##xxx%x80927 8 H 58 2 60 =
FHZE | 21011x0exxxxx03623 = 58 2 60 s
BIER | 21040%%%%%+xx02026 8K H 58 2 60 =
1 HT 21040#*xxxxxx91820 = 58 2 60 s
=5y 21090#*xxxxx%x32024 8K H 58 2 60 =
=i 21128#*xxxxxx45020 = 58 2 60 s
KIEYE | 22020%xxxxxxx04525 SN=! 58 2 60 5
B 23020#*xxxxxx31446 = 58 2 60 =
=L 2101 0%##xxx%x92845 8K H 60 0 60 5
FREZRE | 21022%0kkxxxx30262 = 60 0 60 =
B 2101 0xxxxxxxx36321 8K H 60 0 60 &
FHML | 21010%xxxxxxx80012 8K H 60 0 60 &
B H3E | 21010%k#*xxxx25515 = 60 0 60 =
R 2101 Lrwrxxrrx0742X 8K H 60 0 60 5
BKENG | 21011xxxxxxxx15918 8K H 60 0 60 =
BEE | 21011w00xxx31631 8K H 60 0 60 5
S | 21011xxxxxxxx55120 8K H 60 0 60 =
XA | 21018*+#xxxxx30312 8K H 60 0 60 5
FE3E¥ | 21018x0wxxxxx38024 = 60 0 60 =
K& 21090***xxxxx43526 8K H 60 0 60 &
=K 21090#*xxxxxx90029 8K H 60 0 60 =
FEIER | 21120%xxxxxxx10514 8 H 60 0 60 =
REF | 2112200kxxx5x76072 8K H 60 0 60 =
= 21122%xxx55%%85220 8 H 60 0 60 =
BXAEE | 3707 2%#xxxxxxd097X 8K H 60 0 60 5
SEE | 21010%xxkkxxx71524 8K H 57 2 59 =
YR | 21010%xxxxxxx45626 8K H 57 2 59 &
ZMP | 21010%kxxxxx40027 8K H 57 2 59 5
XFFE | 21011xxx00#x62515 8K H 57 2 59 &
FHE 2101 Lxxrrrrxx 10416 8 H 57 2 59 =
EM | 21122%00xxxx85413 8K H 57 2 59 &
T 21130#xxxxxxx30460 8K H 57 2 59 5
EibLy 21138xxxxx#x#xx80048 8K H 57 2 59 &
o 22040#######xx5143X 8K H 57 2 59 5
E= 23100xxxxxxx14811 8K H 57 2 59 &
X|HBE | 52240%xxxxxxx96228 8KH 57 2 59 5
Tk 21010%%xxxx%%10620 8K H 59 0 59 &
INEZ | 21010%xxxxxxx94526 8KH 59 0 59 5
EHfFE | 21010%00000xx53112 8K H 59 0 59 &
FHIEFE | 21010%xxxxxxx50023 8K H 59 0 59 =
Zitss | 21011%000++x00013 8K H 59 0 59 &
BIFIH | 21011xxxooxx41021 8K H 59 0 59 5
ZHIE | 21011xexexxxx75323 8K H 59 0 59 =
BB 21071 2#xxxxxx%x23313 8K H 59 0 59 =
BX3 | 21041xxx00+xx00463 = 59 0 59 s
T 21052#*xxxxxx40015 8K H 59 0 59 =
=g 21148#xxxxxxx42578 = 59 0 59 s




Bk %% 2301 2#*xxxxxx03924 = 59 0 59 s
ZR 2327 2xxxxxx%x50924 SN=! 59 0 59 5
FEFE | 21010%+#*+xxx85035 = 56 2 58 &
FRESFE | 21010%+#*xxxx54123 8K H 56 2 58 =
PNV | 21010%x0exxxx14021 = 56 2 58 &
R 21010%##xxx%%81525 8 H 56 2 58 =
SRIRET | 21011wwxxxrrx13012 = 56 2 58 s
ok 3% 2101 Lrwrrrrrx 41226 8 H 56 2 58 =
BYME | 21012%xxxxxxx30619 8KH 56 2 58 &
BERKSD | 21012%xxx#xxx30028 8K H 56 2 58 =
OiE 21052 xwwxxxx6044X = 56 2 58 =
Ml | 21062%xkmexxx2391X 8K H 56 2 58 =
SEE | 21078xxxxexxx34427 = 56 2 58 =
FHE | 21148%xxxxx66228 8K H 56 2 58 =
FTEHIE | 21010%%0xxxxx75719 8K H 58 0 58 5
S 21010%xxkxxxx5151X 8K H 58 0 58 &
yme 211 38##x#xx%x91024 =] 58 0 58 &
HGE | 15210%%xxxxx50020 8K H 58 0 58 &
BKIFE | 2101 1xmwrxxxx62522 = 58 0 58 =
BE(ERR | 21011xxmeexx3102X 8K H 58 0 58 =
F# 2101 1#xsxrrrx64217 8K H 58 0 58 5
I | 21012%%xxsxx53722 8K H 58 0 58 =
BT | 21012%%xxxxx40046 8K H 58 0 58 5
R | 21042%0kxxxxx34529 8K H 58 0 58 &
R | 21090%xxxxxx%22523 8 H 58 0 58 =
ESZ | 21100%xxxxxx14337 8K H 58 0 58 &
EPF | 21010%kxxxrxx7471X 8K H 55 2 57 =
A& 2101 0%xxxxxxx6372X 8K H 55 2 57 &
FhE 2101 0#*xxxxxx2334X 8K H 55 2 57 5
BIEFE | 21038xxxxxxxx24124 8K H 55 2 57 &
=¥ 21068 x##xxxx92386 8K H 55 2 57 5
1|7 2107 2sxxxx5#%82329 8K H 55 2 57 s
XER | 21078xxxxexxx53823 8K H 55 2 57 5
FREE | 21110%xxxxxxx61534 8K H 55 2 57 &
EXY 21142#xxxxxxx0152X 8K H 55 2 57 5
= 2201 8xxxxxx#%61366 8K H 55 2 57 &
EP) 23020#*xxxxxx00267 8K H 55 2 57 =
BB | 23050%xkkxxx10917 8K H 55 2 57 =
FEE | 21010%%xxxxx84221 SN =) 57 0 57 5
BT 2101 0%xxxx##x80064 8K H 57 0 57 &
FR7E 2101 0#*xxxxxx33127 8K H 57 0 57 =
5 2101 Lxxrrrxxx81020 8K H 57 0 57 &
FE 21011 wxxxxxxx63027 SN =) 57 0 57 5
XIESE | 21011xxsxxxxx53427 8K H 57 0 57 =
Z/ N\ | 21018%kxxxx#x88320 8K H 57 0 57 =
BEFESC | 21018%x#xxxxx58049 8K H 57 0 57 =
FE 21041 sxxxxxxx53524 8k H 57 0 57 5
15 21050#*xxxxx%x51224 = 57 0 57 &
EEMRE | 21050%+xxx+x00026 8K H 57 0 57 =
X 21052#xxxxxxx60511 = 57 0 57 s




= 21070x*xxxxxx27026 = 57 0 57 s
B | 21078xxxxxxx82817 8K H 57 0 57 =
E4iMh | 21122%kxxxxx35322 = 57 0 57 &
FESCIE | 23012%xkxxxxx44045 8K H 57 0 57 =

7+ 34253 xwxxxxxx20017 = 57 0 57 s
XEHE | 21010%xxxxxxx33125 8K H 53 3 56 =

& 21010#*xxxxxx14065 = 54 2 56 s
ThhEE | 21011xexxxxx91031 8K H 54 2 56 =
T | 2101 1xxxrxxxx12820 8KH 54 2 56 &
GBENAN | 21072%xxxxxxx52125 8K H 54 2 56 5
fAISIRR | 21122%xx00xxx61029 = 54 2 56 =

=y 34040w###xxx01426 8K H 54 2 56 5

BEE 41282 kwxxxxx32022 = 54 2 56 =

24 2101 0%xxxxxxx50981 8K H 54 2 56 &

HE 21010 xrnkxx17248 8K H 56 0 56 &

7 2101 0%xxxnx#%14613 8K H 56 0 56 &
MEM | 21010%000xxxx32249 8K H 56 0 56 &
TxRE | 21010%+xexx5211X 8K H 56 0 56 &

XI| BH 2101 Lxxxrrxxx90524 8K H 56 0 56 &

3o 2101 Lxxrrnrrx31512 8K H 56 0 56 &

BBk 2101 1#xxxxxxx30527 8K H 56 0 56 5
R | 21011#xxxxxxx40023 8K H 56 0 56 =

=g 2101 2%xxxxxxx4 244X 8K H 56 0 56 &

LN 2101 2%xxxxxxx5284X 8K H 56 0 56 =

g 21018#xxrwxxx37425 8K H 56 0 56 =

XE 2101810018 8K H 56 0 56 &
BKIEIE | 21018xxxxxxxx71529 8 H 56 0 56 =

Fik 21060**xxxx*x83018 8K H 56 0 56 5
FMBIE | 21088xxwxxxxx51216 8K H 56 0 56 5
BREL | 21142%000#x35043 8K H 56 0 56 &
BEBR | 22072%00xx80615 8K H 56 0 56 5
FANLL | 43052%xxxxxxx40749 8K H 56 0 56 &

] 2101 0%xxxrrxx64727 8K H 53 2 55 5

K 2101 0%xxxxxxx5034X 8K H 53 2 55 &

KB 2101 0%xxxxxxx45321 8K H 53 2 55 5

FE 2101 Lrwrrrrrx06821 8K H 53 2 55 &
SCEHE | 2101 1%xxeeexx7503X = 53 2 55 5
HZE | 2101 1x000000620022 8K H 53 2 55 &
FEXTE | 21011 xwwxrnnx12613 8K H 53 2 55 =

X 2101 Lrxrrrrxx 32445 8K H 53 2 55 &
WSS | 21011xwxxxxxx42210 8KH 53 2 55 )
REE | 21032%00004xx82046 = 53 2 55 s

B 21120%xxxxx%x54523 8KH 53 2 55 )

iRz 2101 8#xxxxxxx93721 8K H 54 1 55 =
XIFBEE | 21018xxxxxxxx32724 SN =) 53 2 55 )

W 2111 0%xxnxxx71728 8K H 53 2 55 =

BKEE 21071 0#*xxxxx+64528 8K H 55 0 55 =
O&E | 21010%+xxxxx16027 = 55 0 55 s
FOJf | 21010%xxxxxxx91748 SN=! 55 0 55 5

RN 21010%##xxx%x00914 8KH 55 0 55 &




%t 2101 1rwxxxxrx31044 = 55 0 55 s
MAE 2101 Lrwwrrrsx 22526 SN=! 55 0 55 5
ZFH 2101 2#xxxxxxx40227 = 55 0 55 &
JEIEE | 21018%xkxxxxx62725 8K H 55 0 55 =
BEER, | 21120%0xxxxx12528 = 55 0 55 s
FEM | 21138xxxxxxxx11014 8 H 55 0 55 =
BBEE | 22062%xxxxx21523 = 55 0 55 =
EIEH | 23052%xxxkxxx70021 8K H 55 0 55 =
SEHERE | 34081xxxsixxx55124 = 55 0 55 &
Rtk 1521 0xxxxxxxx52129 SN=! 52 2 54 5
BRERLY | 21010%kkxxxxx04728 = 52 2 54 =
WHEEE | 21010%0kxxxx55322 8K H 52 2 54 =
=k 21010#*xxxxxx04417 = 52 2 54 =
BKIEIH | 21010%xxxx##x15829 8K H 52 2 54 &
T 2101 Lrwrrrrrx13621 8K H 52 2 54 &
=S 2107 2##xxxxxx06020 8K H 52 2 54 5
Fax 21088 ######xx90621 8K H 52 2 54 &
XEIE | 21090%xxxx##x33538 8K H 52 2 54 =
X8 21128xxxwn#*%x51226 8K H 52 2 54 5
KRET | 22018##xxxxxx8002X 8K H 52 2 54 5
FNEHRE | 23023%xxxxxxx10428 8K H 52 2 54 &
e | 37132%00000x72049 8K H 52 2 54 &
L 4127 2xxxxxxxxd 2425 8K H 52 2 54 &
ERIRTE | 2101 1xmwrxxxx62022 8K H 54 0 54 =
ZEE | 21011xxx00x+x04023 8K H 54 0 54 5
ME | 21010%xx0xxx02811 8K H 54 0 54 =
pUES 21010%x##xx%x91823 8K H 54 0 54 5
BEH 2101 0xxxxxnxx14621 8K H 54 0 54 &
BHE | 21010%00xx#xx32110 8K H 54 0 54 5
EZHE | 21011xx000#x72510 8K H 54 0 54 &
LRI | 2101 1xexexnnnxd 242X 8K H 54 0 54 5
BEM | 21012%0000xxx70616 8K H 54 0 54 =
BNV | 21128xxxxexxx40822 8K H 54 0 54 5
X% 21132sxxx0xx46121 8K H 54 0 54 s
Fi 1427 Qxxxxxxxx4063X 8 H 51 2 53 =
F T | 21010%xxxxxxx51013 8K H 51 2 53 &
AIGEI | 21010%xxxxxxx41243 8K H 51 2 53 5
FiF 21010%xxxxx%x70323 8K H 51 2 53 &
XJTRE | 2101 1xxxxxxxx92228 8KH 51 2 53 5
RN 21042#xxxxxxx 70023 8K H 51 2 53 =
FHE{E | 21132%%xx0xx15022 = 51 2 53 =
S$BE 220425 xxx5x5%%x 70029 8K H 51 2 53 &
FNFEF] | 21030kxxxxxx02522 8K H 53 0 53 =
RER | 21010%#+++xxx94926 8K H 53 0 53 &
KERE | 2101 1xexxxxx20021 = 53 0 53 =
ERHSIH | 21011xxx0#x62026 8K H 53 0 53 &
AXHE | 21011%x00x#x11523 8K H 53 0 53 =
= 2101 1##xxxxxx10583 = 53 0 53 s
BIEBA | 2101 1xxrwxxsx0422X 8K H 53 0 53 =
R 21018#*xxxxxx08046 = 53 0 53 s




Bk 4 21032#*xxxxx%x51224 = 53 0 53 &
S 21032#######xx85021 SN=! 53 0 53 5
T 21050#*+xxx*x50309 = 53 0 53 &
gl 21068#*xxxxxx96785 8K H 53 0 53 =
NFRFE | 2107200xxxxxx71841 = 53 0 53 &
e 21120%##x5%%x51307 8 H 53 0 53 =
XIPETK | 21138kwxxrnrx2564X = 53 0 53 &
XIZEf | 23900###*xxxx13429 8K H 53 0 53 =
EXEEHE | 21010%+#xxxxx47549 = 50 2 52 &
=SB} 2101 0%##x5%%x95029 SN=! 50 2 52 N
SBEE | 21010%kkkrxxx 74724 = 50 2 52 &
FRE | 21011xexxxxxx40021 = 50 2 52 =
OoE 2101 Lrwxxrrrx12441 = 50 2 52 &
XJZETE | 2101 1xxxxxxxx11221 8K H 50 2 52 &
XEE | 2101 1xxxxxxxx12220 = 50 2 52 i
PREIE | 21030%xxxxxxx21227 8K H 50 2 52 =
pypEa 21042%xxxx%%x51828 = 50 2 52 &
BKAFE | 21132%xxxx00x7193X 8KH 50 2 52 &
F= 23062###xxx%xx53667 8K H 50 2 52 &
TR | 21010%%##xxx%93326 8K H 52 0 52 =
=1 2101 Lrxxxrxxx12028 = 52 0 52 &
BHM | 2101 1xxerxxxx50616 = 52 0 52 &
X—F | 21012%+xxxx+63616 = 52 0 52 &
SHA | 21012%000xxx90026 8K H 52 0 52 =
=K 21088 xwkxxxx04229 8K H 52 0 52 &
EEEGE | 21102%kkkxxxx45322 = 52 0 52 &
FHEE | 21120%0xxxxx10022 8K H 52 0 52 =
¥5h1s | 21120%kxxxxx40520 = 52 0 52 &
BIFHE | 21142%xxxxxxx00026 8 H 52 0 52 i
ik 2101 1xxxrnrxx11815 8K H 49 2 51 &
BREFE | 21012%xx00xxx02440 8K H 49 2 51 =
FE | 23118%0000xx43221 8K H 49 2 51 &
fEX 21010#*xxxxxx 75844 8K H 49 2 51 =
il 15042 xxxkxx53412 = 51 0 51 &
F ik 21010#*#xxxxx85221 8K H 51 0 51 5
BRHET | 21010%00xxxxx82229 = 51 0 51 s
SRZEMT | 2101 1xmxsxxx61619 8K H 51 0 51 &
FRIFIE | 2101 1xxewrxxxd 4224 = 51 0 51 =
SRR | 21012%%xxxxxx34838 8K H 51 0 51 =
TR | 21012%kkkxxxx13624 = 51 0 51 &
PIEE | 21018xxxxxxxx02426 8K H 51 0 51 &
FHEER | 21072%xxxxxxx50717 8K H 51 0 51 &
XA | 21102%xxxx#x25313 8K H 51 0 51 =
KBRS | 21120%%0xxxx70037 = 51 0 51 =
EE 21120#*xxxxxx83040 8K H 51 0 51 =
BEE | 22240%xx00xx90626 = 51 0 51 =
RATEE | 23030%x##xxxx64026 8K H 51 0 51 =
FRR 2101 0%xx5x#x04127 = 48 2 50 s
FHIF | 2101 1xeexxxxx31024 = 48 2 50 &
FiE 2101 2#xxxxxxx72120 = 48 2 50 s




XZME | 21018*+#xxxxx28015 = 48 2 50 s

E# 2101 8#*xxxxxx60620 8K H 48 2 50 =
15T | 21041x0xxxxx23545 = 48 2 50 =
X GREF | 21102%xxxxxxx50021 8 H 48 2 50 =
XHBRM | 22058%+#xxxxx30204 = 48 2 50 s

F=E 2101 2###xxx%%x94524 8 H 50 0 50 =
KRS | 21010%xxxxrex6121X = 50 0 50 s
FPUESC | 21010%##xxxxx60529 8 H 50 0 50 =
EFEF | 21010%%#xxxx30029 = 50 0 50 s
SAFAE | 21011xerxxrrxd5320 8K H 50 0 50 =
TEETE | 21011xxmxxxx25323 = 50 0 50 =

XI|48 2101 1#xsxrxxx62064 = 50 0 50 =
BRHEE | 2101 1xmxxxxx82524 = 50 0 50 =

F 21032sxxx5x5%xx05427 8K H 50 0 50 &

[ 21138#*xxxxxx50243 = 50 0 50 =
BEEAGE | 23062xkkkxxxx12162 = 50 0 50 &
TEREE | 23062##xxxxxx10551 = 50 0 50 =
BHHE | 21010%###xxxx53720 8K H 47 2 49 &
FERIE | 21010%+xxxxx76028 = 47 2 49 =
JKIUK | 21010%kkxxxxx96123 8K H 47 2 49 &
Fi— | 21012%xxxxxxx30315 8K H 47 2 49 &
OEE | 21028xxxxxxxx07118 8K H 47 2 49 &

k2R 21030###xxx%% 20826 8K H 47 2 49 &
FNHEFE | 21088xxxwxxxx93061 8K H 47 2 49 =
ZEIE | 21138xmmxxxxx43927 = 47 2 49 i

X 21062#*xxxxxx80022 8K H 49 0 49 =
SEEH | 21010%kxxxxx62320 8K H 49 0 49 5
5037 | 21010%xxxxxxx51214 8K H 49 0 49 &
FR1E | 21010%x#xxxxx60016 8K H 49 0 49 5
HESE | 21010%00xxx41211 8K H 49 0 49 =

¥z 21010#*xxxxxx94622 8K H 49 0 49 5
AR | 21011xxexxxxx87448 = 49 0 49 i
X | 2101 1sswnnnnx3252X 8K H 49 0 49 5
ZFEHT | 2102800280521 8K H 49 0 49 =
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WIBEE | 13053%kkkxxxx20442 107F 555 7 56 2 58 =
BHIAT | 15210%kxxxxxx60621 103F 50 55 P 56 2 58 =
BRI | 21010%xxxx#x61543 107F 555 7 56 2 58 =
FoKIE | 21011xx000#x32210 10779 4 P 56 2 58 5
FRARKE | 21010%##*+xxx26027 107F 555 7 56 2 58 =
FEFWE | 21130wmx#xx13221 10779 4 P 56 2 58 5
EE 21012 xxxx##x52618 107F 5055 7 58 0 58 =
Fl 23022 xxxx%%%14610 10779 4 P 58 0 58 5
Eh 2101 Lxxxrrrxx22015 107F 555 7 58 0 58 =
R 2101 1xsrrsxsx63824 103F 50 55 P 58 0 58 =
REE | 21011xxxxrxxx32024 107858 34 g 58 0 58 =
&F 2101 Lxxrrnrrx23829 1077944 P 58 0 58 5
BRIEGE | 2101 1wswwrrrxxd 532X 107F50 55 7 58 0 58 =
Fik 2101 Trwxxrnrx21821 10779 4 P 58 0 58 5




BEE | 21018%kxxxxxx68331 107794 P 58 0 58 5
=% 21050#*xxxxxx20523 107F50 55 7 58 0 58 =
Bt 22068 **xxxxxx80262 107F509 355 7 58 0 58 =

K@ | 21011xxxxeex76813 107F5 55 7 55 2 57 =

A&F | 21011rexxxxxx0246X 107F509 355 7 55 2 57 =

E38ME | 21050%%xxxxxx7241X 107F 5035 7 55 2 57 =
5% 2107 2#xxxxxxx42618 10704 g 55 2 57 =

KT | 21128%xxxxxxx42046 107F 5055 55 2 57 =
EE 2101 1#xxxxxxx05624 10704 g 56 1 57 =

ZERRER | 21010%xxxxxxx31429 107F 5055 57 0 57 =

BRI | 2101 1xxsxxxx25620 107F509 355 7 57 0 57 5
ey 2101 1xxxxx##x31025 107F 5055 57 0 57 =
FR 2101 1##xxxxxx03025 107F509 355 7 57 0 57 =
5t 2101 1xxxrnrxx40637 107& 774 P 57 0 57 5
E%i 21012 xxrrkxx 74223 1078509 55 7 57 0 57 5

BESRAE | 21012%%00xxxx50029 107& 774 P 57 0 57 5

TAHT | 21042%0xxxxx70015 107504 7 57 0 57 =
iR 38 21080+ xxxxx+60046 10785055 7 57 0 57 =

FBIEZE | 21090%xxxxxxx30026 1078509 55 7 57 0 57 5

FHRB | 21140%xxxxx16044 10785055 7 57 0 57 =

XfEFE | 23232%kkxxxxx31545 107504 7 57 0 57 =
Z B 2101 0%xxxx##x61015 107& 774 P 54 2 56 5

B | 21010%xkmxxx4342X 1078509 55 7 54 2 56 5

RXE | 1504250kxxxxx24122 107F 5047 56 0 56 =
(E 2101 1xxxrrrrx12526 107F 50 55 7 56 0 56 5
X BR 2101 Lxxrrnrrx62129 107& 794 P 56 0 56 5
=5 21018xxxxxxxx32121 107F50 55 7 56 0 56 5

XTEIE | 21028xxmxxxx%21922 107& 794 P 56 0 56 5
i 21100 xx#5##%x22017 107F 50 55 7 56 0 56 5

BITNSE | 21102%xxkkxxx59149 107& 794 P 56 0 56 5

5K 38 13032 #wwkkrx 74223 107F 50 55 7 53 2 55 5

IR | 21012%0%xxxx91049 10785 55 P 53 2 55 =
i 21078#xxxxxxx00044 1070 34 g 53 2 55 =

XIRAEL | 21132%kkxxxxx03052 10785 55 P 53 2 55 =

{RACHT | 2101 1wwrrsnnx0222X 107% 73] 3 7 53 2 55 =

ZF— | 2101 1xx00o0xx42498 10779 4 P 53 2 55 5

BE® | 21010%xxxx#x33123 107F 555 7 55 0 55 =

ZEEEEE | 21010%kxxxxx34348 10785 55 P 55 0 55 =
ok fi2 21012 xxxx##x41018 107F 555 7 55 0 55 =

FEEE | 21012%000006x41825 10779 4 P 55 0 55 5
far 1| 21040#*xxxxxx50013 107F 555 7 55 0 55 =

BRI | 140625xxxxxx32020 10785 55 7 52 2 54 =

SET | 2101 1xxxxxnnx12462 107F 5055 7 52 2 54 =
Bl 2101 8#xxxxxxx 78311 10785 55 7 52 2 54 =

FNERFE | 21102%xxxxxxx92925 107F 555 7 52 2 54 =

MEE | 23128xkxxxxx10041 10785 35 7 52 2 54 =

BREREE | 21010%xxxx#x73624 107F50 55 7 54 0 54 =

ZEHF | 21010%00006%x53911 1077944 P 54 0 54 5

HAREF | 21011%xxxx#x71519 107F50 55 7 54 0 54 =

MEFR | 21011xxxxxxx80048 10779 4 P 54 0 54 5




RN, | 21012%kkxxxx%01520 107859 35 7 54 0 54 =
BN | 21122%xxxkxxx45428 107&5a b 54 0 54 &
Fix 22240 xs555x% 70027 107F509 355 7 54 0 54 5
SRIEFE | 21010%xxxx+xx84417 107F5 55 7 51 2 53 =
FE 2101 1xxsrnnrx23226 107F509 355 7 51 2 53 5
ZEPEEE | 2101 1wxxxxxxx22445 107F 5035 7 51 2 53 =
Bk 21010%xxxxx+x30621 107F509 355 7 53 0 53 5
{ARE N | 21010%wxxxxxx51417 107 8] 355 g 53 0 53 5
J=P N 21010#*xxxxxx3162X 107F509 355 7 53 0 53 5
FEME | 21010%xxxxxxx1096X 107F 5055 53 0 53 =
=k 2101 1#*xxxxxx53428 107F509 355 7 53 0 53 5
Fi 2101 1wxxxxxxx22025 107 8] 355 7 53 0 53 5
T 2101 1rwrxrrrx12024 107F509 355 7 53 0 53 5
FERSR | 21012%0wxxxxx63423 107& 774 P 53 0 53 5
BET 21018#*xxxxxx18327 1078509 55 7 53 0 53 5
SBER | 21018%x#xxxxx04923 107F 04 7 53 0 53 =
= 21050**xxxxxx60530 1078509 55 7 53 0 53 5
XK | 2101 1xxsxxxxx71535 107& 774 P 50 2 52 5
A 21018xxxxxxxx7434X 1078509 55 7 50 2 52 5
TIVER | 2101 1#xxxxxx90611 107F 5047 52 0 52 =
X | 21132%0xxxxx61547 1078509 55 7 52 0 52 5
ZETE | 15212%00x00x51228 10785055 7 52 0 52 =
HBAR 21010#*xxxxxx84310 1078509 55 7 52 0 52 5
XERE | 21011xx0xx+xx85326 107& 774 P 52 0 52 5
Xk 2101 Lxxxrrrxx22019 107F 50 55 7 52 0 52 5
e 2101 Lxxsrnnrx13024 107& 794 P 52 0 52 5
ZFE | 21011sxxxx91011 1070 34 g 52 0 52 =
T 2101 1xxxrnx#%33026 107& 794 P 52 0 52 5
fFiB3E | 21012%xxxxxxx13228 107F 50 55 7 52 0 52 5
e 21052%xxxxxxx0008X 107& 794 P 52 0 52 5
BKERIE | 21060%x#xxxxx30313 107F 50 55 7 52 0 52 5
KEWT | 21088skxxxxx26122 107&F 794 P 52 0 52 5
k& 21148 xxrxxxx60224 107F 5055 7 52 0 52 5
BEE | 28212%0000+x00580 107F 94 7 52 0 52 =
WBEY | 23230%xxxxxx82021 107F 5055 7 52 0 52 5
=g 21010#*xxxxxx30622 10779 4 P 49 2 51 5
FRW 2101 2%xxxxxxx 74221 107F v 7 49 2 51 &
1% 21120%kwxxxxx84025 10785 55 P 49 2 51 =
B 21018xxxx#xx04927 107F 555 7 51 0 51 =
¥iFEE | 2101 1xereeeex7151X 10779 4 P 51 0 51 5
XA | 21011%xxxxx#x82037 107F 555 7 51 0 51 =
HEE | 21011eeoooxd 242X 10785 55 7 51 0 51 =
FERRPL| 2101 1xewrrxxx73627 107F 5055 7 51 0 51 =
SREIE | 2101 1wwxxxnnx3224X 10779 4 P 48 2 50 5
x| 2101 0%xxxxxxx0441X 107F 555 7 50 0 50 =
S 2101 1xxxxx#x93023 10779 4 P 50 0 50 5
BRI, | 21011 xxexxxxx81518 107858 34 g 50 0 50 =
LT 21052#*xxxxx%x11122 1077944 P 50 0 50 5
TIEHE | 22020%+xxxx02718 107F50 55 7 50 0 50 =
FREIIE | 22042%##+xxxx30025 10779 4 P 50 0 50 5




FEW | 15232%xxxxxxx40026 107794 P 47 2 49 5
=k 21010 xxxr#xx66127 107F50 55 7 47 2 49 =
VLT | 21090%xxxxxxx8302X 107F509 355 7 47 2 49 5
5k {6 2207 2 xxrr#xx50222 107F5 55 7 49 0 49 =
FiFE | 21011x0000#x33417 107F509 355 7 49 0 49 =
pSE] 2101 1xxxrrxx25017 107F 5035 7 49 0 49 =
BB | 2101 1xxsxxxxx67414 10704 g 49 0 49 =
fEEEE | 2101 1rxxrrrrx5252X 107850 3k 7 49 0 49 =
T4 21052%xxxxxxx5001X 107F509 355 7 48 0 48 =
Eixit 2101 1xxxrrrrx36817 107F 5055 47 0 47 =
BKIBZR | 21011%xxxxx#x33718 107F509 355 7 47 0 47 5
XITTIE | 21010%xxxx##x11219 107F 5055 44 2 46 =
¥ 2101 0%xxxxxxx82121 107F509 355 7 46 0 46 5
BERSHS | 21012%%000xx84524 107& 774 P 46 0 46 5
R 2101 2#xxxxxxx30624 1078509 55 7 46 0 46 5
=I5 21132sxxxx5%%82323 107& 774 P 46 0 46 5
% | 21010%kxxxxxx04111 1078509 55 7 43 2 45 5
BIEEE | 21010%mxxxxx10422 107& 774 P 45 0 45 5
%+ 2101 1#xxxxxxx05644 1078509 55 7 45 0 45 5
B | 15222%kkkxxxx44044 107& 774 P 42 2 44 5
BRI | 21011%xxxxxx092514 1078509 55 7 44 0 44 5
XMBE | 21011xeenxxx72527 10785055 7 44 0 44 =
FBEEZ | 21011xxxxxxx04216 107504 7 43 0 43 =
Fk 2101 1xxxrnxxx90644 107& 774 P 43 0 43 5
F# 2101 2#xxxxxxx82244 107& 50 34 g 42 0 42 =
EES | 2101 1x0xxxxx02450 107& 794 P 39 2 41 5
SKFERT | 21011xxxxxx50320 107F50 55 7 41 0 41 5
FIKHE | 21018xkwkxxxx56142 107& 794 P 40 0 40 5
FER | 21011xx000++x50632 107F 50 55 7 38 0 38 5
REEHE | 21040%kxxxxx50322 107& 794 P 38 0 38 5
SREEIE | 21122%kkkxxxxd1847 107F 50 55 7 32 0 32 5
HERE | 21062%xxxxxxx51006 107F 504 7 0 3 3 =
SR 21010 xxxnkxx 71425 107F 5055 7 0 2 2 5
=R 2101 0#*xxxxxx06334 107& 794 P 0 2 2 5
T353R | 21010%#+xxx+x05016 1070 34 g 0 2 2 =
FEBIR | 21010%xxxx#x1532X 10779 4 P 0 2 2 5
REE | 21010###+xxxx6692X 107F 555 7 0 2 2 =
ZUNEE | 21010%xxxxxxx35327 10779 4 P 0 2 2 5
= 21010 xxxx##%82129 107F 555 7 0 2 2 =
FIRE | 21010%0#xxxxx72429 10779 4 P 0 2 2 5
FE 21010 xxxr##%73119 107F 555 7 0 2 2 =
[P 21010#**xxxxx15520 103F 50 55 P 0 2 2 &
K 2101 Lxxxrrrrxd 2021 107F 5055 7 0 2 2 =
SKETE | 21011wmxexxx72461 10779 4 P 0 2 2 5
#*g 2101 1xxxrrrrx4 2434 107F 555 7 0 2 2 =
FFHF | 21011x000x++x92468 10779 4 P 0 2 2 5
=5 2101 2% xxxxxxx80331 107F50 55 7 0 2 2 =
S 2101 2sxx5kx% 71429 1077944 P 0 2 2 5
BRE | 21018xxxxxxxx72424 107F50 55 7 0 2 2 =
B 21040 xxnxx%12423 10779 4 P 0 2 2 5




FUEE | 21041xx000x5042X 10758 3 7 0 2 2 &
HEIR | 21042%xxxexxx54514 10359 35 0 2 2 ES
e 21050#*xxxxxx60321 107F509 355 7 0 2 2 =
BE— | 21052%xxxxxxx65325 107F5 55 7 0 2 2 =
= 21068+ kwxxxxx 24764 107850k 7 0 2 2 =
&XE 2107 Lxxxrrrxx85012 107F 5035 7 0 2 2 =
& 21080 ##x##x40020 107F509 355 7 0 2 2 =
ZE | 21132%xxx66xx10011 107F 5055 0 2 2 =
E—H | 21142%xx0exxxd6425 107850k 7 0 2 2 =
50 | 23062%kxxxxxx90855 107850 3k 7 0 2 2 =
& 2311 2%xxxxxxx20027 10704 g 0 2 2 =
e 23230#xxxxxx%x 74825 107F 5055 0 2 2 =
B3| 21030#*xxxxxx 72747 107F509 355 7 0 1 1 =
BRI | 21011%xx00xx61528 107& 774 P 0 0 0 5
FZH | 21011xx000xx27418 1078509 55 7 0 0 0 5
& 21040%xxxxxxx51710 107F 04 7 0 0 0 =
e 21128#xxxxxxx06026 1078509 55 7 0 0 0 5
FMBIE | 21010%%xxxxxx00629 107& 774 P 0 0 0 5
B— | 21010%xxxx+x10014 1075 35 7 0 0 0 =
FREE | 21010%xxxx++x80018 107& 774 P 0 0 0 =
ey ] 21010#*xxxxxx73349 1078509 55 7 0 0 0 5
FNZRE 2101 0%xxxxxxx9 272X 107& 774 P 0 0 0 5
FXRE | 21010%xxx0xxx42729 103850k g 0 0 0 =
BHEE | 21010%xxxxxx31222 107F 5047 0 0 0 =
BERUT | 21011#sxxxxxx50011 1075 73] 3 7 0 0 0 =
WERA | 21011xxxxxxx32548 107& 794 P 0 0 0 5
FREEHE | 2101 1xxwexxxxx92529 107F50 55 7 0 0 0 5
FEEEE | 21011xxxxx#x31525 107& 794 P 0 0 0 5
FBWIE | 2101 1xxxxxxxx51529 107F 50 55 7 0 0 0 5
BRER | 21011sxxxxxxx54227 103F 50 55 7 0 0 0 =
FFR | 2101 1xxxrsnex23821 1070 34 g 0 0 0 =
ZEEHE | 2101 1x0errxxx07423 103F 50 55 7 0 0 0 =
TE 2101 1xxxxx##x05629 107F 5055 7 0 0 0 5
F7PEE | 21011xxxx#+x90021 107& 794 P 0 0 0 5
DEFE | 21011eoxmxxx24224 1070 34 g 0 0 0 =
5 2101 1xxxxx##xx00530 10779 4 P 0 0 0 &
FEWM | 21011xxxxxx#x92525 107F 555 7 0 0 0 =
BXFEE | 2101 1xmwxxxxx31528 10779 4 P 0 0 0 5
RIx 2101 Lxxrrrrrx22840 107F 555 7 0 0 0 =
a1 2101 Lxxsrnrrx 73844 10779 4 P 0 0 0 5
& B 2101 Lxxxrrrrx82021 107F 555 7 0 0 0 =
EfE 2101 1xswwxxxx10058 107850k 7 0 0 0 =
XEF | 21012%x#xxxxx01527 107F 5055 7 0 0 0 =
FRE | 21012%x%%#+xx90671 10779 4 P 0 0 0 5
HEGE | 21012%%00+xx20631 107F 555 7 0 0 0 =
ZHEL | 21012%00xxxxx92126 10785 35 7 0 0 0 =
BRERE | 21012##kxxxxx9032X 107F50 55 7 0 0 0 =
o 21012 kwxxxxx44029 103F 50 55 0 0 0 &
ERE 21012 xxxx##x53826 107F50 55 7 0 0 0 =
Bk 21018#*xxxxxx48025 10779 4 P 0 0 0 5




MRS | 21018%xxxxxxx54020 107794 P 0 0 0 5
FEHE | 21018%xxxx+xx03746 107F50 55 7 0 0 0 =
HATE 21030 xxx5x##%x12916 107F509 355 7 0 0 0 =
faT 5% 21040#xxx#xxx40326 10759 3 7 0 0 0 =
D! 21050#*+xxxxx3028X 107F509 355 7 0 0 0 =
a 21068#*xxxx**56826 107F 5035 7 0 0 0 =
XIFATE | 21100%xxxx#x63324 107F509 355 7 0 0 0 5
e 21120 x#xxx%x52020 10759 3 7 0 0 0 =
EHIF 21120#*xxxxxx54027 107F509 355 7 0 0 0 =
SES 2112860820 107F 5055 0 0 0 =
FriftE | 21138xxxxx#x10048 107F509 355 7 0 0 0 =
TEE | 21142%smxxxxT4449 107850k 7 0 0 0 =
I | 22021xxxxxxx14511 107F509 355 7 0 0 0 5
FIfE | 2302250000xx41717 107& 774 P 0 0 0 5
ZSFETE | 41270%0xxxxx06568 1078509 55 7 0 0 0 5
S/ | 2101 1eeesexx41814 | 1MRREFTRM (BEETE 78 2 80 B
F I 22052xsxxxxx11811 | 11MRRETRA (BRL 78 2 80 i
FSTHE | 21010%0wxexxxx24424 | 11{EREFRA (RIEL 79 1 80 2
REHE 21010%xx#xxxx86110 11RREFRM (RiEE 79 0 79 7=
HEEF | 21068xx++xxxx93260 | 11RREFRAE (RBREFE+ 79 0 79 2
B E 21012%00xx5x60613 | 11MRRETRA (B&L 76 2 78 2
TFH | 21010%x+#xx+05217 | 1URREFT RN (BIEE 78 0 78 B
XI5 21050%xxxxxxx71828 | 11{EKRETRAL (B&RE 78 0 78 =
X PA 21011 xeenexx5221X | 1MERETRA (BRIEL 75 2 77 2
sk H% 21010%xxxxxxx50417 1MRREFRA (RiEE 77 0 77 =
EFER | 21030x000+x20611 | IMRRE TR (RIZEE 75 0 75 B
an 21010#xxxxxxx65019 | 11{EKRETRAL (B&RE 72 2 74 B
SEER | 21010%0+xx+x+31412 | 1VEREF R GRIET 74 0 74 B
BXFETE | 23100%+++xxx34022 | 11RREFRAL (BET 71 2 73 2
EM | 21011xo+x+80214 | 1MEREFTRM (BIEE 72 0 72 B
FEE | 22088+xxxxxxx16026 | 11RRETRA (BRIEL 71 0 71 B
REEE | 41272%000000x67416 | 11RREF R (BREL 71 0 71 2
| 4451 25+xxxxxx83238 | 11RRETRA (BEL 71 0 71 B
BHZ | 21092#xxxxxx+07523 | 11EREFT RN (BIEL 68 2 70 B
PRI | 21010%++xxx#x41557 | 11{RREFRA (BEL 68 2 70 B
Z5—08 | 21010%x+xxxx5451X | 1MRREF R (BREL 70 0 70 2
EWF | 21011so00xxxx40238 | 11RREFTRAMA (BEL 70 0 70 &
ok M5 3%k 2101 Lxwwxixxx81238 1MRREFRM (RiZEL 67 2 69 =
OEE | 21010000+xxx52824 | 11RRETRA (BREL 68 0 68 &
FNEERH | 21010%+xxexxx7064X | 1MEREFRA (BEL 65 2 67 E
X 2101 1wwewxx»x72431 | 11RREFRA (BEL 65 2 67 &
T—BE | 21011e000x12017 | 1URREFRA (BREL 67 0 67 2
&5 21018#xxxxxxx78039 | 1MERETRAL (B&RL 64 2 66 &
KL | 21088xxxxxxxx40016 | 11{EREFRHA (BEL 64 2 66 2
BKIEBE | 21010%000xx46029 | 1URREFTRA (BRIEL 66 0 66 &
= 21010%+xxx%x13316 | 11MRRETRA (BRL 66 0 66 2
2N 21132%0xxxx%x22333 | 11{RRETRA (BRL 66 0 66 B
ZHE | 21010%+x++xx54432 | 1VRREF R (BIEL 63 2 65 B
EH 23052#+xx0xxx60327 | 1URREFRA (BRL 63 2 65 2
TR | 21030%mexnsxx1182X | 1M{EREFTRA GBIZRE 63 2 65 =




KRR | 210300x00xx+62455 | 11RREFRAM (BREL 65 0 65 B
INFHET | 21042%00000x70411 | 1LRIREF R (BEL 65 0 65 E
WFE | 210100#+%x31837 | 1URRETF R (BEL 62 2 64 E
SR | 21011eeeo0ax5421X | 11RREFRA (RIEL 64 0 64 B
BERE | 21011024218 | 11ERRETFRA (BEL 64 0 64 E
RED | 15040000x+xx21128 | 1VRREFRA OBRET 61 2 63 A

= 23030#++xxxx+1505X | 11{EREFRA (RIEL 61 2 63 E
FFI | 21010%00xx41012 | 1MERETFRAL GBIEL 61 2 63 B
WSS | 21012%0xxx%x70314 | 1ERBRETFRA (BEL 63 0 63 E
BCEHE | 21011xeeeexx02433 | 11RREFRA (BEL 60 2 62 E
BRI | 210100%x++x+91814 | 11RGREF A CBE+ 62 0 62 E

2k 2 21010#+x++xx61655 | 11RRETRM (BRL 62 0 62 E
MHEE | 23030%xxxxx#x44031 | 1ERRETRAM (BE+ 62 0 62 E
R | 21010%sxxxx41419 | 1VERETRA (BEL 61 0 61 =

FES 21012%x0xxxx10617 | 1MEREFRA (RIZL 61 0 61 E
BER | 21010%xx+xx40311 | 1URREFRA (BEL 60 0 60 B
MAMM | 22060%#x++x#x50031 | 11RRETFHAL (BE+ 60 0 60 E
FFE | 21010020618 | 11ERREFHA (BEL 57 2 59 i
XS | 21010%e0e4x1361X | 1VRFREFRA ORET 57 2 59 E
BB 21010%####+xx03426 | 1VKFREFRA (B&L 57 1 58 E
XR2EE | 21010%+++x+x73410 | 11ERRETFRA (BEL 56 2 58 E
FEF | 2104100000x90023 | 11{EREFRA (RIEL 58 0 58 i
AL | 42068xmexnxx63114 | 1VRREFRA (RET 58 0 58 E

| 21010#+xx+xxx81539 | 11RRETRAM (BRL 55 2 57 i

PR 21132#xxxx5xx43024 | 1MERETRAL (B&RE 55 2 57 B
Wk | 210100000615 | 1VEREFRA GRIET 57 0 57 B
FRAFE | 21010%+++xxx20332 | 11RREFRAL (BET 57 0 57 B

E 2101 1#xxxxxxx51510 | 1MRRETRAL (B&RL 57 0 57 E
SAET | 21010%xxx75014 | 11RREFRAL (BET 54 2 56 B

ZiB 21010%+xxxx%x83313 | 11MRRETRA (BRL 56 0 56 B

o, g 21018xmxxxxx42718 | 11MRRETRA (BRL 56 0 56 B
KRG | 21042%0000xxx3141X | 1MRREFRA (BREL 56 0 56 B
ZEZE | 21010000x15010 | 1VEREFRA GBREL 55 0 55 =
ZHEES 21018#xxxxxxx14316 1MRREFRM (RiZEL 55 0 95 =
RIBAK | 21050%+xxxxx71337 | 11MRREFRA (BRIEL 55 0 55 E

ZP 21072x00xx5x00716 | 11MRRETRA (BRL 55 0 55 B
BRE | 210100x+x+60611 | 1MEAREFRA (RIEL 52 2 54 A

40 21028x+x+xx5x92820 | 11MRRETRA (BRL 52 2 54 =
FSCHE | 21010%%x#+x#x51510 | 1MEREFEHA (BEL 52 2 54 A

S 21010%xxxxxxx12212 | 1MRRETRAL (BRE 52 2 54 =
FEAM | 21011##+#++60030 | 1VRFEF A CBEL 52 2 54 A
RERFR | 21011eomeenxx42439 | 11{EREFRA (RIEL 52 2 54 o

WA 2101 1sxxxxxxx52431 | 1MRRETRAL (B&RE 52 2 54 =
EZRIE | 21100%xxxxxxx53658 | 11{EREEFRMA (BIEL 52 2 54 o
FHRE | 21010%00000x74735 | 1VRREFRA GBREL 52 2 54 A
BRESE | 21142%0xxx%x02017 | 11RREFRA (BIEL 51 2 53 =
A5 | 21011x%x%x35313 | 11ERREF RN (BEL 53 0 53 =
SEEPE | 21011#xexxxxx85022 | 1VRREFRA CBE+ 53 0 53 A
ZRKTE | 210120000xx40016 | 1VERFREFRA OBRET 53 0 53 A
$EF | 23018x#xx226346 | 1VRHREF A CBE+ 53 0 53 A




BNEE | 41152%000xx80021 | 11{RREF R (BRETE) 53 0 o3 =)
o8 21010%exxxxx1401X | 1MERREFRA (BELE) 52 0 52 =)
BRE | 21010%s+xxx81617 | 11ERETHA (BELE) 52 0 52 =)
EFEE | 2101000201513 | 11RREFRA (BELE) 52 0 52 £
=54 2101 1mexrexexd2514 | 1EREFRA (RIELE) 52 0 52 =)
Z=XKF | 210110mexexx52012 | 11ERETHA (BE+E) 52 0 52 =)
%B¥ | 210100+%++x90314 | 11EREETHA (BELE) 51 0 51 =)
FER | 2101000000xx13312 | 1MRRETRA (BRELR) 51 0 ol =)
ZEE | 210100003430 | 11RRETHA (BELE) 51 0 51 =)
EWE | 2101100xxxx42726 | 1RREE TR (BELE) 50 0 50 =)
sk F) 21010%xxxxx82514 | 1EREFRA (RIELE) 50 0 50 =)
BALIR | 21010%+%x0xx13719 | 1M{EREFRA (RIELTE) 50 0 50 =)
)53 21010%xxxxxx81519 | 11EREF R (RIELE) 50 0 50 =)
MEH | 21011sewexxx16514 | 11RRETHA (EELE) 50 0 50 &
FHME | 21012%%+x+xxx90010 | 1RRETHA (BELE) 50 0 50 =)
SUPES 21018xsmwxxsxd 741X | 1MEREFTRAM (BELE) 50 0 50 =)
B 21010%+xx5xx32713 | 1EREF R (RIELE) 49 0 49 =)
D | 21010%exsxx55414 | 1{RRETFHA (BE+TE) 49 0 49 =)
S 21010%+x005x00011 | 11EREF R (REBELE) 49 0 49 =)
= 21088x+xxxxxx82437 | 11MRRETRA (BR LX) 46 2 48 =)
AR | 21010%+x+x+x86038 | 11{RERETHAM (BELE) 45 2 47 )
FXEF | 2301200000xxx63820 | 11{RREF R (BELE) 45 2 47 &
OYERE | 21010%+xxxxxx04617 | 11{RREETFHRAM (BELE) 47 0 47 )
T+ | 21011sewexexx14210 | 11RRETHA (BELE) 47 0 47 =)
2R | 22062%kx0xx00565 | 11{EREFHA (BRELE) 47 0 47 =)
EEE | 4113200004991 | 11RRETHNM (BEELE) 47 0 47 &
e 21018xxexxxx30014 | 1MRREFRA (BIELE) 44 2 46 =)
BKIEDR | 21010%0+%+x+x20018 | 11ERETHA (BE+E) 43 2 45 =)
)& 21010%xexxxx53449 | 1MRREFRA (BRIELE) 43 2 45 =)
BE 21010%++xxx43016 | 11RREFRA (BELE) 45 0 45 =)
oK 21010%+x+5xx30925 | 11EREF R (REBELE) 45 0 45 =)
NEF | 21010%#+xxxx12213 | 11RREFHM GEELE) 45 0 45 =)
BMEX | 2101000410835 | 11EREFRA (BE+E) 42 2 44 =)
=S 21010%+x+x+xx03139 | 11EREFHA (BRLE) 44 0 44 &
BHEHE | 13112+%x0xx84215 | 1MEREFHA (BELE) 40 2 42 =)
FEST | 21010%0xx0xx+02718 | 11{RREETFHRA (BELE) 37 2 39 =)
sK—18 | 21042%xxx0xxx51412 | 1RRETFRAM (BELTRE) 39 0 39 =)
PR | 21012%000xxx31214 | 1{REETFHRA (BELE) 20 0 20 =)
ZPOE | 12010%000004+x34538 | 11EREFRA (BE+LE) 0 2 2 =)
2pEft | 210100xexxx52246 | 11EREETRA (BE+TE) 0 2 2 =)
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